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PREFACE

This Modern Standard Arabic Basic Course, consisting of
twenty-three volumes of lessons and accompanying tapes, workbooks,
and references, was developed and produced by the Defense Language
Institute, Foreign Language Center (DLIFLC).

The course is designed for use in a full-time resident train-
ing program consisting of six hours of instruction each day, five
days a week. For maximum effectiveness the course should be
taught by qualified instructors who are educated native speakers
of Modern Standard Arabic. Additional text material is being
prepared for appropriate colloquial Arabic dialects to be used as

required.
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CHAPTER I
Sound Verbs

The Grammatical notes in this volume are intended to summarize some of
the major patterns which have been already explained. The following
books were used as the major (though not the only) references for these
grammatical notes:
Beeston, A.F.L. The Arabic Language Today. London:
Hutchinson University Library, 1970 .
Bishai, Wilson B.A Concise Grammar of Literary Arabic:
A New Approach Iowa: Kendall/Hunt Publishing
Company, 1971.
Wright, W. _A Grammar of the Arabic Language,Cambridge:
The University Press, 1967,

1. Measures of Sound Verbs

Excluding a handful of infrequent forms, Arabic verbs fall into
ten measures; those measures are discussed and illustrated below.

- ,/ ’/0/
A. Measure I: J_:aé_ J__f.s.»
P

The present-tense form of J=ss may be J.mi; (e.qg., ;;;.3
'to go' : > ) LLfég (e.qg. "gj);__i 'to know' :

- - 29,
Gy, ) s OF J ;5[ (e.g., ;;L__Jn 'to request' : H~Ug,),

the present-tense form of (J a5 is usually Jss, and that

— -~
.oy 3.
of JJJ is  Jes .

-

- % 7 R4
B. Measure II: LL_ams__gJJUH

The chief feature of Measure II is doubling the secord radical of
the root. Verbs of Measure II are generally related to the corresponding
Measure I verbs (when the latter exist) in the following ways:

(1) The Measure II verb usually has the meaning of causing someone
(or something) to perform the action indicated by the Measure I verb:



’ L .
. J,~kU|L,,.J 'The student studied.'
. :l...L’;JI .’n;,.‘y ’_.,)"j '‘The teacher taught the

student (literally:
"caused the student to
study").'

(2) If the Measure I verb is intransitive {(i.e., does not take
an object), the corresponding Measure II verb is transitive (i.e., takes
an ‘object):

. a |-i|gl;‘3 'The student entered.'
. st 3| " ‘y| J;"_; "the teacher had (made) the

student enter.'

(3) If the Measure I verb is transitive, the corresponding
Measure II verb is "doubly transitive" (i.e., takes two objects*):

’ ' .
. Sy - The student studied the lesson.'
..’g)u\-Jl J:u.LtJ,‘)n)J
.L;)-dl in =11 j|- ﬁ";kjj 'The teacher taught the student the lesson.'

The statement that a certain relationship exists between two
measures is not a general rule except for the cases in which a verb
of one measure corresponds to a verb of the other measure. Thus

)_;:Sé'to think' is neither transitive nor causative (although it is
a Measure II verb) because it does not correspond to a Measure I verb
from the same root.

C. Measure III : d__:.cl.;._ J.gla-’

The main feature of Measure III is a long aa after the first radical.

Measure III verbs are usually related in meaning and usage to the
corresponding Measure I verbs (if the ldtter exist) in the following
ways:

(1) The Measure III verb adds the meaning of reciprocity, either
actual or potential, to the meaning of the corresponding Measure I

verb (by "reciprocity" we mean that the action is mutual).

(2) when the action of a Measure I verb is related to an object by

* 1In this book, the terms "ditransitive" and "doubly transitive" are used
interchangeably.



means of a preposition, the Measure III verb converts that object into
a direct object (having no preposition).

. [ PR
coobnt Jlees 'He wrote to his teacher.'
> - € -2
o skl 'He corresponded with his
teacher.'

-
“-%¢

)
D. Measure IV : Jes? d—}’u

The main féature of Measure IV is the prefix ‘I (which is dropped
whenever another prefix is added). .

Measure IV verbs are generally related in meaning and usage to the
corresponding Measure I verbs (when the latter exist) in the following
ways:

(1) The Measure IV verb usually has the meaning of causing someone
(or something) to perform the action indicated by the Measure I verb:

.o < J1 o 23 'He left the office.’
. Y | 25';)’__:1 'I made him leave the office.'

(2) If the Measure I verb is intransitive (i.e., does not take an
object), the corresponding Measure IV verb is transitive (i.e., takes
an object):

L | u,,.;.,_]’_;. 'He sat in the office.'
RO W RPATAIY 'I seated him in the office.’

(3) If the Measure I verb is transitive, the corresponding
Measure IV verb is "doubly transitive" (i.e., takes two objects):

JEC. 9 | I PO 'He entered the office.’
29° [
. ._"_,,:S.Jl 4:’;_[,.:;I 'T made him enter (or brought

him into) the office.'

E. Measure V: J_i_;:_ Jf._;:;’

Measure V is derived by the addition of _5 to Measure II

A Measure V verb has one object less than the corresponding



I

Measure II verb. In regard to meaning, Measure V usually causes the
verb to be reflexive or passive* :

- % - ) - -
r___J; 'to teach' rL_JJ 'to learn (i.e., to teach oneself)'
85 'to remind' 535 'to remember'

Generally speaking, the meaning of the Measure V verb is reflexive
if the subject is animate (as in the first example below), and passive
if the subject is inanimate (as in the second example) :

-

(1) ,Z;, l|:-|||rip 'He taught the Arabic language.'
RSIEY ”,;_j_;; 'He learned the Arabic language.'

(2) i '"He set the date of the meeting.'

. &L.S.:-Y' \:U‘Q- o Jom

g oYl :v.:,. 9 U

'The date of the meeting was set.'

s 7, . T,
F. Measure VI : Jslc J&Lﬁ;
”,
Measure VI is derived by the addition of <~ to Measure III.

Neasure III and Measure VI are similar in that they both indicate
reciprocity; they differ in grammatical usage : a Measure VI verb
usually has one object less than the corresponding Measure III verb:

9 - € PN
e oolond GubilcB 'The student corresponded with
) his teacher.’
2 - .
. ;Jl1~j3 L lail CEBS 'The student and his teacher
corresponded. '

G. Measure VII: J ais)_ J.ail,

Measure VII is derived by prefixing 3[ (= /n~=/ ) to
Measure I .

A Measure VII verb usually has one object less than the corresponding
Measure I verb. The object of the Measure I verb (or one of the objects
if the verb is doubly transitive) becomes the subject of the Measure VII
verb.

In regard to meaning, a Measure VII verb usually adds passivity

* A verb with reflexive meaning is one indicating an action which the
subject directs or turns back upon itself.

A verb with passive meaning usually indicates that the subject is
acted upon.



to the corresponding Measure I verb.

. podl ] W) P )--S *Najib broke the window today.'
.r)g.“ S S 'The window got broken today.

Often the difference betwean Measure VII and the regular passive
pattern is one of form rather than meaning; thus -7~ %y and -. ’a
are both translatable by 'he was defeated’. (e - r2

- ey - -

H. Measure VIII: Jazsl_ Jazs,

.
-

Measure VIII is derived from Measure I by infixing /-t-/after the
first radical. N

The meaning which a Measure VIII verb adds to the corresponding
Measure I verb may be reflexive or reciprocal; reflexivity is illustrated
by the first example below, and reciprocity is illustrated by the second:

- s -

(1) Ji 'to move (someone or something)'
’l ’..T,T‘ ‘ 'to move (intransitive, i.e.to move oneself
- to some locality)'
(2) Js 'they killed (someone or something)'
/l .._.u‘

'they fought each other'
The meaning of the Measure VIII may be identical to that of the
corresponding Measure I verb:

"'&L;? Y1 ;: 'The meeting started.'
Ed 2 L 4 [ . N
.tL::a-Y| “&:[ The meeting started.

A Measure VIII verb may contrast with the corresponding Measure I
verb in that the former is followed by a preposition while the latter
is followed by a direct object:

. -l 'He listened to the statement today.'

. f"*““ o bt i 'He heard the statement today.'

After a voiced,consonant the infixed /-t-/of Measure VIII is

-

replaced by /-d-/ (i.e., becomes voiced by assimilation)je.g., ‘;__,,:,!

- -

'to be supported' and > _,)-! 'to become crowded' (from the roots

d9m and zHm respectively). After an emphatic consonant, /-t-/ is



replaced by /-t-/ (i.e., becomes emphatic by assimilation) ; e.g.,
&_;j;;! 'to fabricate' and ( ;;;[ 'to be troubled' (from the

roots sn9 and drb respectively). When the /-t-/ is preceded by /&/ ,

———

- -

the seqaénce /td/ is replaced by /dd/; e.g., i ZI 'to save money'

(from the root dxr ).*

It is sometimes difficult for beginners to decide whether the

- - e - eve
measure of a given verb is | 40 or ] _acs! . For example,
- .

- ey

the verbs ;j“?l and 3o  may both seem to be of the measure
P -

gl____“niil ; actually, the first is of the measure Ju—‘iJ! while the
second is of the measure J _.azs! . it is important to remember that

the /n/in J_axl is a prefix rather than a root consonant. The

root consonants of the verb hijéﬁ! are /s/ , /x/, and /f/; the /n/ is

therefore a prefix, and the verb is of the measure Jadu[ . On the

- e

other hand, the root consonants of the verb\JIZ! are /n/, /q9/, and

/1/; the measure of the verb is therefore not ’| ’;;:I .

1. Measure IX : TI ’.;! __Tl; ;:

- -3
** o .g., o1 'to become red',

This measure usually denotes colors;

* 1In rare words, the /-t-/ is totally assimilated into /e/ and /4/ ,
e.qg., ;1 71 'to be avenged' and - |£! 'to suffer injustice' (from

the roots e'r and dlm respectively).

-
L -3

!

** 1In rare cases it denotes defectje.gq., 'to be croocked'.



- - ®

)zuL! 'to become green' , etc.

When followed by a suffix which begins with a consonant, the forms

o~ ~© -

of Measure IX are lJas! (in the past-tense) and,Ji;Jﬂ (in the present-

- . .

te ; e.g., °7 7 'they (F.Pl.) blushed' -° 'th
nse) 9er o) ] y ( ) blushed' , Oyt ey
(F.Pl.) blush' .
J. Measure X: ’|1;:°|__ | ,;:':

Measure X is characterized by the prefix Sl (=/st-/).

Verbs of this measure are usually derived from Measure IV verbs.

Verbs of Measure X often add reflexivity to the meaning of the
corresponding Measure IV verbs; often a Measure X verb expresses
seeking for or seeking to bring about what is meant by the corresponding
Measure IV verb:

- ol - -0~ 08¢

[ .
La,l 'to wake (someome)up' Ls.oul 'to wake up

{intransitive)'

. -0 - -

C?U' 'to return (something)’ C*Jl:! 'to reclaim (i.e.,
to bring about the returning
of something)'

P -~ ®-o
s! 'to explain to (someone), r?Jlul'to inquire (i.e.,
to cause {(someone) to understand to seek to understand)'



( Jaih

( J_n:il)

- -,

(el o dae Jlal, oS

N FRDRNU L] SN S LI RAY

I PN

s e SN s ()
i T R el O

C o ORI W Llsie (o)

ol LS (o)

e yolonl) Lol ()

e bl b bl asll e Bl ()

e L e (7
. H-L,J'B_EJ,J.J' Jl_-_,.)),‘S (L)

cEalall LY E . ()

e blodwoldlasldl p gay bttt (o)

el Yl GWINT Yzt ()

c sl LIS (g

. L;L..aa...L‘.‘.J"&.;L..Jl u,J..n.JI‘l,L, (o)



I

L 4 . -
2 el l s Ol a0 Jaddl 5 5 — Y

e SV G sl o, Wl lens (1)

i gl G i B s (o)

ol aa ey ldal (o)

- v il flLmt wa I SN G, (9)
Al aali s 5kl s w uadl a1 Ese ()

T DET IR FEI TS P AT B

s poe I LIl 0 BV ()

- Lot s O Loty oo '-('-;)b‘*"-r?:" (T)
g Sla VNG el aall Lo (b

R WS WL ¥ W T S W1 FORPS'

v e @ EV IS ua s pladiaie (o)

o Geldb el du b s Spadlcaadl B (J)

sy adl LT G ae Gle U6 (p)

o el obal ps B G o L (o)

o il e AlSAT il G ()

e o P lgd oy e ladl Sl Gl JiB ()

e by ¥ il s L e Wihlle sl (U)




p @baks el JLasY oo S deazal _ ¥

- s o & - e cops
41&5;&:2}4@&.&4.@!, ,_).._H_,'.‘L_,‘_M)‘J‘L,._;p

° ' Y
7,0

b oy , Lw e Il ’I.,.'
cr—.‘h,aé'c))iscr‘alﬁor.(,.v'cyajd ¢ wdicel ¢ Jobc o

e .
°
s 0”0 > - -0

el GSEEY LR i, Jasll e S

10



II. The Passive Forms
of Sound Verbs

A, General Comments

In English, verbs have two voices: the active and the passive.

In the first sentence below, the verb is active; in the second, the
. verb is passive: -

The President appoints the cabinet members.

The cabinet members are appointed by the President.

The English verbs which may be made passive are two groups: the
first group consists of transitive verbs, and the second group consists
of intransitive verbs which are followed by a preposition:

(1) Active: The student wrote the lesson.
Passive: The lesson was written.
(2) Active: Someone sat on the chair.
Passive: The chair was sat on.
In Arabic, as in English, there are two groups of verbs which

may be made passive: the first group consists of transitive verbs,
and the second consists of intransitive verbs followed by a preposition:

. 2 P
(3) Active: . ;g)JJ| Jg.td'ugis 'The student wrote the lesson.'’
Passive: . h;;_d|,’—§ 'The lesson was written.'
(4) Active: - ‘i'u,...;Jl UJ.;L’)L.).;_):_J,. 1% dnan sat on the chair.'
Passive: <) «5J ’ 'The chair was sat on.'
. . ® WJ—J ‘,LF ,.?

The significant differences between the passive construction in
English and the passive construction in Arabic are the following:

(a) In English, the passive construction is a phrase whose
constituents are a form of the verb "to be" and a past participle form:

wrote —_— was written (in example 1)
sat on _— was sat on (in example 2 )

In Arabic, the passive form of a given verb is produced by
changing the vowel pattern of the active form:

11



P . 2
S — S (in example 3)
,;-ja: ——-—3.../1.; (in example 4)

(b} In English, the subject of the active construction
may occur after the preposition by in the passive construction:

«++-. by the student (in example 1)
++se. by someone (in example 2)

In Arabic, the subject of the active verb does not usually co-occur
with the passive verb.*

(c) In English, the object of the verb in the active construc-
tion becomes the subject of the passive construction; if the active
construction is one which has a verb followed by a preposition, the
object of the preposition becomes the subject of the passive construc-

tion :

The student wrote the lesson . —_—— The lesson was written
by the student.

Someone sat on the chair. - The chair was sat on
by someone.

In Arabic, the object of the active verb becomes the subject of
the passive verb; however,if the active verb is an intransitive form
followed by a preposition,the object of the preposition does not usually
become the subject of the passive verb:

2 ez L2
- oAl lascs . IS
'CAdnan wrote the lesson.' . '"The lesson was written.'
- B -1~ w - 2
' 'Adan sat on the chair." 'The chair was sat on.'

*Occasionally, one encountgif Arabic passive constructions which contain
a phrase consisting of (a) ¢ *'b# or Eﬂ— (both equivalent to 'by')
and (b) the subject of the active verb:

-

- ol G il
'He was despised by people.'
- /“.".
- etk G2l

Not only are such constructions rare, but they are also considered
incorrect by the majority of educated Arabs.

12



In regard to meaning, the passive voice is used in Arabic when
the agent is unknown, when the speaker wishes to keep the agent
anonymous, or when the attention of the hearer is directed more to the
recipient of the action than to the agent.

B. The Passive Form of Past-tense Verbs

The following formula specifies the changes which transform a given
active past-tense verb form into the corresponding passive form:

a(u) ceeoeve..ifi)

The formula is to be read as follows: The huwa form of an active
past-tense verb is made passive by:

(1) changing the last vowel of the stem to /i/if it is short and to
_ /ii/ if it is long, and

(2) changing each other vowel in the stem to /u/ if it is short
and to /uu/ if it is long.

-

>
S 'to write' —>C.§S

e 70 ' : s ] L 2
o) 'to inquire _,rcg.,..,l

s 4T - (4
2>LlS 'to discuss together' ——sm Sn>9uo

The above rule applies to all Arabic verbs (sound triliteral as
well as others) with one exception: passive past-tense forms do not
end in /ii/; therefore, a final /ii/ which results from applying the
above rule must be replaced by /iva/:

s - k4
Lo 'to invite ! ,;,f-,J
-7 ¥ T . b4
) to throw away ()

This exception will be restated later.

Some verbs are passive in meaning, but not in form; e.g., many
derived verbs of the measures Jasas and Jasl

. ..\__.c,.JI 53355 'The date was set.'

- PR ]
. OL-,.}._&/M)_,.S;I’ 'The cup was broken.'

C. The Passive Forms of Present-tense Verbs

By making certain changes in the active form of a given present-tense
verb, the corresponding passive form is produced; the following rule

13



specifies those changes:

u a (a)

The rule is to be interpreted as follows: Given the active
huwa form of a present-tense verb, the corresponding passive form
is produced by changing the vowel of the first syllable and that of
the last syllable. The vowel of the first syllable is changed to
/u/; if short, the vowel of the last syllable is changed to /a/, and
if long it is changed to /aa/.

The above rule applies to all Arabic verbs (sound triliteral as
well as others) with one exception : if the active verb is a Measure
I assimilated form, the corresponding passive form is produced by
(1) changing the vowel of the first syllable to a long /uu/, and
(2) changing the vowel of the last syllable to /a/ (if it is not
already /a/):

2 - -
Py 'to promise’ ——-—Jeé 'to be promised'
This exception will be restated later.

14



1. Rewrite each of the following sentences, using the passive (instead
of the active)form of the verb:

c il el n Toae adl g (1)

o By a0 G Ll i BT VRSV Gl e s (o)
o o Ly ddlpn (=)

g L Va8 201 o & o I e a By (9)

- pl S AL, o b 'oJJ"c)):ei:r‘Y'r-?‘ﬁﬂ (-“i
o Loy bVl dan bl Glas Gew ()

v olas, ol Ll ppaduddt G ()

e WS JLO U G ae aear Oee ()

c ol e Do hlal oS (b

o plasdlopuladl JedSadledss (4)

el CEIIE uay (&)

v e ke SBYIEL (U

. oaallalis S8l Y s dan bt s ()
cdprdlen i e D, ule L (o)

) FCUMIRER SN UG PR | . S PO S

o W) Les, Gb e il 25,01 L0 ,Ba) (g)

. -n.',.J'_ML')FZS)—‘:Jl w oo | (f)

15



I

2. Rewrite each of the following sentences, using the active
- (instead of the passive) form of the verb:

o-.)*"‘”l*vﬂ-“—“uktu—?' s (1)

e el bl ey i uo o) oaf' (<)

TS 1L NP O] Rt

s el e Gl B Gl (S2 (0)

v i) S un) (=)

. ] tlee Lsls cuaya ()

o e O *Ljedl s, SLUS ()

s JYlake J13ElY) g3 (1)

¢ Al dyall pas le Bl Lo aitetusbudt e Jo ()
c oI e Jlabalesd ()

oV e Gl alSadl s S (D)

o BZudt AV e dabe S dgadl e e wiae &2 ()
C G ot (p)

ey LA L LR (o)

LB Gkl ()

3. Use each of the following verbs in a complete sentence.

f,"' -%0 CRRd P4 e | .3 .2
¢ Aefewl 6 w6 80 Js o FE el P L

A}

.

Pl Os

i 2

w3

b4

- s 2
¢ IBD 6 ey b s

16



ITI The Imperative Form

The imperative form is obtained by dropping the prefix of the
second-person jussive form. 2An imperative form which begins with two
comsonants receives either /'u~/ or /'i-/ in utterance- initial positions:
it receives /'u-/ if the two consonants in question are followed by
/u/; otherwise it receives/'i-/ :

o -~ &~ o .~ o

Sl r TR
° 1.t ° .0 'Wait! !
e =y 'Write!®

The above rule does not apply to two sets of triliteral verbs:
- 0%
forms of Measure IV (e.g., ).é.:.l 'to bring') , and some forms whose

-t
1

initial radical is a glottal stop (e.g. ", 3 'to take'). For the

S og ° o &
first set, the imperative form is J_.-as! (e.g., )_,.Z,l 'Bring (something)').

The imperative forms of the second set are mostly uncommon; the most

. > .
frequent among them are J.S 'Eat! ° A% Take (something)! '

[ »

[} L}
— Order (someone)'.

and

17



IVe Verbal Nouns

A. Morphology

l. Verbal nouns are derived from verbs and usually name actions.
Triliteral verbs of the first measure have verbal nouns of unpredictable

1 e

shapes; among the most common of those shapes are Jne , Jl&s
- P 22

aJlés , ana  Jgxk :

Verb Measure of Verbal Noun Example

- /E

J SV 't0 eat’

ChJ "to go'
CK'"to write'

J& 5

'to enter’

2.

-

] o
Jls
s

22

Jogss

P
€
1

5

<l '(act of)going’

'(act of)eating®

z;ES '(act of) writing'

2 s .
Jss 0 ' (act of) entering'

From triliteral verbs of measures II - X ; the verbal noun

has predictable shapes; listed below are the most common of those
shapes (the list is restricted to verbal nouns of sound roots):

Measure of the

Triliteral verb Example
11 J 25 ’rj_.’c.'to
III NEAH J B 'to

L-;Ss'to
v J__'arl J;;;‘l 'to
v Lﬁilf ;3&5'to
VI J.;L;:: J.:l;:: 'to
VII Jais Bl 'to
VIII J.,_:sl J_E;.' "to
IX U3 “aml'to

Jlise 1o

teach'

fight with'
correspond with!
send’

learn’

meet'

convene'
disagree'
become red!

use'

18

Measur of the

Verbal Noun Example
cnic R

el JLas '&i:ls:«JEg
WEB2

Jst JU5L

JLasi! 9y Y
Juss @i !
Il Ry
JGaizn iz



B. szntax

1. Verbal nouns occur in syntactic positions which are typically

fillid by nouns:e.g., &3 e ;b;_: 11 '"Entrance is forbidden',

» 2 2 [ 3 » 2
J},‘. WUl "‘U' ' T would like to enter', J,, JU W Y se. 'They

allowed us to enter', etc.

2. A verbal noun and a following substantive usually form a
construct phrase. In the examples below, the construct phrases are

underlined:
2 20
.uLia.‘;djjlﬁﬁ?) 'The minister's return is probable.’
————————
AT 'His return is probable.'
'\J‘*"“-‘j'{*} p

. L .. N 'He resigned from teaching the Arabic
@ﬁ)4J|AaJJ|F€JG o Jed language. "

The expression 'the minister's return' is a

P F
f))J Voo
transformation of the source sentence ;iég'éf;j 'The minister
returned'; similarly, the expression AK;UJleéjJJl;*Lls‘the teaching of
the Arabic language' is a transformation of the source sentence
3_;Q,aJ'£JLU|3.EJ|}j;5 '"People learned the Arabic language'. When the
transformations are compared with the source sentences, it becomes clear

that each of the underlined construct phrases consists of (a) a verbal

noun, and (b) a form which, in the source sentence, functions either as

subject or as object of the verb.

A verbal noun functions in two other capacities: it may take an
object, and it may occur in adverbial positions.

(a) The object of the source sentence may function as the object
of the verbal noun;this takes place when the verbal noun and the object
in question cannot form a construct phrase. In the following example,
the object of the verbal noun is underlined:
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. |3[_~_. Ql;‘ .:)-_’L--j u"‘:’ - 'I heard about your writing an
-_— e excellent article.’

Notice that the wverbal noun ( °—‘3L:S, ) is in construct

with a following pronoun, and therefore cannot enter into construct

with the underlined word; notice also that the underlined word functions
as object of the verb in the source sentence Q[,.;_;f !
an article.'’ )

I wrote

(b) In the following sentence, the underlined word is a verbal
noun functioning as an adverbial (a Haal ):

-

O b v -

. L_..a'S) w2 J 'He went running.'




1. Respond to each of the following stimuli.

o JS il dep ST ale S e dbl ()

L

v ae bl L) U ey ) ali) e cdbl (o))

c bl T sl e cdbl (o)
.;_.:SJH,;,,_».:O‘I;*L,:&,,MQ.%.J,H ()

e Lo dw ol as L 5 Mhic, o1 eles) oo cdbl ()

*

[
1

o Breid) pial) Sy Gl sl e cdbl ()

clakolsd e OV el bl ()

B S G L) (§ Db o e o1 3L S B ()
cploa Yl ey Ol el uo e dbl (5)

e bl iaoladlaslldl iy, Vel pecdbl ()

o ol S o"reeJ“cr&-J'”' (<)

e @ oldl Ly (2 STo 0 e Bl ()

c oyt f Ll sy it 1 stids el ()

e B Ve e yn o1 SV B ol e d BT ()

2. 1In each of the following sentences, use a verbal noun (or an
expression containing a verbal noun) instead of the under-
lined sequences:

o e Q" Jme rz'al..'aJlJ_,q ("H
cLadle, dabinl ) e we JlaAl, ElS (o)

. a.,_,,;Jl'«i_j,f).a.JUt'il PEY-3 B I,,-.:..:.....,‘l C,‘l Jeae lS.,,,j Gl lera, (=)
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NIl Y e S ST, ()

o 0 pola)l Galla (P Sy O" Ja E.,).‘i Slaasgecss (»)

C B Y ey bl i 30 o1 s L I L sl ()

N "J!“'SJIQ»)‘I C)" gy L JL adlbile ol (5)
+ e BV G ae Ly als o1 s po 0 L LT Ul (g

3. Use each of the following verbs in a complete sentence.

° w .-

P vl

° Lot . € o %“s °? °. o ° .
w9 .l o -' ® | - wl e ' . ‘ r_S ° “<|
[} )/-&U ¢ r—f;’ ] r—t-’-ua [} [ g}-:’-«-r [} Jt" ¢ § 'ﬂL" [ S

L]
-z < brr o8
E.aﬁ' ¢ F.‘bl.b ¢ FSSS ¢ %s.t'
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ALYl e o s Sl aall da, o ()

B s, o 2 Y P d et 1y ) ()

e gopdtallie Jo el U (=)

¢ e 1 G ae e B L) ()

Cle au W JLS) e i Yl LA (o)

| o oo LSl Jols vy Al ()

W FCT] W PR PRCICRT '-1-«,1*» Oy Ll yam ()
e garidl G lplleald ()

claadl lab Jyls v e Lok (b

o Bl 355 LA ey sesS e S S ()
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Replace each of the expressions in parentheses by a verbal noun:

o deee Gl e ee (e20) ()

bl Y (S ) woals (O

edeiom idy Al SN (Gazl) ()

v s dadasladlodn g ( e50) I e ()
cadead) gt (055Y) S e o Jpdl S LS ST ()
e fhaall  (Ji) Jbyadl s ()

e o lasdl ( plazd) Sl a5 ()

C bt e (35 ) J i st (1)

cele il (i) oyl wg (b

C T e i e 3, aladl GSLY (g) ) wasSadlenl ()
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Table T
Sound Triliteral Verbs

I IT ITI Iv v
Past ST IR B WA O I B i sx
Active - - (W i [ ———— X )
Past 4 ’ g .’ . 2 g o 123
Passive lf - J - J =+ - ‘ -

. b 50 2 P > P 3 -
Present * -.7 ¢ 7? o .9 2 & <ss
N ST Jate | J—slas NPT S, Jass,

Active

Present *

Y

Passive
Imperative Joa H I s s Jas! e
° '3 i -
b el
JL;; °- - s
Verbal s Sl st Joads
Noun Y 'JL""’",
Jeas

* Only the indicative form is given.

25




Table I (cont.)

VI

VII

VIII

IX

[ 19
\

- P v o - 9 -
Past J s las NPT 3 N B BCH | J sl izl )
Active
i 2> s s - o
Past. I o l _.' l T '
Passive - -7 - -
k4 sl 2 “, o 2 70 . ) A ’ s g -
Present * et l B VRNEPCHE R A BT
active -
s L, - 2 se0 2 707 43
Present * J—eliz, ki _ Rk
Passive
N ° PR ° -0 e PR @ ~ ° °.
L] * . .. - - ® - L]
Imperative J elas ] as | J ass | J ._,1 . a4 |
2 i s, 0 , % \’ ° -
Verbal Jeslis Jlaisl Jlss! JAast Jl szl
Noun

* Only the indicative form is given.
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Agreement of Sound

Table IT
Triliteral Verbs with the Subject

I 1T IIT IV v
Y - PR N s 7%t -
s J%s NHE Jsst Jai
B> I S fj-&_‘?-;------"--:j-u;-f-; """ ;,""TJ;‘;;;;""; """ :J A 3']3'2':'2'
" 3 .. - .. ” - .-
/)/ - o
N JSs
s A I Al ARt Ahs: Mt B R
; dEEE JaE
L—‘b (M) """""" ;A ';/';';"""‘"":"T"g‘}', """""""""""""""""""""""""""""
Lbygyy g;ﬁduk
- oJ-nS
(6201 1 U SR SOOI SRR NP
Lo (F) Ty =05
Rt QAR
2 ;f 2 6-’
loJ.as lgdas
................................................................ i F R ——
220~ . 7
w~ R
,j 2~ ,] .
") . -~ -. --------------------------------------------------------
O | REEH I H
¢, _ L0 5
. - .;J Edes
ST N R CU SRR PR B
(S
29 - g2
J=ss Jmss
. ~ o -
wJdis g;iﬁé
[ rd -
OV el AT P e i R | R M
Lot e TR P e B R
o277 299
. r‘-L—E-’ ru.o.&’
= R R S e R R
~ Os-sss O
w %2 2551
- ¢ k_)-l-l‘}’ * g - 29
“ru"‘ ----- ;';';'}:""""';'.';;: """"""""""""""""""""""""""
2 °3 -~ ° 5
. e ) ~Jss
L;l ""'""":."'/E“L """""" :; """""""""""""""""""""""""
;l ”-' :J o .1
] B
o T ;I‘";:g' """""""" IRt s

Past
Present
Past
Present

Past

Present
Past

Present

Past

preset
past
present
past
present
past
present
past
present
past
present
past
present
past
present
past

present

¥ ﬁomplete

the column.

27



Table II

(cont.)

VII

VIIT

IX

...............

CT’J

*

Complete the column.

28

Past

Present

Past

Present

Past

Present

Past

Present

Past

Present

Past

Present

Past

Present

Past

Present

Past

Present

Past

Present

Past

Present

Past

Present

Past

Present



IT
CHAPTER 1II

Weak Verbs

A. Definition of "Weak" and "Sound" Verbs

A triliteral root (i.e., one which consists of three consonants)
is weak if it contains a weak consonant (i.e., a /w/ or a /Y/ which is
represented differently in various stems). Thus the root xwf is weakv
as can be seen from comparing the stems :;;; 'he frightened', :§L;
'he was afraid‘, gi;L;; ‘afraid',etc. Again,the root d9w is weak as
can be seen from comparing the stems L;;; 'he invited (someone)'’',

5;:; 'he invites (someone)', 2;___;; *invitation', etc. Avroét with

an initial weak consonant is referred to as an "assimilated root", one

with a medial weak consonant is referred to as a "hollow root", and one

with a final weak consonant is referred to as a "defective root."
If not weak, a triliteral root is referred to as a "sound root."

A weak verb is one which has a weak root. A weak verb is called
"assimilated" if it contains an assimilated root, "hollow" if it contains
a hollow root, and "defective" if it contains a defective root.

A sound verb is one which contains a sound root.

B. Assimilated Verbs

The most common assimilated verbs have a /w/ as the first root
consonant. 1In the past-tense form of Measure I, the initial /w/ functions
like any other consonant; in the corresponding present-tense form, the /w/
is dropped: ‘
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Past-tense forms

b 4 .

s

o ..
h".—.)."
P
sy

-

L oas
) er,
Lo s
- or,
Lo
) o~
r__cd-ﬁj
w Sors

O s

B 4 rrd
DR —)

. 0.

O

'TI promised"

'you (M.S.)
promised’

'he promised'
'she promised!'

'both of them (M)
promised'

'both of them(F)
promised’

'both of you
promised!

‘we promised'

'you (M.Pl.)
promised’

'vou (F.P1l.)
promised'

'they (M)
promised’

'they (F) promised'

Present—-tense forms

A

-
3
|

-

~ ©° -

gRre

- 2 -

O3 Sy

o

O

Some assimilated verbs have an initial

are very few and most of them are un-common.

'I promisc'

'you (M.S.)
promise'

'he promises'

'she promises'

- 'both of them(M)

promise'

'both of them (F)
promise’

- 'both of you

promise'
'we promise’

'you (M.Pl.)
promise'

'you (F.Pl.)
promise’

'they (M)
promise’

'they (F) promise'

/y/ in the root; those verbs
The initial /y/ of such verbs

is not dropped in the present-tense form of Measure I:

'

4
H

-

'it (M) dried up'

jﬁ__;; 'it (M) dries up'

Thus Measure I of assimilated verbs has the following forms:

i
Past: FanL - (where the F represents a weak consonant)
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II

i
Present: yadaL (from roots with an initial /w/)

i X
or yaF9gL (from roots with an initial /y/)

From assimilated verbs, only a few of the derived measures are
common. Some of the most common are Measures IV, VIITI and X. The

following points should be noted:

(1) In the present-tense form of Measure IV verbs, an initial
weak radical is replaced by vowel length:

x4
rr0L

. 2.0 Z. o2
39!  'he stopped (someone 59, (rather than %)
or something)' 'he stops (someone or
something)?

(2) The initial /w/ of the root is assimilated to the characteristic
/-t-/ of Measure VIII; for this reason, initially-weak verbs are called
"agssimilated".

z

gLa;! {(rather than

k4

2 ;/
J2% (rather than

Z5al 'he contacted JeaZsz 'he contacts
5. e ‘Ot
(someone) ! (someone) '

The derived measures of assimilated verbs are illustrated inTable
I (at the end of these grammatical notes).
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II

Weak Verbs (Cont.)

C. Hollow Verbs

In present-tense hollow verb forms of Measure I, the middile root
consonant is replaced by vowel length; in some forms the long vowel is
/uu/, in others it is /ii/, and in still others it is /aa/ (these long
vowels are shortened when the syllable in which they occur is closed*).
Hence there are three types of Measure I hollow verbs, depending on the
vowel of the present-tense form:

(1) The first type is characterized by /uu/in the present-tense form;
the Measure I present-tense form for verbs of this type is therefore
YaFuul-. The following are some examples:

:B;: 'he says'
CJG;; 'both of them (M) visit!®
L A ' '
i sl they (M) fast

s 0 5

'they (F) say'

PP R

T > 3 ]
O you (F.Pl.) visit

s 09, PR v

Notice that the second syllable of i, and U—> is closed

and therefore contains /u/ rather than /uu/.

(2) The second type is characterized by /ii/ in the present-tense
form; the Measure I present-tense form for verbs of this type is therefore
yaFiil-. The following are some examples:

P

\

P 'he walks'
ul.;_._.: 'both of them (M) sell'
Eg;ei; 'they (M) are absent'

-

* A syllable is "closed" if it ends in one or two consonants, and
"open"” if it ends in a vowel. When written in terms of the Arabic
alphabet, closed syllables are easy to recognize since they end in a
letter which has a sukuun:
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'they (F) come'

Notice that the second syllable of Q;_S%; is closed and therefore

contains /i/ rather than /ii/.

(3) The third type is characterized by /aa/ in the present-tense
form; the Measure I present-tense form for verbs of this type is
therefore yaFaal-. The following are some examples:

? " 'he sleeps’
C)§L;' 'both of them (M) obtain'
P
e 'they (M) fear'
oo ‘they (F) sleep'
Notice that the second syllable of ; o, 1s closed and therefore

contains /a/ rather than /aa/.

The middle radical of the first type is /w/, that of the second
type is‘/y/, and that of the third type is sometimes/w/ and sometimes /y/.

Measure I of all past-tense hollow verbs is Faal-. In a closed
syllable, the long vowel of Faal- is replaced by a short vowel. The
short vowel is /u/ if the present-tense form has /uu/; otherwise the
short vowel is /i/.

))'r N PR ' “47 ' 2 v
e he visits )l he visited
2 - 'he sells! U 'he solq’
e &

‘;E; ‘he sleeps' ;b 'he slept'

2 o0s . .. .

<) I visited

ﬁ:; 'we sold'

e ' you (M.S.) slept'

The derived measures of hollow verbs are illustrated in Table III
(at the end of these grammatical notes).
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II

Weak Verbs (Cont.)

D. Defective Verbs

In the present-tense, the Measure I huwa form of defective verbs

may end in /u u / (represented in Arabic script by ¢’), /ii/ (represented
in the Arabic script by S ) , or /a a / represented in the Arabic
script by (s~) Thus defective verbs of Measure I are divisible into three

types:

(1) Type I is characterized by a final /uu/ in the present-tense
huwa form;thus the huwa form in question is of the shape yaFouu .

(2) Type II is characterized by a final /ii/ in the present-tense
huwa form; thus the huwa form in question is of the shape yaF9ii .

(3) Type IIT is characterized by /aa/ in the present-tense huwa
form; thus the huwa form in question is of the shape yaF9aa.

The third radical of Type I is /w/; that of the other two types. is
/y/. : \

When present-tense defective verbs of Type I receive the suffixes
which indicate agreement with the agent, certain phonological changes
take place; Arabic spelling is the best guide to those changes:

1. When the addition of the suffix brings together two waaw's or
a waaw and a yaa', the first of the two letters is dropped and the
second is retained.

2. Each of the letters alif, waaw, and yaa' must be preceded by
the corresponding Hagaka; the Haraka which corresponds to the alif is
the fatHa, that which corresponds to the waaw is the gamma, and that
which corresponds to the yaa' is the kasra.

3o

O'}/’.,‘)?= ol + 8= x 'both of them (M) hope’
P 3 o '"they (M) hope'
LIz = O + A
- er - el 'you (F.S.) hope'
T = O +><?)‘

34



i1

The same rules apply when the agreement suffixes are added to
defective verbs ending in g -

-

ngdiér = ¢ﬂ + Lré;: 'both of them (M) spend (time)’

*they (M) spend (time)'
.o - - ' i 1
gt e +T.é, . you (F.S.) spend (time)

When present-tense verbs ending in an alif magsuura recive the
agreement suffixes, the following rules apply in the order given (examples
are provided after the last rule):

%
\

]

&\

+
g
e

]

1. The fatHa shich precedes the final alif magsuura remains
unchanged when the suffixes are added. This fatHa will be called the
“stem fatHa".

2. The final alif magsuura is replaced by a yaa'. It is significant
in this context that the symbol for alif magsuura is very similar to
that for vaa'

3. When the addition of the suffix brings together two yaa's or a
yaa' and a waaw, the first letter is dropped and the second is retained.

4. When preceding | (i.e, an alif), the letter which follows the
stem fatHa ; has a fatHa; otherwise that letter has a sukuun.

1;;5... C s L;: 'they (M) stay'
o = e 4 B vou (8.0 stay!

;;;: ) ; . u;:: 'they (F) stay'

u‘;:: _ ol L;:: 'both of the@ (M) stay'

From defective verbs, the past-tense forms of Measure I are as
follows:

3 or

(1) The past-tense form of yaF9uu is Fa9aa;* e.g., PN he

* In terms of Arabic spelling, the final /-aa/ of Fa%aa is represented
by '(i.e., an alif ) if the final root consonant is /w/ and by s (i.e.,
an alif magguura ) if the final root consonant is /y/:

- - s

"_ML-G
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IT1
invites': Lz 'he invited'.

(2) The past-tense form of yaF9ii is Fa%aa; e.g., Lg;; 'he builds':

w~ ‘'he built'.

(3) The past-tense form of yaF9aa is Fa%aa in the case of some

- O,

verbs and Fa9iya in the case of others; e.g., o 'he attempts':

~ o,

td

'he forgets': % 'he forgot'.
g g

~ -
= 'he attempted',

The following rules apply, in the order given, when the suffixes
marking agreement with the agent are added to past-tense defective
verbs ending in /-aa/:

1. The fatHa which precedes the final ! or Y remains unchanged
when the suffixes are added. This fatHa will be called the "stem fatHav,
2. Final | is replaced by P and final (s is replaced by .

3. When the addition of the suffix brings together two waaw's

or a yaa' and a waaw, the first letter is dropped and the second is
retained.

4. WwWhen preceding | , the letter which follows the stem fatHa
has a fatHa; otherwise that letter has a sukuun.

5. The letters S and <« are dropped when followed by the <
which appears on the hiya form, since in MSA a succession of two letters

each of which has a suKuun is extremely restricted in occurrence; thus

LI 4
G -
4 e -~ -

instead of Coes O we get . ¢ 'she invited', and instead of S
® o -
we get oaw '*she attempted'. The letters 3 and ; do

not occur in feminine dual forms since those forms are made from the

R L A

corresponding singular forms; thus we get Leu and Laeu rather

O Lk i

For examples, see Table VII-(at the end of these grammatical notes.)
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The following rules apply, in the order given, when the suffixes
marking agreement with the agent are added to past-tense defective verbs
ending in /-iya/:

1. When the addition of the suffix brings together a yaa' and a
waaw, the first of the two letters is dropped and the second is retained.

2. Before the taa' which denotes 'third-person feminine' the fatHa
of the final ng' is retained, otherwise the fatHa is drogped/(the fatHa
is retained in the hiya form to avoid getting words like G where
a long vowel occirs in a closed syllable, the fatHa is retained in the
feminine dual form since that form is mzde by adding an alif to the
correspcnding singular form).

3. Fach of the letters alif , waaw , and yaa' is preceded by the
corxresponding Haraka.

F d - -

-

;
ll(:‘
%

The derived measures of defcctive verbs are illustrated in Table
vV (at the end of these grammatical notes). Notice that derived defective
verbs are identical in shape to the corresponding sound verbs, except that:

(1) The former have -aa (represented in Arabic spelling by )
where the latter have --al;

(2) The former have -ii where the latter have -iL .
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1. PReplace each of the underlined verbs by a phrase consisting of d}»«'
and a present-tense form:

o gt alla Javasiw 3, b1 Sl U6 (o)

o Badd Jypdled > o |JJ;24.>;:.J|¢L,Y,J|L:'.~;L (=)

oSV sl 5wt ledy e ()

o Jo Lt e BIL ey Gt o ()

s b Pt e LY (E ()

—_———

el anWlasldl s ) g ;)

G L SN Sk (g

cBaSallinbe Gl WL (L)

Y ESINIS] PN DR ISR PN | G o (e (S)

¥ 3n e G Bl ()

Lt e g lo ()
s ol 92 W1 Gl G ()

Sl &) 51;,.‘&:_;5_;_31 (o)

il Gl S ()

g1 Gyl sl alte olead) Jlaa,edle, L (s

L5 s Ll of ()

. Lo giia.sL:..ach;)_m.:)" ()

- . b4 -y
coaadlasly 505 Lolslbcals (5)
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c sl fladte b ()

e O o b yren ) e yae ZlS) S ()

2. Negate the following sentences:
o oml L, L3 ;)?l ("
oy i, s LE (+)
A il Loyl csly ()
clalbowWlaslldl §oosa ()
i ladl ISl ()
¢ abiad! Jle oY Ssge0 da ()
cobLYIESE ()
-:-“')J*-“ < k,l:.S:_.._,.«,I ()
PO ESNS @ Leie (b)
v aefSatlanbe Jecaddl b ()
. z;cl...‘ﬂ'gl-se‘o‘&*f (<)

Sdlaa Y dis Jlele UL Govday (J)

3. change the measure of the underlined verb without changing the

meaning of the sentence:
. 2.
o dleo i a9 &%-"5))‘“" Lo

L ead) gl Ll sy A Sl i'_

(3 opally il padd VaagSadl 5Y pn 03 Gl )t ol

L;

39
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o St Al e B2

ezl eyt SV SV Sl G WLLI o )s

v ad) b 00l ek e S b

¥ e S ok I EY s Gk W e U

vl i e S JET Dpoadl Glscoy

) L",,Slsi,l;;é..;;,?

s Jl. ¢

RN R Jv3 SN PEIV 08 (o) ool oo il oy g

(S2) « pol g ¥l 5 o, adl o iy Gy
(0==) « blobaldlasldl § 3l ) dae
(1) Fayadl L o e S

(p2) Tt s WL .5_;.;.‘.‘J_e'

( l.."..“!) ? ey e Jo

(@) sl o i)l gt Je

(L.b) ?OLE\.”Q.odSJ,S e dJ....o..,r,.!.o.“ J-»
() TVt o g S
(O=1) ¢ paedl 85k dele 5 plinn U

(50) o Tat Sall 5 i Cam
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:‘JE‘—D

(p2) ¢ JLw¥l dim JI o sadl, usy o 2 Sl

T bl s Jl st bhas Je . i)

(1) ¢ %0 e aapl U

(o®) ¢ 85Ul 33,5 al e LS uay Joo

(L) ¢ anllas L) a1 Juos Ja

(o) ¥ e c U2

(5=1) ¢ My darle e slySalaol s JL Ja
((=1) ¢ aeldlildl Js L Jos

(&t ¢ ipolondl Szt U a Ll LIS gy Jo

(ko) $LIL *la Jo

(l..:;gl ) ¢ ola, o Ja

(o51) ¢ olles¥l i adal,l Jo
PO | ORI |

(o®) ¢ el o . Sl Y1

I D LS I PN S TR A
¢ lf-‘)'-:icwr-“' o Whdihll

( Gelad) el doa ezl
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7. FEach of the following contains an underlined verb. Use the past-
tenze form of that verk in a sentence:

iy ¥ et s Ao L YA 51 Ja ) i

315V ICOL R o

[

o B Bl il il L

vl Ll et bl pLadl Lie s jad) sl ot Ly,
Ll e L s Gg

et Tl Cils Lo,

bl U Gl ogag

ool P! Ugapn
S'BJQIHJ!E_’;O.,:}S:M.Q;..
cloths, usd)s,‘.u....uJo.LLn.J'd..\.Y' ldli.us:',s.».aJld,s.

. L.R»J.“) o ul.‘-..g.a.';.u

s Je

g adl Pl s SLLY
,M),‘.JI ] O YRR o R T IN Y

chayad! Jle,lud,mn g;L“.Jk._‘JI,L;J.I
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o Ay adl J GBI s

LS Sall e i

. &,+~ﬁ3| 1o %;li.hoj J9-Sgnn

clo b wnllasladl Gl Jlebo Sl fes
NOR -S| BNTPORN L Y] BTV L oW

e S Fheadlcwadl o

v oVt by o L el Jgiy

cosed! STV Upa

WSS Lk NS TS PO

9. Form questions which can be answered by the following sentences:

el ladlan o wasdl e pae L Sl Besldlandl ()
e o e e L by Wleus ST (o)

Y P | u,h-.;—..u...ll Loty 255 (=)

csuadl byla Ol addl 5 ,5a ( 2)

ol et e 5, S bl e SV lasal ()

10. Listed below are sets of expressions. Use each set in a sentence:

d._,.a'.h.-cz)-ja C.valb.; (')

et e (o)
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he S o yabe (=)

Lojis ¢ plil o Lle i ()

el e cosos LY Smen St ()
b o Jgis ()

JUSIPIE WNTE S| IR FAPR POR B SS

<_‘ . L 4 R
Ve Sey0 ¢ ol e by ()

EPSEpR R NI O

Bep & Bylom ¢y ()

11. Use =ach of the following expressions in a complete sentence:

JL... ‘ )Ua’i § oy uL',.;oJ'a.u)S ‘ 33}3.“).)‘.&- § pre

(=)

(&=
=
( o)
(L»)

()

: Je —

LTI RT JU S SRU-e U RN L

?eladl Uyl e Jo
faliad! S35V leds Jo
?z;).a.;s,.wg_,sljfg sai Jo
t des o dpondl  pam S

5 obuYless Ja
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(¢2)
(=1
( ST)

(=)

'Je.'J‘?' qu)-u-'d)w
. 33{:.'..“‘..‘:.2 5.}’.

()

(=)

()
(Lt

()

(=)

el dale Gl b U
Yl;,‘.u:‘I-J..b

e oY K Jo

s Jl.

ettad Ul 5o de o SkLY
U 218 Uyl 5 S e J5Y I L

G uaya 15 & . - oezes 8 . e

( Slad) et o Jaazl)

s Jb.

() * Bhdledn g laas b o O

N SN | ISR T B TEU N B SO YO
¢ waw o J@'QMJ-D
el HHoadl el 9oy Sp
CBhidleis e e Jo

cLlel oS

Paliad! J1otbust ko Ja
45
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(Cr2) . u.ﬁ..)..vl.usus_..u,_.
(+) ¢ sl
(=) T de JLJEY § Gaiie Jo
(et ¢ Skw Y ge e Jo
(=) ol psedl e LSl G

15. Each of the following contains an underlined verb. Use the past-
tense form of that verb in a sentence:

cloleinlaldl G st sl

N SURCTIN | IRV < by ao ;i.:‘.:.....'a.,i»JI v

. ;)-f-“'r""t‘ *‘*‘J'Bj‘b.';w:

R G oo

ol dim J13 LY g o

¢ e L) Beld) P i, ad L E S g

s’

ol e o dpead! (ALt en

casolsS asgdl SN L

ot oVl i g

46



IT

Tables

In the following tables, the different types of weak verbs are
illustrated. Needless to say, not all the forms which occur in the
tables are actual -words in the language (since a particular root does
not usually occur with all the measures that require illustration).
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Table I

Assimilated Verbs

I 1T I Iv v
Past s -5 -, ,‘, r_/.;' -
a S0 Ao o [ ) o8>
Active 3 2 2 J >
2
Past T S ‘. s -, * 2o
) o ) W) S.0q s>
Passive o 3 ot 29 e
Present s - S wos 2, - 2. s 2 B
Active o > 2 —x Rt
Present
. - ? w 2 o 2 J wrs
Passive 2. .e s .o .7 et
29 ] S ‘,,g I 9 .09
Imperative e, e - °. \ o c‘ ° T
[ 73 t.’-o, u..f ‘e ] Suoeo
Verbal Lo N or - /- s |/ s - ‘ . [ ’.‘/
Noun .oy u.!._g.:o’.. 080 190 (- La,_ : (Rl

* Only the indicative form is listed.
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Table I (cont.)

N

VI VII VIII IX X
/" e ’-//’ /./" -~ 0., 0
Past oy S WPLy] as! Sogiul
Active
29
Past <. 2 -, w' -, :.;|
. S.oqes — S0 S_oe
Passive ot A e
Present * P e 2, ce. s & 3 o-s.
. o Lo (W - o, (Ooe%
Active e pt P e
Present ¥ 2 ey 2T, s ceco,
Passive Do lyz, s, 5095y
. e L 7s ° o e @ ° -
Imperative o o les o oa:l e e e . -2
\J.o,.a *J-f,n/ \J..a..’ ! U‘f"“‘"'
P ARAd , O L - L - o
Verbal o lys ) ’_;1 .,_9[,3;1 Wl
Noun - -

* Only the indicative form is listed.

19




1T Table II
Hollow Verbs of Measure I

The verb The verb The verb
Jb el JiL
-, - ” - s e
Past Jb &\1 JL
Active
) J ‘ j .
Past. ‘J"i & Jg-;
Passive
2 s v 2 P
Present* :),_9.# )C"'M J
Active -
L I
*x Jooy
Present * PIRE o RS
Passive d ¢ J "
o ° o
Imperative J—3 &~ J—
rd
LI ]
wx ) o
- T4
Verbal J": °- Jﬁ
o
Noun 9% o **J,_:
L d
**J')-;

* Only the indicative form is given.

P P rd P rd ./ 2 ,.f
** JL : JLr ana Jt s U= are different verbs. From

the former, the verbal roun is J T-, ; from the latter, the verbal
nown is either Js= or d'; .
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Table IIIX
Hollow Verbs of Derived Measures

IT

Il I11 v v VI
s ™ - v o - s e P2 v, "
Past - -
J’___F J,'& JLF' S J’L“-'
Active
2
L b 2 Pl > - $| /g): e ),:
det_ N P — Jees s Je-al BTy &
Passive - -
ru -, 2 -2 2 > ’G’II Py
Present * J9-ay J’l‘lg S W .J)..n.l_g .J)LG.S.: ’
Active s -
R R 2 o, 2@y S o
Present* D92y _;’Lg__, o La, Jealy Je
Passive
S - e I; e i' oW sy 0, o
lmperative g5 J a8 Jons o -
. ” o ~3 . -~ 5 v 7 2 -
Verbal dyens 3 2 sulel Jg-a5 g las
Noun -

* Only the indicative form is given.
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Table III (cont.)

VII VIIT IX X

Past s so s o T .o e
Active sl wbs) ves! olazi!
Past - )I Ry
Passive -_— s — S o
Present* o ’L:’"’ Lo 2 ze-
Active o A M M ot
Present* .:l;.;.: : “le?
Passive ® -

Imperative ”‘f| . °:v' oo e .-o
.J..ru/ . st _,,‘_! - 1
et 1

Verbal - ? - ® - ° I
Noun Jleast slae) ol gl dolaz!

* Only the indicative form is giwven.
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Table IV

Defective Verbs of Measure I

I1

The verb The verb The verb The verb
Pyl . < - P -
Past bt e .- - -
Active Lo o™ ' et %
2 K - 2 - 2
Past s ‘. .
J : IS amnnd %
Passive "’5 L’:' = - =
Present * 2 or dd - 0 -0~
o W t W L
Active 35k O "
Present * 2 ol 7o -9
L S I -
Passive O - -
J o ° P
Imperative ¢ 0! L/;,[ —! g3
e
Verbal .o . l:.. e - @
Noun 1l A 4 .o
O b

Only the indicative form is given.
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Table V
Defective Verbs of Derived Measures

1T ITI Iv v VI
Past “.z “ l; /.‘:.‘l e 7 l;:

Active O o & i s
Past - %2 . 2 - -':-.' w22 L s
Passive L4 ‘ “-"f,’ &, % U‘f 3%
Present * w - - o3 S P
Active A g*fl-‘-: (-2l Ecc o by
Present * L . s o Goes ey
Passive W aaad oﬂ“g e RSy L}.olss....
Imperative e ol °t & - . e
A PB A3l e plis
Verbal « - o~ - ~a w - .
Caas | UG3) Pre

Noun pt = ;ﬁ"-‘ ;0

* Only the indicative form is given.
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Table V (cont.)

IT

55

VI1 VIIT IX X
P t P - 0 s 0,0
as T s
e oy YoM |
Active (54 - g -
Past P ')‘ . ©°» c;'
Passive —— S (o
Present * - o R oo
Active i aan g“‘:’-‘ (RS
Present * o - ores
Passive —— % anad (SRR Ay
”0 - o O o
Imperative pasl A5 Al
”~ © , O s 0o o
Verbal *laic! *las! *lac |
Only the indicative form is given.
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Table VI

Agreement of Hollow Verbs with the Subject
The verb | The verb | The verb
) s A rl_.:
o~ ) s tl__.: rL:
=R o oule esl, ce L
La (M Tole el LL
Lo (F) Lol kel kL
2, s - 2
2 ol los L, lo. L
w - 02 - © - o
L - o “ e - o
el o ous oo Cas
€ ey ° °
ool < as <oy s
€ ~ 2 0 s 0 “J o
' LS us e, s
¢| S o 20 2o
~ o 2 =
w ¢' wy o» wJ o ,
* = AE Ry Lo,
o~ o . K]
¢ A s o 2 e
Ll o ds By o
s oy -0 -0
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Table VII

hAgreement of Defective Verbs with the Subject

The verb

The verb| The verb| The verb| The verb| The verb
P - - - ,. 2 o~ - 8- .or

»
b ]

Q -

s J

,sdc

L Ll - <2 o~ - O - o,
Lo () lys o L b | Olesae | Olnan | Gl
P ,r, . 7 <2 e, //o: /'o:

-

b;g

P A

O

-0

- 2 0o

w - - 0 - 0. - o .-
. . . . M . S . Y
o O e~ Ot WL g e U
s & - 0~ . - O~ - - p o e ‘: .9:
wol Coes iy Coagenns s L SRS
- i
€ [ o~ - — o /910: - ..:
= N Cair o s L TR s
- 3 - - - - g -
[} (P X T 30, 94 - ’ P 4 o: ’zo: ’.o:
L:-:‘ L:,.FJ s L‘w o‘,ﬁ.—b ulg.l.«u O s
- - - -
£ 206~ 2o~ 'Y 4 -~ w 3 O~ /0/0: - ).g/
- ' - - - . .

(2= >

Loc o

w ¢ w20 "R w ot - 20~ -0 or - %
A .= . . . S . .

o=t s Bl B e O RS | S

Py o .~ 2 o-. 2 ~ }°¢' /oi' o&l

bt - R - Pl - - > o~ - O o
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CHAPTER ITII

Irreqular Verhs

I. Hamzated Verbs

As a medial or a final radical, the glottal stop (hamza) usually
occurs in all manifestations of the root; a root-initial glottal stop,
on the other hand, occur in some stems but not in others. It is for
this reason that phonological and grammatical comments concentrate on
the initial, rather than the medial or the final, glottal stop; it is
also for this reason that a special term is needed for stems with a
root-initial glottal stop, but not for stems with a root-medial or a
root-final glottal stop. 1In this book, the expression "hamzated forms"
denotes stems whose initial radical is a glottal stop.

Instances where a root-initial glottal stop occurs in some
stems but not in others, are rather few; consequently, the glottal
stop is not considered a weak consonant.

The following rules specify the most common situations in
which a root-initial glottal stop undergoes change:

-

l. (a) 'a' — = 'aa T <——‘|‘|
(b) 'i' — =i *; <__¢T|g

% %

(c) 'a' —= 'un ,' ‘—_3|

Rule (a) is applicable mostly to Measure IV of hamzated verbs:

(3
— e
]|

O .-
e '——-—yT 'to entertain (someone)'

It should be pointed out that in the past tense, Measures III
and IV of hamzated verbs have identical forms; thus ;;31 may be a

Measure III or a Measure IV form.
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-0
Rule (b) is illustrated by the verbal noun gJLnil from hamzated
roots:

o

Sl o ) reaitn

L\ Lod
C

. - o "
Rule (c) is illustrated by the verb form gL~J$| from hamzated

-

roots:
'to be entertained!

2. In some hamzated verbs of Measure VIII, the glottal stop is
replaced by vowel 1length (as specified by the second of the above
rules); in others, the glottal stop is assimilated into the infix /-t-/;
in still others, the glottal stop remains unchanged:

-
- =0

‘ikzl -l 'to be united'
T T<e TTw
JJ;E! ————.Asal ‘to adopt (e.g., a resolution)'’

s o

)gtl 'to deliberate’

-

»\

- -

- [
3. The imperative forms of hL——S' 'to eat’', )——-" 'to order’,

-

t » ° »

- v 2 ° 4
and 9—3! Tto take' are J=S r J)—= , and Y=—3 respectively.

-~

The measures of hamzated verbs are illustrated in Table I (at the
end of these grammatical notes).
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s Jl. —

———

L Judteds oo . JEdt s

50 0 Ve by ad b J1ECT

21 8 S S 508 U

IR LR LI X JOOn Lg\i_s.?d,.‘l

o - ploa ¥l e e JL

eIy I O PO DA T TS

o+ aaldlasld) st

el § a3 a5 Ja

(=t 8l b U pak 31

1 ¢ Al aallantoc by,

ol ¢ Bl JLEE &

:;_.‘l ¢ w%,;y!i.&ﬂlg): Jo

e plemYlans o Sl Il Gyl
P T o

5o . poldl 2it 5 J,J,,J!;L;:u,,q,n

[ ] z w € - g
el Lok fls Jo
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: Ji.

c JEIY LS L Jdea s

Lk

e 1l RTSNURTG] PP J

? 3olaadl dsge e SELYIES L Jo
BRI U R IEA Y

. ase asS 52l

C oYl G sbay ol

. pmo ABLINEL,

Tl LIS S

R JUUR O P [ I T e

¢ ogsedl alii. L, 5 1ol

¢ fLudl Vs Jﬁ‘t...—oj

§ olaz ¥ ase e StuYledle Jo
SRR U]} PO [ IR WO

? ppedl3 ey B Gal ¥ JEIIETS U

L 3oad) e ppa gl 8 3pin 5]
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: Je.

————

CJBI T L Jded i

o L Slaidl flad ST

el ¥l asy o StLYICIL

o Dy I 5,2 e VBRI e tous 13
S o SYIed,

. *—J*}&r-‘“;-:f'

NS PR

C oYl LSt Y dald

f oz ¥l g o Sk Sl Jo
LG e
VL, ¢ ey g

1 aé ale Tag Ggu

¢ Wome I s be Ja

c L i)l Sl

T LS joad! e bylast s Ja
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III

4. Each of the following sentences contains an underlined verb.
Derive from that wverb the form indicated in parentheses, then use the
derived form in a sentence:

( Jaisul) comd et Gha sy
( Jemicul ) N VG VO DURPY UVN ) V3 OO | SRR P
( Jemns ) c Al Jead? T
( Jasil) Gl stadialdt by
( Jmisal ) Sk e b AU e 56
( J—as ) v ]! E’:";‘”_::_“"Jf_.'_’_"_
( Jamisul ) L SIS Gaogssh
( Jemazil ) TN T | BRPVES I SRPOA- |

CJBJ s 3l cJEI S s

L dbe ity e
ASr.{ | REA N T TN ST B

C ol ¥ s Y RNl

el ¥ ase es Y JL

¢ et o ptadl 2l J1 s s e

i ldlasld) s lyadl S
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cJEIN L s

ottt pak 5 laadl el 15k ST
el dn B I Sl tls

c ol ¥l g e Skl WU Il Gy
casle g bl YT s Gy

v asle pgy Sy, W ag Gg

vl Bleall ¢ e Gy

: Jl.

c oo ol JU 3, Wl Y | ¢ Jd s Ja

¢ JubudlL), U

¢ Jed ‘tj_g_;') e Jl;:..,‘)ih_:.J‘L,., Ja

T opad! e ls o

T popone 1 Yy 551 s

T L LSl Ja

3Ly oo S Laisd Ja

? a ol 3,5 bl ase o So Skl S LI Ja
¢ et pntae & :F'-‘S" Jo

! Goadle oV, 0y, Ja
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e el tai ¢ JGJ o

¢ -
gl Oy T o) el cplaca

leUa vy § 3mslaad! Tugsa

P

rdw‘J-‘-AU‘ ¢ LL:@J' ‘W

dsle vy € paomgdle opiadt b

“ %

't

360 e T laidl lab St

't

Y PIUR| I R P Y ERSCORCIN

't

JUPCE RTEL SR FESE | IEPHIPS 1 000 T | DO

G

65

%

% 5



IIT

ITI. Doubled Verbs

A. Definition of Doubled Verbs

A doubled verb is one in which the second and the third radicals
are identical.

If guided by analogy with sound verbs, one would expect to find
the stem vowel of a given doubled verb between the last two (identical)
radicals. Sometimes such is the case; other times, however, the stem
vowel occurs in another position or not at all. The basic form of a
doubled verb is that where the stem vowel occurs between the last two
(identical) radicals; the basic forms of doubled verbs undergo certain
changes to yield other forms.

Transferring or dropping the stem vowel results in gemination
(i.e., the occurrence of two identical consonants in immediate succes-—
sion). The following rules should be noted:

(1) Gemination usually occurs if the stem is not followed by a
suffix which begins with a consonant (remember that a sequence of three
consonants is not permissible in Arabic).

(2) When gemination is not ruled out, the stem vowel of the
basic form is transferred to the position which immediately precedes
the pre-final radical; if that position is already occupied by a
vowel, the stem vowel is dropped.

O - -

Loa_s ’ 'we deemed (something) to be...'
S - ‘ -
hoas — = Yoo 'they (M) deemed (something) to be...'

- 0 I o~

O Sy 'they (F) deem (something) to be...'
> L < 2 -
Iy e Sy 'he deems (something) to be...'

The basic form will be referred to as the "non-geminated form."
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B. Measure I of Doubled Verbs

1. The past-tense forms: In the past tense, Measure I of doubled
verbs has three non-geminated forms and one geminated form.

(a) The non-geminated forms are Fa%9a9-, Fa9i9-, and Fa9u9-;

of the three, the first is the most common and the third is the least
common.

(b) The geminated form is Fa99- and results from applying the
rule explained in section A to the forms Fa9a9-, Fa9i9-, and Fad9u9.

Non-geminated form Geminated form
E,J..L_c 'they (F) deemed (some- 3._: 'he deemed (some-
thing) to be...' thing) to be...'
- 06 - @ -
oYYy 'they (F) wished' J9 'he wished'
- 3" & -
Cr—#*j 'they (F) were ——J 'he was sensible’
sensible'

2. The present-tense forms: In the present tense, Measure I of
doubled verbs has three non-geminated forms and three corresponding
geminated forms.

(a) The non-geminated forms are yaF9a9-, yaF9i9-, and yardu9-.

(b) The geminated forms are yaFa99-, yaFi99-, and yaFu99-;

each results from applying the rule explained in section A to non-gemi-
nated form.

Non-geminated form Geminated form
Y V9w 'they (F) wish' J9—— 'he wishes'
EJ)—ig 'they (F) flee' »—% 'he flees'
- % 34 - & .
oY Irew 'they (F) deem J—ar  'he deems
{something) to bL¢...' (something) to be..'
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In both the present tense and the past tense, the shapes of the
non-geminated forms of doubled verbs are identical with the corresponding
shapes of sound verbs (except for the fact that in the non-geminated
forms of doubled verbs, the last two radicals are identical).

The agreement affixes which occur on doubled verbs are identical
with those which occur on sound verbs such as Q;_;S 'to write'.

C. Predictability of Measure I Doubled Verb Forms

The non-geminated forms . of Measure I doubled verbs are related
to the corresponding geminated forms in the following ways:

1. The present-tense geminated forms are predictable from the
corresponding non-geminated forms, and vice versa. Given a non-geminated
form, the corresponding geminated form is found by moving the stem vowel
backward; given a geminated form, the corresponding non-geminated form
is found by moving the stem vowel forward.

2. The past-tense geminated form is predictable from the cor-
responding non-geminated forms, but not vice versa. Given a non-gemi-
nated form, the geminated form is found by dropping the stem vowel;
given the geminated form, the corresponding non-geminated form is not
predictable since the stem vowel which must be supplied may be /a/,

/i/, or /u/.
D. Derived Forms of Doubled Verbs

From doubled roots, Measures II, IV, V, and X are the most
common of the derived verbal forms.

1. Measures II and V of doubled verbs

Measure II of doubled verbs is Fa99%a9- in the past tense and

yUFa99i9 in the present tense. Measure V of doubled verbs is
taFa99a9- in the past tense and yataFa99a9 in the present tense.

68



ITT

(PO 'he set aside (something)'
4 L
(POt 'he sets aside {something)'
(PO 'he specialized!
> T
(Pt s 'he specializes'

2, Measures IV and X of doubled verbs

Measure IV of doubled verbs has two non-geminated forms and two
geminated forms; those forms are listed below:

Non~geminated forms ) Geminated forms
Jored 1
ar9%9a9- (past tense); e.g., ¢A+y>| arag99- (past tense); e.g., H«s'
'I loved, I liked' ‘he loved, he 1liked'
F9ig- t ; €.9g. uFi99- t ;7 €.9.
yu 1?° (prgfe?t ense); e.g., y 1?? (prﬁfe? tense); e.qg.,
Ote——>z 'they (F) love, - =, . he loves, he
they (F) like" : . likes'~” )

Similarly, Measure X of doubled verbs has two non-geminated
forms and two geminated forms; those forms are listed below:

Non-geminated forms ' Geminated forms
istaF9a9- (past tense); e.qg., istaFa99- (past tense); e.g.,
Hua_xE__L) 'they (F) got 3as__ 21 'he got ready'
ready' :
yastaF9i9- (present tense); e.qg., yastaFi99- (present tense); e.g.,
-:):":’-;6 v, 'they (F) get J!:, “ ‘'he gets
ready' ready’

As can be seen from the examples given above, the geminated forms
of Measures IV and X are predictable from the non-geminated forms, and
vice versa.
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The derived measures of doubled verbs are illustrated in
table II.

Some stems have no geminated forms although their roots are

doubled; those are usually stems which, if geminated, would be confused

- - PR

with other stems. For example, ‘~—w 'reason' and JJ—5 "number'

-
g -

are not geminated, which distinguishes them from ‘—e—w 'to curse

w -
(someone) ' and “f 'to count'.
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el il el il

C LGt st &

¢ §5¢ua$:fg5

T I, 06 LE S

c oL Sl

RS LIS [T P ORI
Pl et s Uo
Bl G,a S

TS Rty 9

2. Each of the following sentences contains an underlined verb.
Derive from that verb the form specified in parentheses, then use the
derived form in a sentence:

( Jaicul ) o ) ais 360
( Jaic ) LB B, W ES L W 25,1 G
( Jash) - Sall OGN S g2,
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( Jasl ) LTt ezl 52z

(=) 3 e il S5

( J——;i) cplea ¥l e .3\;,.‘“);“;

( J‘—:'i) . :)AL;,.J":;P J”O’G|-'.. Y')}.—i:

(J—=i) e 5,8 bsedr el

( ‘J“"'i‘;‘) , . J,S,J“aﬁ,‘,. s ”fj_"':
Jb. _y

SIS TR <R AR T2

Mok YGa, e

72



111

w €

. Ll by ta el
RN et

- oo Sazal

: Ja

e o

o ool ol Sl Sl oy ¢ 2l Jadt 56 e

e, Slan Y il Ja

T ! m sl 5 U

UL URTIA NN

f Lpdlion! Skibpdlen S Jo

RIRUIE TSI P TOUN N IP-FEI I

¢ ozl St Jo

ERIET A NN

S P T v JON AR K WA B PR T I
? a3V d aagd aebn 1 Jedl it Ja
? i Ypdledicn! Jo
Touadtdadlctle Ll JL z=lda
sl Ll el B Jas

? tanladl I _‘,Jgeh,.a.oil;}ld_a
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N SOV PR T oW dw Dy ¢ W) b s
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ol T plin ¥l e ¥ ) WL ]
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=10 by V1 5,8005,4; 5y, Jo
ba . ploadl Rl e 1550 Ja)
T S P | I MINTRNY

P N 1 SE1] A TS TR P
ko o L Lo sl

LT Lt ie & 152
bzt adta, b XM IR

SVt Lbs LN LUk U

75



IIY

III. Quadriliteral Verbs

Quadriliteral verbs are relatively few. Measure I of those verbs

o~ - - o~
is =9 (present-tense form: .JJ:_.-.\,- ); €.9., .J...?):- 'to hinder':

o sy - - - e 2 - o

J.J).A._, ’ Q._..»J 'to roll (something)': o—% ;.__..’.).. 'to

e -2

translate’: p—a,—y .

From quadriliteral roots, the common derived verbs are those of
L B

Measure II and Measure IV, Measure II is JJ_..-.I: in the past tense

o s,

and JJads, in the present tense. While quadriliteral verbs of
Measure I are usually transitive, the corresponding Measure II verbs
are usually intransitive. In regard to meaning, quadriliteral verbs

of Measure II are usually reflexive or passive:

- 2 - *0 .
. b,:—.l“-_—,.:—"g«bf- 'War hindered the project.'

- T O

> .
. t))__&..“ d-’)-l-'-' 'The project was hindered.'

Measure IV of quadriliteral verbs is JJ—--’! in the past -tense

v -2~ - & - 70 w 2
and J{—-—kb in the present tense; e.g., _=a—a3! 'to shudder': ,=di, .

The measures of guadriliteral verbs are listed in Table V (the

third measure is extremely rare and is therefore excluded).
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cJBdtelS o - JBJI S

P OO I NPT

Lo . Bepedas Y13l I Jd Eas o
WRGWATERTRANE

2 - pardadl Uiy

o el L5 J1ELLL

32« G Al o) I St O pag L25
Lash. € Bl 13l W JB 1 255F 1oL
I SN P AT IRA R Y

R L

La . abadt Jij%

2. This exercise has two sets of items: the first consists of

the forms listed at the beginning of the exercise, and the second

consists of the underlined forms. For each of the items of the
second set, choose the most similar item(s) from the first set:

'.';lu"| ‘ ’ ;¢ dxes ¢ )Luy|¢3-h.u|_t'”
S Cond o r b > (S

¢ J—so o d..oLiJ'L-«bJ': ¢ uﬁL).“ : L-a‘)JLo « 3;,_?.“
LN LI ISP §

- obebt S sl asUt Jhis el
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¢ e, lbally Jy et Jizy Joo

oK g g e Gl W )

[

s ol gy Ay Y
caola g slthy Wtk Jlazadle sl

. E;JBJL~J|3;;rsJ‘ZSJ-]|Zh¢ﬂs q} ubJLa:ng jQ}aJ‘ Qe el Oy

S99 pele B (Sl e e Jyad ) e L ads Jans 5 A1 JLIN
. |~c

3. From the words in parentheses, select one which most
appropriately fills the blanks in each of the following sentences:

ol Jo> Leugyy Bepd e lale — gél-ﬂg,.,w‘i' e
Ty JEPRNC R U A T RIS |

(56 0 gy . Uyl a1 Llitod Bf

e dbeb ) Ll Llotantl el ey,
(ool ¢ IS

Lzs apule Sz ,m oy wl JLz, L1 BY
((boSs o Ylal o Ly

el il )

ol ) L Lesll G dyadl s s o
((Robt , LS

¢ ggirj)L TR S _____.2494.E4L63Q,¢uJ|Z;}?Jlu;G;J' Ll
( 3! Gy
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Table I

Hamzated Verbs

L

&;ﬁ
\

by

%)

T
\ 9 ° [ % \ e
B \ ﬂw i 1 Ve “
\ N °
: L
| v "= L35 " et -
[ <
N IR e N =N I~ . Y
< <
\ \ ﬂ, N\ N\ ° e -y
. 19
" St o “ \ - \
,G < )..a‘ N \ \» p -~ 5
fan 3 N 4\
- \ \ ney EXN ﬁ
\ “ *
AT "~ - - W wes
=] ow o

\e
o

Past

Active

Past

Passive

Present*

Active

Present*

Passive

Imperative

Verbal

Noun

*Only the indicative form is given.

82



IIT

Table I (Cont.)

VI VIII X
Past . . ~%..
_ =t el Al
Active
Past
’c’.’. ".." /A°:°|
. ) o) Sl
Passive -
Present¥* ,3' e
s, ~I¢ 2 " L d b :nr
' : g g M ge) o
Active <
Present* P .
» ol 277 2 ;/C: L4
AL pog - Pl
Passive
$-0
o7 e~ - o -
Imperative )SE -} )ftbwl
Verbal 2 ”, -~ “0 e
»E ! -
Noun

*Only the indicative form is given.
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- Table II

Doubled Verbs

IIT

I II I11 Iv v
- -
Past » - - & - JL‘ = ai - B -
e O Se e | s
Active or vol
-]
Past _ . b oy
& -w o, c ot ¥ s
. . VI sl O s
Passive - 2 -
or JJ,.
Present* 3\ =
6 5~ re ., s -
. S e XV N » . IS B o ey,
’ -
Active or Ju
sent* e
Pre n & - P s "Lﬁ L ., P Grey
. € I o Say PR & ) oJ dely
Passive or VJ
o 2 = =21
. e > w . ol "",' * G-
Imperative o5 on & Vo o _ o ofF o el
or g a.l or vuol Or U el
- & 3
Verbal oola 2
w - or - o w T
ST Hr daS -, slal D de
Noun dovle

*Only the indicative form is given.
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Table II (Cont.)

Vi VIiI VIII X
T ..
Past Y — - .
- -0 w -9 » - o
. ! .l o |
Active or Hoks
& 2
Past J’.a S 282 & s o2
., —_— Gl oo |
Passive O » Jga> -
* " APl
Present sz 2 - & —o. 2 - .-
. . Paly Py LAY
Active OIJJL;g
* i:' ’_«;
Present ) X e-es 2o 0s
e ey — Lany B
Passive or ool
& - & - @ ~o @ , °
. ols s | G ! SoSen!
Imperative - - - 7
e »_ -, (3 “o ] ~o © oo
or goll | or vast |or ouwl |or yus.!
Verbal Y K .
- s o “o o
, - olas! vias! vlacw!
Noun or ol

*Only the indicative form is given
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Table III
Conjugation of Measure I Doubled Verbs

III
The verb The verb The verb The verb
&7 & - = - ©
> J-s Js s—«J
= - - - 39 - - T
e J, Past
D flt L. A S
F R &, 5. 2 -, s 2.
I gt S ‘-‘—-L: Present
o5 - P e =, . o~
, =, - < Iy G [Past
= ﬁ .: “ 2 - & & 2.,
= > Jeo > JPresent
% gL . % -
s . .. | - | T Tesl’
L’)'},‘d ‘QN—H p'J,g oledy JPresent
-G —"‘/ - . -5
La (F) . L_..).! | Y L_'-'J, - Past
e g | . T PV
O'}}: 5'))"-":' o oe ol Present
&o’ {" 4 -
ly Iy L ly 55 o [past
r—-—B .......................... E Rkl SRR FAbotil SREREELEDLPAILR
- R - s~ - “o - ot
ke T e *9 Yoz el JPresent
- -0 - - —p”
w o f)-u) . J’, C"’"‘I Past
N S R AT IO R e, T cest |
oYy Ol ¥ e el [Present
. PR Xt -0 - ® - - o7
2 S 2 < 5w Egd fpast

Present

™
1
[AY

(1%
L
t\
L
‘h\‘

‘, 2 -
N
oy
S [Past

[ s b o .
-4 = el )
-. e R P9 R P S ™ 2
i Onlas e Jos Smels |Present
7oy , IO, > e » 0y~
L=l Lo, » Lol Lo Lzl past
Tttt .- | TSR T T s |
9|)!:: < )l_..:.' ,__-,l.;,:; LJ L Present
. 20-¢ ‘:"r 2 e ~ erers
-] o) =2 - Past
[ | il Ttk R b Vo Rl PR -t R FYra
ux < - o9 e UssL - IPresent
wBIe-? 237 - Gre - S0 007
_ NS ' o9 O [past
L.)"“ """""" ;',"""""".‘, """"""""""""""""""
-0 2- ~%2e- - o o ~ 0287
o ol OV oS |present
2 ers FX Yy > o . -
Lc‘ (=3 ] ol oJdJe é‘_::’] Past
CTTTTTTTTY P2k T ARV il Ay EC R 278
;:I Jdat Ja | «J) |Present
L d o, -0 - ~oy”
L:J)D Lila L:J:J, L.,.,J Past
[ e A [ a-'-.-;- Dbl Sublr b L R il L AR R RS T

¢ L - -
— T - '—-.L_ ; |P. :sent
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Table IV

Conjugation of Derived Doubled Verbs

4 + + + + + + P + +
s 0§ 8 3 : & 5 & B O E F % %
+ 7] + 0] 4 0 +) 0 + 9] + [0} + ] + (7] o+ 7] + % + % + % + %
% Q 1] V] 9] @ 0] [} 2] Q [0} Q [} ] 0] Q 1)} [} 1} [] 12} [] 0 0] 2] (]
M © M [ I3 ol ~ o} I © M © ~ o M © M © M © M © M © M
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' [ ' ' ' 1 ] 1 ]
1 \ . 1 ' M Ll ' ‘. . " " "
ghrladyla v laiela el uls i nlanleulsulas]s
T . ' ' H \ ' v \ v N ' A ' \ '
H PRI DG — 18D B 1T 9D g 1 DMeqg D Joq 1#D 1 eq WD e .N. N .N e |02
I : ) 9 N AN RS § YN 2 : . Y R I aiy 107 “ "
" : A I I e Rl A A R S I IR P TR T AL =
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v : vy ‘e \9 ! a9 ! ° : ° ' en o T : : cu
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Table IV (cont.)
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CHAPTER IV

Numerals

I. Cardinal Numerals

A. MorEhologz

1. The Arabic cardinal numerals 3 - 10 are divided into two

classes: those which have a masculine form, and those which have

a feminine form.

Iv

1 s
Morphology deals with the composition of words.
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Masculine Feminine Arabic Sign

- ; - - o - -

e L J® v sl aa sl )
* 0o ) *_°'..‘.:| e =)

(o) pls (Yol ol \l

e s v
- og . - -0

e, o ay, £

Ut Y °

(** L-.‘:L:) ;:)L: 2—-1.0' > A
o - °

 am— L S |

J——1 PN Y.

* Accusative and genitive.

** Accusative

90



2. Each of the numerals 11 - 19 consists of two elements:

the first element is one of the forms for 1 - 9, and the second
element is one of the forms for 10.

P

- o

In this book, the above forms were taught for recognition
only; for production, the following invariable forms were taught:

- - e
6l s sl
_-e= c-e
X ‘-."
- e- -5~
o)__&ﬁub)b
- ',a"
-~
w= %" ~0-

&» I3
Ornﬁuu.h
-0 =

-
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1)
'Y
'Y
V¢
Yo
11
'Y
YA
11

V)
'Y
1R}
Y ¢
Yo
1
VY
YA
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3. Listed below are the forms for (a) the multiples of ten,
(b) one hundred, (c) the multiples of one hundred, (d) one thousand,
(e) two thousand, (f) one million, and (g) two million.

- ° P

( Fomds) oarde Y.
- ”/,

(o ) e v-
*’ ~o3 - 2 -of

( *oragl) oyl -
- o - - 2 o

e R °.

*",',‘ ’."

(7 O ) 1.
o - - D o~

(7 Oetan ) gemrn Y-
e -2 .7

(* ombks) geils A-
- < 2 0

(% Ceal ) opas q.

ar * -
* . =€ I
( .Ja.u:) UL'“, Yoo
-z 7
Qo & .
% - V..
. e-®g
f-—-“’w' ioo
. - °-
6_.‘..00_& O o o
-» - w
Ol e 1.
- - -
- ~ o -
2—‘:8—-—&! Yo.

* Accusative and genitive.
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(3"‘;,**9‘:":)3":2 ’I::’ Ao o

(d“:c..?.]l)u{l‘l ) Voo

(* ol ) Ll Yeoo

(Q—eg)l::c--?J')w;r ) oeee e

o~ -, yo. )
( * 9_.”;#) 9‘;’4 ‘ ® e e e o o o

4. The forms for 1 and 2 agree in gender with the counted
noun. The form for 1 is a triptote (i.e., takes three different
marker for the three different cases); the form for 2 behaves 1like
regular dual forms in regard to case inflection.

5. The forms for 3 - 10 are masculine if thebcounted noun ‘is
feminine, and feminine if the counted noun is masculine (this is
called "reverse agreement").*** All but the form for 8 are triptotes;

the forms for 8 are LZoLL% (in the accusative) and c;L-:5 (in
the other two cases). *

- 6. Forms for the multiples of ten (i.e., .for 20, 30, 40,etc.)
lack contrast for gender; in regard to case inflection, they behave
like regular sound masculine plural forms.

7. The forms for one hundred, one thousand, and one million
lack contrast for gender; they are, however, fully inflected for
case (each being a triptote).

The forms for two hundred, two thousand, and two million behave
like regular dual forms in regard to case inflection.

* Accusative and genitive.

* % Accusative.

*** Por the purposes of reverse agreement, the gender of a given plural
noun is considered to be the gender of its singular form; thus &,ulj:

A - % - & . . .
1s considered feminine and oo 1is considered masculine. -
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8. Each of the numerals 300, 400, 500,...900 consists of two
elements; the first element is a masculine form which is regularly

inflected for case and which enters into construct with the second
element 7:..5: .

B. Syntaxl

The above numerals may appear in their c1tat10n forms and
accordingly, function as regular nouns; e.g., 2270 I Tl

6.&, | [ SOV
'Five is more than four.' When Arabic numeral$ are used with

counted nouns, the following syntactic ruels apply: -

1. The forms =.l

and @ /g ,l; follow the counted noun and
function as intensifiers:” -

s 99

J._...,.l, J_l,' ‘Only one boy'
» - 99 o
od___..s‘,u—-..- 'Only one girl'

When the counted noun is definite, the definite article is
prefixed to ,I; and 34_,,!" :

- )
da 1 o_gl! "the one boy'
» . - rJ
-L..s‘,." wad! 'the one girl"
-%

The forms J=! and JJ.;',

are commonly in construct with a
following noun:

P

[ s - %
KR 7% LRIy 'one of the boys"®
L}L_:.,J\u.;_.;.l 'one of the girls'

-t . » et o [
(Note that Ja!may also mean 'anyone'; e.g., lu_al J.,LJ' PJ
'I did not meet anyone').

Syntax deals with the rules for combining words into phrases,
clauses, and sentences.
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2. In syntactic function, the forms for 2 are similar to J—f')
and 34 _aly :

-0

-8
'.')' ] ol 'only two girls (nominative)’®
or ~® e o
BUSLIL] BRI 'only two girls (genitive and
- - - accusative) '
o2 L=t 'both of the girls (nominative)'
Y ~o R
Bt IT) ) BNICIN | 'both of the girls (genitive and
- - accusative)!

3. Numerals other than 1 and 2 may function as modifiers of a
breceding plural counted noun. In this context, the counted noun is
usually definite (the numeral, of course, agrees with the counted
noun in definiteness).

P - K]
a2 CSS vihe three books'

rd ro

5 L3
s l;:"wls._.&Y' 'the twelve persons'

9o~ 2 - 2.t
O rdeadly uesdly o..__‘.:ﬂ Gl dt "the 125 sheets of paper'

This function is, however, relatively uncommon. The most common
contexts for numerals are those where the counted noun is indefinite;
" those contexts are discussed below:

4. The numerals 3 - 10 occur in construct with a following
plural noun:

- o : 2.
. e LY
Pl — 'three persons'
z
s ¢

- ‘—-"-u' 'four books'!
f—-f‘)’- s 'ten capitals'

. ®
.)aj--"')- L “'seven correspondents’
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5. The numerals 11 - 99 are followed by a singular noun in the
accusative case:

+*
| - rty 'thirteen persons'

Z . 9 o «”.'//oc

LL:S L9 sy """U‘ 'twenty-four books®
. -2, - .
da—wole _,,S)L‘J 'thirty capitals’

. 9o~ 2 -0 - '
)Laa‘)- U neng Ol can 'fifty-seven correspondents'

- . oe
6. The numerals 4—% and “W! enter into construct with a
following singular noun:

LS. ‘one hundred books'

> p

- s ok

:_l,J wJl 'one thousand nights'

o5 3__'..’ S 'three hundred sheets of paper"

z

. ec 29 :
w_Jt ang -_‘;)—-..J- also occur as regular counted nouns preceded
by other numerals:

% _ 4

o : .
u’-’—-«' i Y e 'twenty thousand persons'

:,- s h—’ YT 35)’5 Ythree thousand books'

og , r
‘—-'))'—'-“ e 'one hundred thousand sheets of paper'

7. Arabic numerals are compounded by the use of /wa/ 'and'.
In speech, the higher digits of a compound numeral usually precede
the lower digits, except that the units precede the tens:

» ° .’
u))——':-fj 'twenty-five'
:»oc"’a cug So-. Pl -

w-‘-u,‘-ﬂ‘,‘*‘w, W u’)..s '20,546"

The last unit of the compound numeral determines the form of
the counted noun:
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222 0. - & 9
br e
+“, - %o ’{,/af, T e T 2 o
L{lﬁ * )—a:af,d-l.')" OL‘:&-’L"yT‘m_S
<, :/o’//ﬂi"“z 9 o~
. A [ 3 »
“)’ O)A&@),;‘.a:uu
7/, 99/,,{/

= 5,9 Guaiy a%e

The numerals used above are in the nominative case;

as follows in the other two cases:

S o, -~

te

-

—\

Py
«§ . 2t e
..S‘ N =,
=" -~ ,:d: :‘"

Ld ~ o /: Ir.é/
£ (3
- /,vi 7 e .

G ey 300 nfiy s 970008

LI A e
@’?YTGM

[

:’of,a”"f”’ - s

a ‘ A [ 3 -

09 O ) Bty Yea e
’/”¢¢’i’ -

(A

LAY YW VI

- f2 2. at

S99 ey dla
[ Rt d

=By sy a2

'1,605 books'
'5,224 books'
'514 sheets of paper!

'105 sheets of paper!'

they appear

(accusative)

(genitive)

(accusative)

(genitive)

(accusative)

(genitive)

(accusative)

(genitive)

None of the forms for 1 and 2 occurs as the last numerical

»» 2 -
component before a counted noun: thus '101 books' is “rl—is,:rts Al

29 -3
rather than L _5 ualy s ;

S o 0P %

;,L_,L;S,ETI_JSEﬁéb”.s,~4J

similarly,

'1,502 books' is

S erw ,’_ o

1 RIS ! .
rather than LS 9L..|, Ba aing A

-]
Zero in Arabic is called‘)_j4> and is written as a dot.

Compound numerals are written from left to right,

the symbol for a unit precedes writing the symbol for a ten.

example of a written Arabic numeral is 11, AY¢

except that writing

An
'19,824".
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:'JL‘-—\

. ol;..c:ok.k.«;ﬂ' Gt cele () .L...;Y‘ Gradle

- b (o) pliie s ()

c Al (1yAq) 9 W (HAYY) Baeladl (o)
comt Gl Plagan (vv) Sl (=)

CRI (ra) s W (1) Sl ()

coar il (1) by adliciail ()

c Ao (go) gloaVle,aa ()

- bl (1. st ea ()

v B (Ve ege ey ) Js&,‘lgﬁwaf}g ()

e oY (Y e ) o Gmesgad!l ()

s ((0geeege e ) Goslalonl i oBu vas ag ()
C o (V10 g ) o Sl aepallaalll Ko ()

codo (Y. ) gl st (J)

e ((VAge e e ) oltadlsin 5B ag (e)
c Lo (LYEA ) oSt el ha ()
g YN 5,20 G g ((TY) e B (o)

s (YY) StYILSu (g)
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2. Negate the following sentences:
c Lo i o-v@‘ Vas i, (1)

T oba¥l bl rov Jo (o)

B VS U & et LIT ERRUX COR P

el e L s ()

c Al boy el Yl ild ()

s el s Y e o Sl Sy ()

A ddlodn Byl S e BgSadl ¢ i g ()
RN RN ORI OF ST RGO | COo ()

¢3S i DSt bl e Lo ()

o Balle Loy gSadl Gl ()

. t,.,....‘Yl 152 eully Uga, J"HJ*C:;):* ()

s J _y

—tv—

N DUPR | | T 155 ' X PP S SHRPR IR TRI | BT

- W gyt st (1)

- Bys Gopde Bl Gl pasa) (¢
¢ W sy waly pa ()

s &Yy iy (9)

Caiby oty oLt Geeitas ()

99



Iv

R P 93-‘-0“'-'"')

o ma ladl s, Al 35k 2 bs Elb

“ a ala - ol “ 4

v ool ladas g il
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II. Ordinal Numerals

A. Morphology

Ordinal numerals are formed as follows:
l. In a compound, the ordinal Oof 1 is -"—-* (feminine: 314-_"-‘
elsewhere, the ordinal of 1 is .J___,.' (femlnlne- .1;! ).

. 2. The ordinals of 2 ~ 10 are formed according to the measure

J—sb :

Masculine Feminine
*CJ\{ L r Ity U 'second’
(Tw5) o —
L.-_! ] 3_:'3}: "third!'
&-—v 3._.;..!'; 'fourth!
o & | r S Py 'Eifth’
shlo ra v L. Ysixth'
. I R *seventh’
t— -~
e © .l ‘eighth'
E da__ul 'ninth'
il 2l "tenth'

Except for the masculine ordinal of 2, _the above forms are
trlptotes, the masculine ordinal of 2 is L.,,..L in the accusative case
and UL.. in the other two cases.

* Accusative
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3. The ordinals of 11 - 19 consist of two elements: the first
element is an ordinal unit, and the second element is )_:&s or

Masculine

Feminine

[J-Ty WIN] S
3)..:.;2;'}:
/9’_/ -
3,asanll
~ O

3 ks agl)

s O - i
dds el
-~ O -

'eleventh'
'twelfth'
'thirteenth'
'fourteenth'
'fifteenth'
'sixteenth’
'seventeenth'
'‘eighteenth’

'nineteenth'’

- o -

0)—-—“.

The ordinals of 11-19 are not inflected for case; both elements
of those ordinals end in =-a regardless of case.

4. Of the multiples of ten, of one hundred, of one thousand,
and of one million, the ordinals are identical to the corresponding

cardinals:

s 'twentieth'
2GS
e As rthirtieth!

e—%  '100th’

. °¢
w_Jt  11,000th’

29~
'1,000,000th"

There is, however, a syntactic difference between the ordinals
and the cardinals of these numerals; the difference will be pointed
out under syntax below,
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5. Ordinal numerals are compounded by the use of /wa/

ardsy ola
/’ ’// )) -
KO LN o s
9 or- ,’_°i

P -

B. Syntax

'and':

'21st?
'25th!

'1,512th!

Arabic ordinals usually function as modifiers of a Preceding

noun.
- s
S IV i

- 80 s

Corsadl o)At
P 4 - - ’.’ :
Cpnidly 5 9 LI 12, !

The modified noun is singular and usually definite:

'the fifth correspondent!
'the twentieth century'

'the 151st lesson'

In the contrast, cardinal numerals (other than 1 and 2) which

function as modifiers

s - 2 . s
Mo U SN TN
’ - o~ Z -

»

~of
Sl !

-~ 90 2 -
Copdeadl ¢, adi
- 90 > -
Cordadl o i

103

_'the

are preceded by a plural noun:

‘the 105th sheet of paper'’'

‘the 105 sheets of paper'
twentieth century'

'the twenty centuries'
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s Jd

v ol e GIN B 5 coal (o) SNt

Caldy A WIS e (1Y) J1 01 g*"d,:-&' (")

| - () dglea ¥l el joa (o)

c d (Y1) ol (=)
Aol (v) Nasdall § (9)

Ce B e (1) Sasiallels ()

¢ Bt ot ) Gy e BN e (VAT ) il G (9)
sl (1) Jom ! (5)

c (1) NN be ()

2. For each of the blanks in the following sentences, choose the
most appropriate item from the set within the corresponding
parentheses:

- el s RPN Uy Ps N | gil:.‘r-JluL,i‘Jh:.S);..zl (")

(LJB:M:&.’.@-)

Sy Al G i oz ¢ e G ()

¢ Opieme ) o paadl (g
(i ¢ gt

(e ¢ prne ¢ @ob) o St b bl i gl (o)

W aily ¢ el JLal s adl we dn g ()

( dwnge ¢ Olond ¢ 3 a8 YN 4 Gupdl) - Gopiad! Jsadd! we
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(I YO L S WPk SO ) W) PR Loot 1 | WO | U | X T U

(t;i;‘., ¢ Jancy ¢ dalay) .o Jloelllacan we JudY o ()

((Wadl o c Wl Judlgoly ) o Jedl (b e ——— g5 ()
(ermdlipmn ant o Jallgoly ¢ Boldl) L aas —— SL1 ()
cobel) cdeall G bt ) plad! e S adi (D)

( 3,060 ¢ 3, wSuY!
(Ol ¢ da gy b gl ) o W ey Jldt wdl ()

¢ oSt o pio ) S pall,adl BB L g, eV s el ()

- ( “W‘ *

: J ¢

Yo v poed! pleo BT e B an lydly ddl Baialt e 5

st VB gl asdl bl § (1)

o ey S e ety AUV O Lt 5 il Wy (<)
C o s el By B Ll Al 5 ()

- Sodt (el ah s el ly Gl B a1 3adall o (9)

- 48 e pranddly B ol Bl Gadall $ ALl el el s WV Gy ()
o omrtadly a @A I e Gl

e~ ()
c b an el gebadicia ()
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ITI. Fractions

L d 3

1. The fraction 1/2 is Li_.ai (plural h’L_JL')

2. The frac?&ons 1/3, 1/4, 1/5,....1/10 are formed according to
the pattern J____%s (plural Jl_._,l)

Singular Plural
e Js : eI_S renirar
C';; tl;;;ﬁ ‘fourth'
D L2l rrifen

etc.

3. The rest of the fractions are formed after the fashion
"three from twenty”, "six from eighty-nine", etc.

o 22 .
Oy Sp 2 '3/20°
PR A TN 2 -,
s b e Ay '1/15"
- -’ 3 s T
e 8. %aNa © T=a\]a v3/231
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IV. Partitives

w2
The partitive pattern g’}-’-’ is commonly applied to the numerals
2 - 9 and is regqularly inflected for gender and case:

Masculine Feminine
- -3 - & r'd 4
o B as LS 'bilateral'
- - -y
> - W
(“,—-':_ = —-av:)b 'trilateral!
etc.
V. Multiplicatives
> -9 s G-

The multiplicative pattern is Jade (plural: O PR )i
it is regularly inflected for case.

« :J
- 'twofold"
Gy
O L ‘threefold, triangle’
-y

iy 'fourfold, square'
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VI. Decimals and Percentage

1. Decimals are formed after the fashion "three from ten",
“"eighteen from a hundred", etc. 1In writing, the sign, is used for
the decimal point.

e iy oA 2.5
)..-nﬁ O-Ms.b’ u Yoo .
- ,,,c 2 -0~ ”/ :

dao w .J,-l.o)" M—b’ by\v Y)ia '3.45"

2. The percentage formula is 'é.‘..’." u’ ‘percent'; in writing,
percentage is designated by the sign L.

2! qs”z..’.:.s’. /o ‘55!

VII. Other numerical Expressions

1. A date such as Y0¥ ’—1J,¢ \'\".is read as

2. The following are some common expressions of time:
S - ’
QY'”L'J'(S 'What time is it now?'

% ”’_/ - )_’ -
. L’.l.,.oo_-.,L.J‘uL.J' "It is 7:00 a.m.'

s’ 9 o- -
.L,.bduu..’., o.;.,LJ‘uL-J‘ 'It is five past seven.'

s 9 _”

L @EB o sy 0.&.,‘..-...” gAML 'It is ten past seven.'
(24 - Ly~
. b')“" o.-.,l..J' asludl 1t is quarter past seven.'

4/

. d&gd w)a.:, oa.,l...]' d&l.«J' 'It is twenty past seven.'
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S cse a2

R u))*"‘bu“-")’-‘-:u| ‘-"—u' 'It is twenty-five past seven.'
» rd -
. u_...a..J’/ |, o;..,_L«J' selldt! "1t is half past seven.'

PO IO D MUUR WO DAL | ¥ Bl | BT
. 4’*’-’ J,“ g eeng 0-&{ as 'It is 7:35."
~ ,’OG 2
. d.l.,s.) u’-&;_)‘, quLauJ'd&L-J‘ 'It is 7:40.°

-

»

134
. Ls.. Y‘d...U‘o.SL-J‘ 'It is quarter to eight.'

. 5o e ‘Jla...Ular-L-J' "It is ten to eight.'

f_\

g\

LN X b
. e

2
e 3EBows VAL alUl 11t is five to eight.’

- 2. .
ot aslld! v+ 55 8:00 o'clock.’

P
> os F- 3
3. The days of the week (gge—w Il plyl ) are:

_a_,, Y ’ o ! Sunday’
"‘Jl’" 'Monday"
‘L)LJ' e 'Tuesday’
~-of So-
z LA.,) Y' 'Wednesday'
o ' 2o” ] '
w.s.l ] Thursday
o.n.aJ l’ o 'Friday"'
v....,....l‘ ’f; 'Saturday’

4. The following are two common expressions concerning age:

- 9¢’ -
'‘How old are you?'
’ % o
/ P -~ ’° ' '
.« W J’,...; g).; I am twenty years old.
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VIII. The Calender

1. The following are some calendar terms:

(=Bl o ; peadl) Wl
(phsl: pndl) ok

208 E ] ° -
() o pged 2 peadl) e
3__53)1,9!3_{,;“
a:',;_!ua;’.n

- —.”
opdl Jgor . F - d
- O -

J-&q:.r‘\-f
i o

S )2R =
JRATRAY
i -3
1

)-:':’J'L:“')
J-;:"J')-"";"

R

‘year!'

'month"

'the year of our Lord'

'the year of the Hijra'

'B.C."

‘A.D.'

'A.H.'

'around the first of the month'
'around the middle of the month'

'al;ound the end of the month'

2. Listed below are the months of the-Gregorian Calendar:

Egyptian Syrian 1
g Lz g.«L‘:Jl w.’:lS 'January’
- P
J |,,£ i 'February'
ol )l:ﬂ "March'
.i - .
«Je;e‘ olq:' ‘April'
-~ ;‘
,_‘:, Ll 'May"

1 Used in Syria, Lebanon, Jordan, and Iraq
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- ;) td -
dse = giise obeg>  'June’
oy P EEw. %7
Gy = gulsy J9—aS  'July’
s o)_i
ng&~" HrT 'August’'
°o_o 2 ot
).!..},.:» J)—L ! 'September'
_39% oé o
oS | Jo Vs 'October’
0. ? : - o
W i qﬁLJ‘ O s '"November"'
ot sz
)e:-ﬂe:’ J’Y‘ g)-ﬂs 'December’

3. Listed below are the months of the Moslem Calendar; the

number of days in each month is also indicated:

Month Number of Days
fj‘: {(retrogresses through the seasons) 30
Jranss 29
JEV e 30
< ) b’f} 29
BT 30
(z;-{vl)a,_.,’;l:'.!lgﬁl.’.; 29
) 30
lead 29
) L:a:; 30
Jig 2 29
3 St 95 30
iSadly 3 29

Note: The Moslem year is lunar, and each month begins at the

approximate new moon.

v

The fixing of the Hijra (i.e., the migration of the Prophet from

Mecca to Medina) as the beginning of the Moslem era dates from the
Caliph CUmar. Before fixing this date, the Moslems gave their years
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names such as "year of the permission", "year of the earthquake",
"year of the farewell", etc. MuHarram was chosen as the first month
because business is resumed then after the pilgrimage. The era thus
began with the 1st day of MuHarram rather than the day of the Hijra.
This first day fell on a Friday and corresponded to 16th July 622 of
the Julian Calendar (the Gregorian Calendar is a revision of the

Julian Calendar).
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o gely B Lt Y 2l - o:re pIlaslul

c Pl vy Bl sl eqa)

c Gl Ao wlud! gianladl Jlews
Ve tgo alul B0 laatl gl

e Ay . aslldt U Jooy

1Y :g. sl 53sthllcas)

C 1Yo bl g @ ) S U

. o:\.hulgiq:;.“,uuq.l.,li

Tio. asludl il o T,

. Ju

e Boaels T I e

cale K Sraoe bl

casle kb ooay e sl Jas.

¢ Wpelas YNGR 5 my Sl "/
R REI T PR IRT 05 11 Yy oasd
I ke e ol oo

T dladl aase s UV g ol e g vy Gpadl DXV s U
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T R RUR VI RUIYCH UL JANPIT) DU B

& P
- &l e oLl e gy

3. Each of the following sentences contains an underlined word.

Use the plural of that word in a sentence:

¢ el el plhle Sl bl Say Ja (1)
. 3515)-'33.-_" S mrr ol ()
Rl 2 5 hogl gl ()

. a0l “,,J,_..l; ‘Wt (9)

CIECEI e S Sl ol ()

¢ et Glaze b s b agadle i ()

¢ gl ol e dadi Ju s la ()

« Pt ()

[

v aes i Ll IS Laz looe ()
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CHAPTER V

Adjectives and Participles

I. Adjectives

A. Morphology

Arabic adjectives have ﬁwo morphological categories: (1) positive,
and (2) elative (comparative and superlative).

Adjectives of the positive degree have several measures; among
the most frequent of those measures are the following:

1. J_..,,_-..v ; the following are some examples:

4y J>  '"new' 'light (=not heavy)'

‘old!

J,_.._/S 'big! ),.5..5 'small'
.J.Q.L 'tall® )'«“"3’ 'short'
J,L: 'heavy' ),.'é.; 'poor!’!
s
pe

f"“%; 'great’

2. Active §nd passive participles (see section II of this
lesson); e.g., r._.L;.'f.’ ‘educated', s e 'used', etc.
Yy .
3. a3l _ _ a measure referring to color or defect. The
‘ Ty .t
feminine form of J—ﬂ-ﬂ is p\IFH ; the plural form (both masculine and

.2
feminine) is J—.a9 *. When without the definite article and not in

* The feminine plural form C—‘,)‘-——JJ is also used.
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Y - .
construct with a following form, both J.a$! and *M.as are diptotes;

o?
however, the plural form Jas is not a diptote. The following are

examples:

M. Singular F. Singular Plural
.
- ) ¢ - - ’
J,—-w' 'black! 'J,.....u J,__..w
i “® . .
P! yniter g L‘“"-"f Pt
- ot )7 - ° 9
)0—-.’.' lredl ')‘—a H
..‘°z| | : ¢ :" .,
G 'blue' 2 C3))
= f:| £1- 4 - 22
)_..ﬂ.s lgreenl )._.o..s )_.o.:.
- . F . - 2 s
Ui ] 1yellow' ) S
- O'i ,"e - o
).—-AU Itamyl )‘.—w )._-«'
a 1 : [ 200 a® H
Fr—b! 'deaf’ Lib >
o€ o~ . ?
uﬂ)—-il "mute' "—.«c).» U

Notice the replacement of FuwL by Fuul (in J’——:ﬂ ) and the

replacement of Fiyl by Fiil (in o).

-
-
PYX

The dual of the masculine forms listed above is ON;_uil ; the

dual of the feminine forms is u‘,)l__..-.' H
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Masculine Singular’

Masculine Dual

Feminine Singular

v

Feminine Dual

'black!
'white'
'red'
'blue'
'green'
‘vellow'

'tawny"

'deaf’

'mute"

4. The suffix /~iyy/ (called the

1 og

“f’/

L3 M

P

-
0/
L3 r O

A
-2 -

ok

-_'3"'5’,.40
o Lo
SNgTes
9’).&
g"";)
ol o
ol bie

-
'D’

oly e

oYk

ohlos

nisba suffix) is added to

certain nouns (many of which indicate place) to form adjectives:

(a)
(b)
(c)
(@)
(e)

As can be seen from the foregoing examples,

'Egypt’
'commerce"
'America’
'Turkey!

‘Syria’

'Egyptian'
'commercial’
'American'
'Turkish'

'Syrian’

certain elements

are usually dropped if they would otherwise occur immediately before

the nisba suffix; those elements are the feminine singular suffix;
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-a(t), vowels, /y/, and /yy/. .

5. Some relatively infrequent adjective measures are JI.;.;

(€.g., <15 'liar'), Jsas (e.q., 3=, 'merciful’), Jeas ( e.g.,

-~ -

r—% 'wicked"), J—a5 (e.9., Ao 'difficult'), and )_23

(e.g., Q)L....:-S 'lazy'); of these, the last is a diptote.

/o‘

Excluding J—=st ¢ the adjective forms listed above are
rendered feminine by the addition of -a(t). Many masculine singular
adjectives (especially the participles of derived verbs) are rendered
plural by the addition of the masculine plural suffix; many others
have broken plural forms. The majority of feminine plural adjectives
end in the feminine plural suffix, and all dual adjectives end in the
dual suffix.

M.S. M. P1. F.S. F, P1,
1z . 3T -z - T -2
r—l-ﬁ-"-’ 'educated' ) o - P e ez’
L’-, [ ' ' :g’oa s 9 o - “1,0,
9,—*+ 'known 09 e 0% )—ne = By 0.
w o - :. e - & © s
$)—4 'Egyptian' U 2 Og y0 = b pte
1S piare T2t d oS S
o R .
r—% 'wicked' gy ey & ye it L-«'),-_oj-{v

J—-e}L "tall® J ‘;—L '&L,_E ._-,)I’_,,’J;

6. There is only one set of measures for elative adjectives:
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S ingular Dual Plural
- a.: ! i -.: "{
Masculine J— sl .;))l_.au | J——sb!

- 14 -2
Feminine = olZdas o Llas

”

When without the definite article and not in construct with
Lo <€ . .
a following form, the elatives J__as! and d...gb' are diptotes. The
- 2
form L,.Lu:.v ends in /-aa/ and therefore receives no case endings.
. /G.:
The from Jeasl which designates color or defect has the
ot
same shape as the ‘elative form Jast ; however, the two forms have

different functions.

B. antax

1. Positive adjectives may occur in nominal slots; €.9.,
L_E.é,’_.,éJl 'The big one is here'., More frequently, however, they
function as modifiers of a preceding noun. As modifiers, positive
adjectives agree with the modified noun in numbexl r gender, case, and

definiteness:

s . -
. t_l-:é:y‘ v'-zJ-%“),t)')J')-“-* 'The new minister attended the
meeting, ! -

-

. tl‘:-?‘y‘ ._;,'-\,;J.?J' J/')-'f))-” >8>  The two new ministers attended
the meeting.'

’ 4 - .
. CL;-?'Y' RREN) ")))'“)"" 'The new ministers attended the
meeting,

b 4
. -\e'-’—-?-”)u)')-”“"‘-l-.'l’ 'T met the new minister.'
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O e 9l Jg)g),-”k-«-‘ul’ 'I met the two new ministers.'

tJ‘ L] . - . - Ld
2, Like positive adjectives, elative forms may occur- in
s < °‘ . B
nominal slots; e.g., LL“,;‘~°Y| 'The youngest one is here.' More
frequently, however, elative forms occur in one of the following

three contexts:

(2a) Before the preposition fg, -

(b) In construct with a following noun. (If singular,
the noun is indefinite; if dual or plural, the noun is usually--
though not always —~- definite).

(c) Elsewhere, functioning as modifiers of a preceding -
noun.

In the first context, the elative form is inflected for case
and definiteness, but neither for number nor for gender. In regard
to meaning, this context designates the comparative degree.

. el L, ;JLL &fq' 'My son is younger than his.'

. e_:'.f.ﬂ _}:j.n-a‘ glulg—w-p-‘ 'My daughter is not younger than
- - .IG 'G I hlS.
. t;" )_i..o" q:_i.'c-wﬁw 'I quarreled with my younger
g sister,"

In the second context, the elative form does not take the
definite article; it is inflected for case but neither for number nor
gender. In regard to meaning, this context designates the superlative
degree:

L e °‘ .0
o bewy dadl g’ ~’~e~L g:e' 'My son is the youngest student
in the school.’

o . - 0‘ ’3
. 0#)«'-“ < ue:%-l: )-"-" Lo 'You (dual) are not the youngest

coeds in the school.'

'I talked with the youngest of
the students yesterday.'
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In the third context, the elative form agrees with the
modified noun in number, gender, case, and definiteness. This context,
like the second, designates the superlative degree.

. A 1 . .
R DR | BV deals 7SV L1 "My oldest son is a student in
2 - g’ * e .
this school.'

£ 2 w - » . .
- oS YV rbad a2y S las LY 58 'Imperialism and communism were
- - the two supreme dangers.'

ot s _ _ . .
KEYD § JL:_.,“".’_;};.&J' Cgdady ! 'Those (M) who do good deeds are
the greatest men in the
. o) S the sight of God.'

2 -

. e —v - € 2 e ‘
san (o r BT I PEEPH 5les,el ' know that your oldest daughter
3 adt is a student in this school,'

. _——&)
- . - /‘o, - - 1 s
. O)’J' 100 g, Ol-'! .5” C)L! 5 ||.’ a3y The tw? great war? broke out in
- - this century.

T s PRy
= ..)-es-“ Ll J—bj.-.a—'J' Olady g:‘)-‘-” 'Those (F) who do good deeds are
. o Uy Jus the greatest women in the
the sight of God.'
The third context is relatively infrequent, and its most

. P T
common examples are stereotyped expressions such as (y—ad 3! 5,21

'the Far East', OZL.:JI L..Un.d)., '‘Great Britain', etc.
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SV G oouadl Bl L StLYILA W ( dedm) dwdad!

coel gle e W) Ohwesd! Jy

- Gvr") W e 0aeaS Vg b s o

c (Sreal) S Wb el e B S

c el gl ((dear ) 1LY YL seadl & S

s ol B e b a by el (LS it 1S e
Ol dsio o (i) O Sk

- Il i (o) *hidl e Jludl !
SO LR (o8 ) 3L 8,0 a adl ede edlt
| Frwst) ol Le o

c (S ) Gitedl G (e ) g gl

. (._1,.1;) I WM SO PYIEI VS

s (Vi ) Sl g gy adl bl

s Aaall (B)la) el by v as I L LY

s (g ) diadl JI sl cgn S
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2. Change the form of the underlined nouns from the masculine to
the feminine:

. Ji.

cagpae JLTeo by aud bl d a5 ae JLTec oy ol dualadl

. FB ol u,_;.;i..l_hjs

 pllipa gl

s Sl ez V) a8
Ce bl EM Ly LB G

L8, L Sl ST Gl e

T30 leall panadl vus 8 S

ST S5 RO | I IR0 JCT | PO

. )J-f-‘-_i."‘f:-__b N ole 3L Y o

NPV T[ P00 LI A1 B ELA I N A (PO

YO {1 1PN FORN Y

P e ! cplons b ppjiie (it Jo

. JEJ s_,s,,S.s.L_i_I:,..||

T daatt Sl d"r-::l;

c s LR e Glaieall byl 3
e G ibaad) 5 b sl S

o adgiied aluj LT 0w Hop Gibydt 1
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3. Change the form of the underlined nouns from the singular
to the dual:

: Jt.
7 ¢ ’ 4 [
s obed plaasdl SISk c B dgoadl StLYI

PO UV S PP N | PO [ I P
S YO W U] LT W IER B Py

- Wr oadipgadt

N SWEN | B { DETT RVPOR A O | PPN PORCICRE
2
- gl ¥ Gplas Y1 ) b

. Ogpta mneh iy 0o

il ks 5T e it

¢ Gl i e il Ll sl
RN IO SOOI 0 TR T, A T PO ST
T bd (B peiadl (5 pandl el o

TIPS [P TTATIIA N

v thas b i Gl g

RSV BN 3 TR INT I
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4. Change the form of the underlined nouns from the singular
to the plural:

s Je

e o aeo bl 1 5 adl g wiad! Sy

e e aeo Ll I Sprpand | gy ind ! Uy

o ebs gV 58 st S80S V15wl S5
T eiyae g ol Ja

R R W SR ) g Gl b W TR, oy Gl

. Z,zEJIZ.-..Lg.,B.,JLL g;).';il Yy B jme G e

. et ’égi.’J.Ldlld_n

N SC O e go?ﬁ;a:.. (e o
P et e

- et Jadl o

[
. edala sl

c Ja
o et 15 ! el N PPN PRt IR |

bt et S . gﬂ‘iJLkJ!gJ_.;H
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. — ¢
© U gt e e LB Y LS

SRR IS O SRR HTT SR T

¢ Gy Ll e Lol e ¢ U id pasn
SO TN T O Ty BN R e

NP PY LR PRRICY N -0 Gyt G

e U T VL R BYCL PP UPICIY

TS EN [ PRV TES W R PNRCIN T FEANTINY

:_J_’i — 1
C By 5 usd! 3 Sl 3otV L L g usdt SN
LYY . et LB E, mal
g LI TR WA S-S | S VA
oy b e 3, L !
cbal ¢ fhas s S Ut 15l
obess . n,;,.-,a._?.,-tj.:.n o
e bW § Vi gemieall S
VS| I SRV U TR T
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s dbee _y

SNV A A% c ok e (Jusb ) Gle

c LT o () 5 e

b Obae SV ) & e () puke StV o
- AL e (b ) ey

G o (dee) 9l

g (Jub ) LI

Peliias r (B9 ) et U

c A Ligd 13, Loadl o (S ) 5! 3, Laad]

Ce LI L e e (a8 ) pbausd! oL
TSVl e (S ) L Gl de

C T e () ol

I () i Getaldless

ce s Ve W G () Sl

: Ji — A

o S dalt ol aZan s Y1 Gtz
PP U S Gl
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SOV PRI PR 155 V] IR ) DTN
¢ i Cpi ) byl '.')'J“G"PHJ""

C e e ¥ FBa0l e (E Ga gyl SELYI
NPT | K1 W AT IR I TR

b e 2 Lpa VI L5l e el 0hagy JLT
T LI i [Ryer: R RN |
s = s Ve L) e den e 5.9

N IS (RN TR i R T RTWAY

: Jb
0¥ ol e o o Sl ol a

. g;L;_,)_;_,‘l ol

NS R P o

bl Sl

R VR RIS 1 EFEI
. gsl;.,‘l)_;...,‘lr,,_l_..

¢ eyl ST SLs Ja

ce bl il b
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g;""'u'r""-“ ¢ Jp...,ﬂ «3)-:'-‘"50) o

NP N S U | [ U NS | BSOS TP

st e T bl il e s

oliad! e T LIl e jpm Jo

= § oV G2 Jyo e o lsad! U

ban Y1 T Y1 Gyl Jyo ey J

am bol) © Y1 Gradl I En 5 151

(AR P LITOITE o T, SR JETRNP IS I
Liest by © Ladl s 5 g )

s § i) LT LS5 e U

Wil Sl © (800 *Laall i o]

i § i) e it 2 S
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11. For each of the blanks in the following sentences, choose
the most appropriate item from the list which introduces this.
exercise:

& @
¢h4.uo.>cr;h ¢ 5o cé,/tddh‘i.:az;.u.a_.t"'f

¢ Ls.hJ'BJ_...g.l.g ‘ C.';; ¢ s ! CJB

P4
Z.L.i. ] p';-b..: ¢ .L,.u.

SRS LRCL RS PR AU |
SV ol G Y sl gpen
NS SN | [ 00 1| JU | PR S

sl ladlfn, S ool e W) e

e oW st

S g

C NI e S wae Y gy ol Byl Uizt 8
SNPTRCUR| ISR | R N oM 1 | IR | FESPN

R W | BPRTI 8
SRS UTII R TN R T T
SUT edy WY G 3 gl S

o gl e G SLEYIG e b

N JOA P SOOI Y - PSRRI Y . I X | RV

UL T BESUN | I OM IR}

I et e Y pudone gt !

12, Use each of the following words in a sentence:

Joler o g,.;.;:z’.b.& cd.f.«‘ )‘l,- ¢ ot
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A. Morphology

II. Active Participles

In Arabic, active participles are forms which are derived from
active verbs and which have the shapes specified below.

(1) From the first measure of sound and assimilated triliteral
verbs, the active participle is of. the shape Faa9iL:

Verb Active Participle
C5  tto write' “rfs
3y  'to stand' 3l

(2) From the derived measures of sound and assimilated triliteral
verbs, and from quadriliteral verbs, the active participle is produced
by making the following changes in the active pPresent~tense form:

(a) the prefix is replaced by /mu-/ (in the case of the fourth measure

of assimilated verbs,

the initial /yuu-/ is replaced by /muu-/), and

(b) the stem vowel is replaced by /i/ if it is not already /i/:

Verb

Active Participle

'he teaches'

'he progresses! p O

'he stops “5/3:-—’
(something)*

e s

'he translates' [

(3) From the first measure of doubled triliteral verbs, the active

participle is of the shape Faa99 (thus from

-~

9 'to flee' the active
=

participle is jL-i and from J—b 'to lose one's way' the active

131



\Y

participle isg)hb); from other doubled verbs, the active participle
is obtained by making the following changes in the active present-
tense form: (1) replacing the prefix by /mu-/, and (2) replacing the

w -
e -
-

stem vowel by /i/ if it is not already /i/ (thus from J.al. 'he gets

w J

ready' the active participle is Jai_2 and from , 'he continues’
the active participle isti_.;:); if the present-tense form has no stem
vowel (i.e., if the stem vowel has been dropped because of gemination),

the active participle is obtained by merely changing the prefix to

/mu-/ (thus from p—iay "he objects' the active participle is fiims).
€ &

(4) From the first measure of defective verbs, the active parti-
ciple is Faa9ii; from other defective verbs, the active participle is
obtained by making the following changes in the active present-tense
form: (1) replacing the prefix by /mu-/ (an initial /yuu~/ in the
present~tense form is replaced by /muu~/)}, and (2) replacing the final

long vowel by /-ii/ if it is not alreayd /-ii/.

Thus each defective active participle has a "basic form" which
ends in -ii; each such form (as was explained in Lesson 102) yields
four masculine singular forms: a definite fora which ends in -ii (to
mark the nominative or the genitive), a definite form which ends in
-iya (to mark the accusative), an indefinite form which ends in -in
(to mark the nominative or the genitive), and an indefinite form which

ends in -izan (to mark the accusative):
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Nominative Genitive Accusative
L;;LnJ' 'the raider’ g;L&J' R:QL'J'
3L—£ 'a raider’ ) — Ebl_i
» < -

o a9 - (4
= IV tine giver! g—-%-"*-” z |

o 4 ° 9 Z (4
.,h.__.n. 'a giver! Do Ae L-..%—-..

(5) From the first measure of hamzated triliteral verbs, the
active participle has the shape Faa9il (where F represents a glottal

T 'sorry', J—ST ‘'eater', etc.

stop); e.g., 9

e

From other hamzated verbs, the active participle is obtained by
making the following changes in the active present-tense form: (1)
replacing the prefix by /mu~/ and (2) replacing the stem vowel by
/i/ if it is not already /i/:

Verb Active Participle

260 L . . Ao
— he influences b

T €. ©§._,
2 St 'he makes sure! oSt

(6) From the first measure of hollow triliteral verbs, the
active participle is of the shape Faa'il; e.g., h:-—-ﬁ/u‘— 'absent'

)_._:") 'visitor', etc.

From other hollow verbs, the active participle is obtained by
making the following changes in the active present-tense form:
(1) replacing the prefix by /mu-/ and (2) replacing the stem vowel by
/i/ if it is not already /i/; if the Present-tense form has no stem
vowel (i.e., if the stem vowel has been replaced by a long vowel),

the active participle is obtained by merely changing the prefix
to /mu-/.
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Verb Active Participle
e e “ - 2
J9—<2 'he photographs® 29—
-? -
f—=%¢ ‘he resides' r——'ff"

The feminine singular form of active participles is usually
obtained by adding -a(t) to the masculine form:

Masculine Feminine

r— U  'understands' di—als

'u——-fl" 'angry' ol

The feminine plural form of active participles is usually
obtained by adding =-aat to the masculine singular form:

M.S. . F. Pl.
c—ol ‘angry' el
u—i—.—-i ly 'standing’ &‘;L:li'j

If not derived from the first measure of triliteral verbs, the
- masculine plural form of active participles usually consists of the:
masculine singular form and the sound masculine plural suffix:

Singular Plural
T - 1T
f——-’-"—- 'educated’ - 2,-‘]-‘-0

Al il 'different' QM-;A’

Some active participles from the first measure of triliteral
verbs have sound masculine plural forms while others have broken plural
forms: ‘

134



Singular Plural
- - 9 -
ch———w 'listener’ gp——‘gl—aw
——=a!0 'going’ E”_.i+e|3
. z eye 2
LS/L—’ 'reader’' b___a
J—-: b rmurderer’ oI5

For defective active participles, the feminine singular form is
obtained by changing the final ~ii of the basic form to =-iya(t); the
feminine plural form is obtained by changing the final —ii of the
basic form to -iyaat; the masculine plural form is obtained by adding

the sound masculine plural suffix to the basic form:

Basic Form F.S. Form F. Pl. Form M. Pl. Form

2
&;—‘[,”‘:" 2 bas e U bl :Q.L.if (nom. )
.3,.%.;.’ (acc. & gen.)

B. Szntax

Arabic active participles occur in slots which are typically
filled by nouns or adjectives: -

- J<WICSe 'The murderer escaped. '

o et LW ldgdt 3381 'The police arrested the murderer

yesterday."
P : _ .. r) :4 0:
,Ls O EJ.:U‘ ulﬁgflo)-"wub' 'I fired at the murderer when he
4l tried to escape.'

135



R ISR R—" H e My friend is very angry."

. L:___.éli- g—i‘!‘*"&—?") '‘My friend returned angry.'

oy 7 E
. o,,.:nl..u,...eLaJ' J ) ‘,’Lc;&i,.: 'T talked to the angry man for
- ’ two hours.'
Some active participles function predominantly as nouns and
others function predominantly as adjectives. Many, however, can be
used for either function with considerable frequency; €.g., ‘7‘——9'-3

can mean either 'going (adjective)' or 'someone who goes'.

An active participle may enter into construct with the object

of the source sentence:

)
e yopaJ1EyS I wrote the report.'

¢ . s e
. )_#Y|H)£J't..—_.§5 Ul '1 am the author ("writer") of the
g last report.'

The object of the source sentence may function as object of the
active participle; this takes place when the active particdiple and the
object in question cannot form a construct phrase. In the following
sentences, the object of the active participle is underlined:

. G‘-‘»—i—" Fe il ‘df-tl:s, doay g-i-‘-t/t; 'Meet me after you have written
—— ' the final report.'

z

- ~ < ,
. G‘#‘je)ﬁ-“ ‘-é"—"—vd 'I will not write the final report.’

2- -9 e
¢ tJ-z}EJ‘}e;'«J‘ 'J—DH'\;B-“ * 'Who is it that has written this
—_— long report.'

In each of the above sentences, a construct formation between
the active participle and the underlined word is deemed impossible;
this is so because:
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(1) In the first sentence, the active participle is in construct
with a pronominal suffix.

(2) In the second sentence, the active participle is nunated.

(3) In the third sentence, the definite article is prefixed to
the active participle.

C. Meaning

An active participle designates the doer of the action which
the verb specifies; in this respect, active participles in Arabic are
comparable to English nouns which end in —er (such as runner, boxer,
writer, etc.). More precisely, an Arabic active participle usually
designates one of the following:

(1) One who is performing an action:
" 4 - 4 s
. 4_..)‘&,@;‘.».’ by 'The professor is meeting
- with his students (i.e.,
He is in a meeting with
them now).'

(2) One who has performed an action:

2 . e
. ol,eS il ulsd_.fl:. H 'I hold (literally: "I have

earned") a Ph.D. degree

(3) One who has acquired a permanent quality:

e .
. r_JJub | 'I am educated (i.e., I have
‘ acquired an education).'

Arabic participles are sometimes translatable by English verbs;

- [ ]

in terms of Arabic usage, however, they are not verbs. Thus (—=ab U}
is translatable by 'I understand'; however, the literal translation is

'I am one-who-understands' where the underlined expression fills a

slot usually occupied by a noun or an adjective.
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s (L) Nl e S S (k) G olas Vgl

w_ €

Cdedt i 1 ( EEDY) b
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3. From each of the following verbs, derive the active participle,
then use the derived form in a complete sentence:
[ “

¢ dj"l l,.l;‘ ¢ ‘S_h.l:.s‘ 4&}3.4«‘ ¢ L:«J,;.wl ¢ laslic |,~5.J'

'.J—"é'; ‘&;j‘t ¢ u&,‘* ¢ ‘.')u’s: HEF-L.g ¢ paasl o C_‘i:)‘ ‘ c-:l

. Gy yae edl 2 SLLYY ¢
c B ohaet 1 Jy Y1

Cosdme flysdt I

. aly ad L)
Coml, Al il Rl B ae
TN T T PO | [ RO DU D’

? Hlame ) S et U

140



. Jobk ol Tae
¢ auliill 335):“"“9;‘")‘“
el S g SbY 8

. Bt 3l A 3 dualzl) 000

141



III. Passive Participles

A, Morphology

Passive participles are forms which are derived from passive
verbs and which have the shapes specified below.
(1) From the first measure of sound, assimilated, and hamzated
?
verbs, the passive participle is of the shape maF9uuL; thus from Q;_;S
. . . '< - : ’
'to be written' the passive participle lsty,-sn , from ©—29 'to be
2

- 2 o~ “ b
described' the passive participle is ‘9909 , and from J__éJ 'to be

. s &
taken' the passive participle is Je—sl .

(2) Defective verbs of Measure I consist of two groups: those
whose final radical is /y/, and those whose final radical is /w/. From
the first group, the passive participle has the shape mar9iyy, and from
the second group it has the shape maF9uww; thus from the verb erd 'to
be built' the passive participle is :}fﬁ;: while from the verb é}—fi
'to be invited' the passive participle is ;—J"—J; .

(3) From the first measure of hollow verbs, passive participles
are rather rare and have therefore been excluded from this course.

(4) From verbs other than those of Measure I, the passive
participle is obtained by changing to /m-/ the initial /y-/ of the
passive present-tense verb.
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Verb Passive Participle
a0 . . Iy -
—-—3la, 'is punished' s la’
-°z2 . 1 q’ -°z?
=~ 1s translate [ o
J/O: o 9 1s . d' - o8
) )9~ '1S importe . )9 cane
- o s -0
sL—se 'is chosen!' St

e et . .
thahg 'is occupied’
L

J—>Ly 'is rented'

When derived from defective verbs other than those of Measure I,
passive participles have shapes which are not completely accounted for
by the above rule. The following comments are applicable specifically
to those participles:

The "basic form" of those participles is obtained by changing to
/m~/ the initial /y-/ of the passive present-tense verb. The definite
masculine singular form of those participles is obtained by prefixing
the definite article to the basic form; the indefinite masculine
singular form is obtained by changing the final —aa of the basic form
to -an.

Verb “Basic Form" of the Definite M.S. Form Indefinite M.S.
‘Passive Participle of the Passive Form of the Pas-
Participle sive Participle
e - T . < - Z >
T 02 T o T oy T ey
S —I-aall (R
- o - o - of Z o
S Ty S Seper S Dguad | S g
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The masculine singular forms (both the definite and the indefinite)
are uninflected for case:

Nominative Accusative Genitive

G/)I' ;,,!'

=
w

n
\
-

-3

&n

- Z_

The feminine singular form of passive participles

is usually
obtained by adding -a(t) to the masculine singular form:

Masculine

Feminine

% A D4
Hﬁﬁso 'is written' L W%

: %o . . -t %20

9090 'is described’ 43909

iy .7 28
O Lo 'is taken' 3 Jeils

The masculine plural form of passive participles usually consists
of the masculine singular form and the sound masculine plural suffix.

The feminine plural form usually consists of the masculiné singular form
B, and the suffix -aat.

Masculine Singular Masculine Plural

Feminine Plural

- e. .2 o _ b o _
B9;a 'is known' 999 yas < g yas
e e, - 2 5. T 0.

909« 'is described’ 199909 < Byooe

If the passive participle corresponds to a derived defective
verb, the feminine singular form is obtained by changing the final -aa
of the basic form to -aa(t); the masculine plural form is obtained by
adding the sound masculine plural suffix to the basic form; and the

feminine plural form is obtained by changing the final -aa of the
basic form to -ayaat:
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Basic Form F.S. Form M. Pl. Form F. Pl, Form
<., -y ~-0% . 2 P
OL.qn- ."),.au. (nom.) | S -

Y
Uesns (aCC. &
gen.)

Passive Participles may be divided into two types: those whose

corresponding active verbs are transitive, and those whose corresponding

active verbs are intransitive. The following rules specify an important

difference between the two types:

(1) when the active verb to which it corresponds is transitive,
the passive participle is inflected for both number and gender; e.g.,
ALY , n T .‘;,o» .'5,.’)0,
39 ,—2+ 'known (M.S.)', 4—99,a. (F.S.), Oy e (M.D.), y99,4e (F.D.),

s - o . .
T9—dsys (M.P1.), Ll 5y) & (F.P1.).

(2) when the active verb to which it ocrresponds is an intransi-
tive form followed by a preposition, the passive participle has only
one form (namely, the masculine singular); gender and number are

expressed by the pronominal object of the preposition, not by the
1T~ ,o,
passive participle form itself. E.g., f—«Jﬁciia— 'sentenced (M.S.)',

- 2 o n/’ s °. 07 - 2 . .
L',’._’_“..Lﬁr,S—-.» (F.sS.), L-‘:-Jﬁr,s_s- (p.), f—'!‘J‘f’s'» (M.P1.),
- 2 o
[)—-(/a‘l‘f)-—s-’-‘ (F.P1.).

(3) whether the active verb to which it corresponds is transitive
or intransitive, the passive participle is inflected for case (unless,
of course, it has a defective root). E.q., Ep_;;;_J;"known
{(nominative) ', f;_1éz;_jﬁ'(accusative and genitive); F1~_;ngji;:

- z 2 °o — e 2 .
'sentenced (nominative)', F_..t_:_..h L,S.a.. (accusative), F.!.,_J& f’s""‘
-*

(genitive);  p—ws 'named (uninflected for case)'.
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B. Syntax

Passive participles occur in slots which are typically filled
by nouns or adjectives:

. . 14 ° .
. dddogpidl lia  tThis drink is delicious. '

]
_ % ey 2 J
. g;uus ‘L‘JB}A-J|-Jb«wY' U)b 'The well-known professor Taha
: Hussein visited us.'

Some passive participles function predominantly as nouns while
others function predominantly as adjectives. Many, however, can be .
used for either function with considerable frequency; e.g., -
can mean either 'required (adjective)' or 'something which is
required’.

-

Some passive participles are derived from ditransitive verbs.
The second object of the source sentence usually becomes the object
of the passive participle:

. 5s’°,.;

. LLS - i WSeghel "I gave each of them a book.'
2 2, ° T’..’

. LS LJan:FQL. *Each of them has been given

a book.,'

The occurrence of a passive participle with an object is rare.

C. Meaning

A passive. participle designates the recipient of an action whose

doer is either not known or not specified; this is to be expected since
passive participles are derived from passive verbs. - Arabic passive
participles are usually translatable by the English past participle;

e.g ‘,:é: 5,Vaus is translatable by 'a broken cup'
e Jer ) [ B Y P
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3. From each of the following verbs, derive the passive partici-
ple, then use the derived form in a complete sentence:
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CHAPTER VI

I. The plural Forms of Nouns and Adjectives

In Arabic, the plural refers to more than two of whatever is
designated. The masculine plural designates referents of which at
least one is masculine; the feminine plural designates referents all
of which are feminine.

In regard to form, there are two types of plurals in Arabic:
the first is called the "sound" plural because the singular form is
retained in it; the second is called the “broken" plural because it
is obtained by changing to vowel pattern of the singular form.

A. Sound Plurals

The sound plural of masculine nouns and adjectives is formed by
adding the masculine plural suffix to the singular. The masculine
plural suffix is 9” in the nominative, and —¢_ in the other two

3/, - !9/) . - 4 -9
cases; e.dg., r—JJh 'teacher (M)': cu—-—-l*- (nominative), ;gfl—du

(accusative and genitive).

The sound plural of feminine nouns and adjectives is formed by
adding et (i.e., —aat) to the singular. If the singular form ends
in 37 (i.e., -a(t) ), that %~ is dropped before the addition of .1~

-,

"
€.9., 3—uJme 'teacher (F)': (L1 .

If the singular form ends in & ~» %y = s0r (s _.,

(i.e., -aa, -an, -in, or =-ii respectively), then the sound plurals are
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formed in the manners illustrated below:

Singular Sound Plurals

/oi - O ’oi
o—d e highest (M) os—is V1
< - o) : - 0T, O
-3 -2
Y L  hostile M Cy o las

-5 -
gg‘——&-—” 'the hostile (M) 290l

-~ % s . ~-0 2
d)JL—‘d' 'the smallest (F)° C*Ludk¢d|
L,’-—-Aa.a-“ 'hospital ' LS Lg.’—.—u--uu

Other types of singular forms undergo specifiable changes when
the sound plural suffixes are added; however, the rules governing those
changes are relatively unproductive and will therefore be excluded from
the present discussion. Thus pairs like the following should (in this
stage) be learned as items:

Singular Plural
o -
L/--.H-/ lgirll b’vlq
slos g young woman' 8 H
A ‘ g 31
——>! tgister' =

To designate the nominative case, the sound feminine plural
suffix takes -u; to designate the other two cases, it takes -i;
”»

€.G., c;l_*JLg—“coeds (nom.)"', g;L_*JLL 'coeds (acc. & gen.)'.

» In the following paragraphs, the singular forms which usually
yield sound plurals will be listed (it should be remembered that such
forms usually designate rational beings).
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1. The sound masculine plural is formed from:

(a) Participles which function as adjectives; e.g., u__.} Iy

- )." . ~s » "
'standing’: Q,-ﬁg', r_L&- 'educated’: _),_‘J.n..: ’ ),.(,_._.‘.‘.. 'famous’':

- - 0 - o -0 - o

:)}j}—‘(":" 1SS employed'.u,. D e .

Broken plurals are also formed from participles, especially from
participles which function as nouns. Thus when used as an adjective,
the form _)S/L:' has the plural .:),:.S,L.: ; when used as a noun, it has

11
s
the plural ._')5_..« :

Cod! 100 o :,;S/L:.J' JU,Jl 'The men residing in this house

. are foreigners.'
. k.—u'_..;'

% ¢ ] '
. L))-w -;')5; e )5‘ g :‘)5-:-" 'The population of Egypt is -larger
than that of Syria.'

(b) The majority of relative adjectives ending in (s _ (i.e.,

-iyy): e.g., O —a 'Egyptian': Ige—a .

-

~ ot

' PPN
(c) Adjectives of the elative form J.as! ; e.g., O,:_;._,:-Yl‘ 'the

smallest’',

The sound masculine plural is obtained from other forms as well,
but those forms should be remembered as items; e.q., cy—-i 'farmer,

- 2 e
peasant’': Mi’ .
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2. The sound feminine plural is formed from:

(a) Feminine adjectives whose masculine forms have sound

- - -y

plurals*; e.g., Z.\._.G/‘;' standing': « L.asly, e 'educated':

b } S O - O~ oy

-~ - - - ° -~
el el , 8,y is 'famous': u‘,‘J,.';,..:. s0e JSS s 'employed':

~ o~ay»

- - . -9
e leusoua , a.f')_..a: 'Egyptian’: c:L_‘,'J.;,, , L;).a.iJ‘ 'the smallest':

- -0

- - -
- - - -
1, r e 'farmer, peasant': el .

{

(b) Feminine nouns and adjectives which end in ¢ - (i.e., =-aa)

- -~ 09 - °
-

- -]
or *l (i.e., -aa"); e.g., U"—L;‘ 'pregnant': bl b , sl
-l -

2
-, oS - -
‘other': w L, s, “)_._:...o "desert': wlylno |

(c) Feminine verbal nouns, and most masculine verbal nouns from
. - Ty . R e - Ty 2o
derived measures; e.g., o._._-L....S’ 'seript': w LS, LU
-
] “ 77 . 7T ~ - °
'interview': L:'ay_q‘k g Oeeen L—-’L 'residence': L'.'—L....b" ’ l.J ‘_d:;___s‘

Ty - -0 o . o °
‘possibility': -.:YL...":«:|, JL.-..:...-"usage',: e Vha Ll |

(d) Many participles which are used in the plural as nouns and

» 2 - - ,: . r 0.
which have non-human referents; e.g., J,—SL 'food': L‘-‘—Y;JL , S9 e

- 2 ®. -, Oy

- ®
'a drink':<= Lg,da L;;:...,:.. "content': v L oei s |

The sound feminine plural is obtained from other forms as well,
but those forms should be remembered as items,

*The sound feminine plural is usually formed from participles, even
when those participles have a broken plural in the masculine gender;

e.g., .Jl L *student (M)': - B, 3 ’,’lU;'coed': c,l_,J”U; .
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II. The Plural Forms of Nouns and Adjectives (cont.)

B. Broken Plurals

1. The most common broken plurals are listed in the chart at
the end of these grammatical notes; less frequent forms should be
learned as vocabulary items.

2. As has already been mentioned, adjectives ending in the
relative suffix :5, usually have sound plurals. However, some forms

ending in the relative suffix '{_"5 -~ have broken plurals, especially

when used as nouns. The following are examples:

Singular Plural

:;'—‘-)‘ ‘an Arab' ——

P 3

&S% va Turk' Il

by $ . L1l
’é)—ﬁ-,l-?" 'an Englishman' ,,1-19:'
- 4 . 2
g—9) 'a Russian' )
w ° 2 2
$ SR 15n Indian' Jei o
) Y— 'a Bedouin' P -

w I - » -
& Y9+ 'a Jew' )

3. The following are some common forms whose plurals should be
learned as items:

Singular Plural
T et (o
' 'father" L
3 S21 ¢ 3520
T’ 'brother! TRt AR
o% -t
it rgicrert < lysl
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'land'
"mother!
")-h-’ '‘desert’
Jsf 'slave!
P -4
et 'committee!
12 -
J-’,-) ‘man’

fL;; 'vear'
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1. Change the underlined forms to the plural, making any other
necessary changes. '
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III. Collective Nouns

Arabic has a set of nouns -- called "collective nouns" -- which
refer to a genus, a whole, or a group; most of those nouns refer to
plants, fruits, insects, animals, birds, fish, or certain manufactured
products:

>34 'trees!
CL"‘: 'apples'
. [
J—C  tants?
—% ‘'cattle'
fL‘:”‘ ‘pigeons'
: ~ 'fish'
309 'paper'
As can be seen from the above examples, collective nouns are
usually translated into English as plural nouns; in Arabic, however,

they usually function as masculine singular forms (although they are
plural in meaning):

)—-.:'5 »>>—4&  'many trees’

..t €
J_.,,:Ll CL-JS 'delicious apples'

The unit noun is formed by adding 47 (i.e., -a(t) ) to the
collective noun. Unit nouns are feminine forms which designate one
individual out of a genus, or one part of a whole that consists of
several parts:

Collective Unit
).;_...‘.‘ 'trees' 3;.;_...2 'a tree'
v > . - e
L&  'apples’ el 'an apple!
- - —o~
J—<> 'ants' » 3_Jo 'an ant!
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-

ng.i_.oZM_ & 'a small tree!

Unit nouns take sound feminine plurals; in addition, unit nouns
- ’/q 40?
of the measure °—

-*9 take broken plurals (usually of the measured'-'-“ ):

Singular Plural
- - o - — o€
4> 'a tree' u')-’*-‘. 2, .0 21
-’ - - ”/ - i
450-—-«' 'a fish! \'—«E.-w ’ dL—-—:"
.- "7 - foi
93,9 'a sheet of L5, , Gl
paper'

The sound feminine plural form designates a small number of

referents (usually 3 - 10), while the broken plural form designates
a relatively large number.

Collective forms cannot be quantified and therefore do not occur
with numerals; the corresponding singular and plural forms,

however, do
occur after numerals:

» ~ a0

Oyl Ceydsy Cyacie '25 trees'

- 1 a 2 o< e '
ol e five trees
€ 43 -2

)|_g~_...|;..‘.‘.r,'d.‘.. '110 trees'

Note: As has already been mentioned, collective nouns are plural
in meaning only; grammatically, they are not plural forms, Furthermore,
those nouns differ from regualr singular forms in certain respects:
they do not, for example, take the dual suffix, nor do they follow

numerals., Collective nouns » therefore, represent an independent number
contrast.

Thus some Arabic nouns show three number contrasts (singular,
dual, and plural) while others show four (singular, dual, plural, and
collective). The following are examples:
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1. Singular Dual
uL.:S/ 'book ! OL_:“_’:S’
o - -]
-’x‘:-'i fstudent (M)' -_‘,'J,-:.LZ
- L -, -
8 dpals tcoeg! O el
2. Singular Dual
022 1 tree! ng)Q*:
P ?) b ;‘)
ax o 'an apple’ )
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- 6. Replace each of the underlined verbs by a phrase consisting
of 99" and a present-tense form:
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v Jle el s HLTO LS Sacs wolUl (§ Js adl blya pic)!

7. For each of the following sentences, give as many paraphrases
as you can. The following is an example:
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8. Use each of the following words in a sentence:
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P
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CHAPTER VII

The Grammatical Categories of Verbs

Arabic verbs contrast for tense, mood, voice, number, gender,
person, and transitivity. Those contrasts are discussed below.

I. Tense

According to their forms, Arabic verbs may be divided into two

~groups: the first expressing a finished act (i.e., one that is done
and completed in relation to other acts) , and the other expressing

an unfinished act (i.e., one which is just starting, which is in
progress, or which recurs habitually). The first group are called
"past-tense verbs"; the second, "present-tense verbs". (It must be
emphasized that these nomenclatures refer specifically to certain

forms of Arabic verbs, not to the meanings of those forms; the meanings
vary depending on the context).

-

RETY Uﬂl;«b‘i 'He went to Beirut.'
. ! ;” %5;;:}@ Y 'He is now leaving the house.'
ol J};L’ u*" 'My son is going to school in London.'
. ol L}&Jg&d‘ gféi; 'He spends the summer in Lebanon.’
When preceded by = or ;;;; , the present-tense

form designates an action to be completed in the future:

S -~ O -

Jdasoe a 'He will go tomorrow.'

2 ;gﬁkj ' I will visit them.'
o R Ty

In some contexts, the present-tense form designates an action
which was “unfinished at some past time:

th;JNl’Ti’ - 'T heard him talking to the professor.'

The past-tense form usually designates an action which was completed
in the past; in some contexts, however, it designates an action which
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will have been finished at a specified future time:
w -~ 2 - - .
. C;.a.: 45 :»i,w :‘3.:., Los 'When he returns, he will have
' graduated. '

For the past- and the present-tense forms of Arabic verbs, see
the tables appended to lessons 132 and 134.
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4. Use each of the following verbs (without J,.__...m or ww )
in a complete sentence:
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The Grammatical Categories of Verbs (Cont.)

II. Mood

Present-tense verbs are marked for four mood contrasts: the indicative,
the subjunctive, the jussive, and the energetic; of these, the last is
rare and will therefore be excluded from the present discussion.

The verb is in the subjunctive mood if preceded by certain particles,
and in the jussive mood if preceded by certain other particles; otherwise,
the verb is in the indicative mood. In other words, a present-tense verb
is in the subjunctive mood if "governed" by certain particles, in the
jussive mood if "governed" by certain other particles, and in the indjcative
mood if "non-governed". Subjunctive governing particles include ‘3|

(which functions as a nominalizer), -T ‘l 'will not' , l; 'in

order to' , J 'in order to', and L;L: 'until, in order to'.
Jussive governing particles include ;_J 'did not', J {expressing
command) , and the prohibitive i .

When discussing mood markers, it is convenient to divide present-
tense verb forms into two groups: those which do not have agreement
suffixes and those which do.

A. Mood markers for the first group: If not doubled or defective,
the forms of the first group are marked for the indicative by -u , for
the subjunctive by -a , and for the jussive by the absence of suffixes.

22 -

g 'he writes'
0. EJ' 'he will not write'
».,;"S,Fj 'he did not write'

Defective forms of the first group are marked for mood as follows:

(1) A final -uu remains unchanged in the indicative, is replaced

by -uwa in the subjunctive, and is shortened to -u in the jussive.
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2 -

53 'he hopes'
[FSRA| ; 'he will not hope'
%_-;; ;j 'he did not hope'

(2) A final -ii remains unchanged in the indicative, is replaced
by -iya in the subjunctlve, ard is shortened to -i in the jussive.

¥ e = 'he builds'
:;:--": uJ 'he will not build!
o 'he did not build’

-

(3) A final ~aa remains unchanged in the indicative and the subjunctive;
in the jussive, it is shortened to -i .

- O

% s 'he seeks'
- -
Rt uJ 'he will not seek’
- e o7
et {J 'he did not seek’

A doubled form of the first group is marked by -u for the indicative,
and by -a for the other two moods.

D

J—-"V 'he solves({a problem, etc.)?
. 'he will not solve'

= P Ard

Jow rJ 'he did not solve'

B. Mood markers for the second group: forms of the second group

are marked by -ni or -na for the indicative (-ni occurs ofter -aa , and
-na occurs elsewhere); ; for the other two moods, they are marked by the

absence of -ni and -na .
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Indicative

Subjunctive Jussive
9'3-'5-_4 s 'both of them (M) write'! Cﬁ;&j l:ﬁ%_,’;j
9‘:3’5.5 L 'both of them (F) write' '::if :)j ':-{.*55‘:3
;,”*..i;;.; 'they (M.Pl.) write' |;:&: :,j | l’,.?f:FJ
:n:’:%:’u_:.." 'you (F.S.) write' q;3§5 :)j q-?ffFj

Ol;gf L:;..‘I 'both of you write' \:'-'-_55 Cj '?’S:Fj
- - g . 3
(J)‘:&: r:'-"' 'you (M.Pl.) write' |,’:’,5~ o3 |’.’5.. f'J

The hunna and the antunna forms are exceptions to this rule: both

are invariable, ending in -na regardless of mood (the -na of those forms
marks agreement with the subject rather than mood).

Indicative Subjunctive Jussive

:;:i; %% 'they (F.Pl) write' _ :}:1-5; :;j :;:‘:i; ;j
/"_._{ [ &

] /o)_'o: o™ /0}‘:
eSS GRel 'you (F.Pl.) write! Soc,CIRN goc.CRe
ITII.Voice
An Arabic verb, whether it is in the past- or the present-tense,

has two voices: the active, and the passive (see section II of Lecsson
132, and the tables appended to Lesson 134).
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1. Vocalize the formes which appear in parentheses after making whatever
changes may be necessary:

canl, ) (Gooly) s

cawlladely () rg" r-‘"'

e wlbdl Gy Gpe e BB T a0 g B
e b Ll (lact) o omadly KT

e R i

LY e (pratay). o

Tesdsadl F (pFplis) ) 15U

A e LBl e i Ve LSl ((1a55)
cadladledn g Ml (yaanl) o

Raslpl Gl pae (aezas)

e JLtdl e s (o) Blgnd) A Y1 e
S o e @ ( S=se)
°c.n-i£)-J':f'-’-eo‘(f;‘:zi:') Sy

e B3 dpo il (9 u)

e eV B Ll U p Lo Y1 (el o)
(o) Vs by S (o)
o nd! el (e

RPVNRE. | IFRRTS [N

b oty G (g lo) o
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The Grammatical Categories of Verbs (Cont.)

IV. Number, Gender, and Person

With a preceding subject, the verb agrees in gender, number, and

person:
w & P .
. |):-L"-¢:,~) ots 9 'Farid returned late.'
] L 3 e s, .
ety b can, b, 'Farida returned late.'
wE L2707 e °"
. g;.a.)-’-‘-« > ant:ed L__,'L’M 'My friends (M.Pl.) returned late.'
we P .
e sl as) o e v 'My friends (F.Pl.) returned late.'
. ld‘&;“—’y -—‘y’ 'Farid will return tomorrow'
. l.x.’ca.)f Sy 3 Iy 9 'Farida will return tomorrow.'
- > - . ' - < :
o lag u)""f‘;‘ s tjb-’-&' 'My friends (M.Pl.) will return tomorrow.'
- O - .
e lae Sanl L sy, veo 'My friends (F.Pl.)will return tomorrow.'
C i el T &

With a following subject, the verb agrees in gender; in this context,
the verb is always third-person singular:

R

Ly 'Farid returned.'

© ~ -

- . ' .
0y P San, Farida returned.'

L RPN

. L?Sli.\..dta_.) 'My friends (M.Pl.) returned.'
. Q’-“-‘-:Mé—:-;; 'My friends (F.Pl.) returned.'
R Pt &-:;:Uyw 'Farid will retum.'
N g é‘f‘;  Tow 'Farida will return.'
. gJsl;.,\,g,‘l é::);u,... 'My friends (M.Pl.)will return.'
. g:l-\gMJc-:-;;‘-’)-w 'My friends (F.Pl.) will return.'
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All of the affikes indicating agreement with a preceding subject
are listed in Lesson 132 (Table II) and lesson 134 (Tables VI and VII);
they are also listed in the tables appended to this lesson.

V. Transitivity

A transitive verb is one which can take an object; a ditransitive
" (or "doubly transitive") verb is one which can take two objects. 1In
the first example below, the verb is transitive; in the second, the verb
is ditransitive: '

r”» ;’/
L P 1 '‘Farid read two articles.'

. E;fdbuﬁlsiga?;g' 'I thought your brother is a teacher.'
An intransitive verb is one which cannot take even one object:

.)___.sGLLf 'Omar died.’
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6. For each of the following sentences, give as many paraphrases as
you can:

A e Ao [ LIPHI RN AP,

e omedl om ol el LSl

el & POl g U ]! e il i

PTY 1 PO CO | PN [YORAC [ PR C Py W SN TSNP
S RISV RRTI We ICYONTINNI L VPN L BT S JEN Y
. sk el

v aidle b, $es o1 Jslugl! U gl ledy L

Cosliadl e &Nw§|§dlubw.wlu6

oL Gty 01 Uy e Yl Sley e i B2
caskhadl goadl it W e ¥ o I 5952 e o B

A1 PLPT) IN W RER] SR JRCUNTIIRIOICY ) FNIRRISE o1 g2y

Kot o 5! Jolaldol; W Bl o al e b L begg St

v oaSe e gpele GYTaa U a5 L) G s ladt Sblaat 360

7. BAnswer the following questions:

L oo JHan 1 ey ol o i
Podyladlicgn wis allebSall 25 150
¢ s LtadV &y W) Gas s S £ V)

Ve ICTO] |1 ] VON FSEY & YRS
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8. Use each of the following expressions in a. sentence:
¢ sl e WdLdVido ¢ ol el il B S

d)-«vLol)a tL}Slu')b»c\—«-ﬁc ngLSl‘—L
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VIII

CHAPTER VIII

I. The Grammatical Categories of Nouns

Nouns contrast for definiteness, number, gender, animateness, and

case.

A. Definiteness

A noun is indefinite unless it occurs:

i ini ti ; e.qg. < ' ini '

(1) with the definite article; e.q., ;),JI the minister
‘_..JL,EJl 'the student’', RS IO | | 'the watch'

(2) as a proper name ;e.qg., _;f'_____;’,' 'Mohammed"', B;,/'

'Farida', olJ_i, 'Baghdad’

(3) in construct with a proper noun, a noun which has the definite
article, or a pronoun;e.g., S e u_al:S 'Mohammed's book'

<
S YIS 'the teacher's book', S 'his book'

(4) in construct with one of the nouns specified in (3) above;
™ . &
e.g., do Sl t&,.&.o 'the friend of Mohammed's teacher',
‘a___;_v_.Jlla_&_UIfj..p 2w 4> 'the students of the Arabic Language class',

o=l <&  'my son's book'.
A singular noun is nunated unless (a) it occurs with the definite
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article, (b) it is in comstruct with a following form, or (c) it is

a diptote ; dual and plural nouns are nunated unless they are in construct

with a following form.

The suffix of nunation is /-n/ after a short vowel, /-ni/ after

/aa/or/ay/, and /-na/ elswhere; e.g., ‘ﬂ;; 2 ‘Mohammed (nominative)',

1022 'Mohammed (accusative)' , o= 22 ‘'Mohammed (genitive)',
=

» T X . g .
Fl“ ' teacher (nominative)', Lf;: ' ateacher (accusative)',

¥-> v 5 teacher (genitive)' , . LL<?"' two teachers (nominative)',
- o

-

» - . . . - L
2122 ‘two teachers (accusative and genitive)', YA P44 'teachers
- ” . L3 .
{(nominative) ', Gn.La: ‘teachers (accusative and genitive)'.
-

B. Number

Most Arabic nouns are inflected for three number contrasts

(singular, dual, and plural); some , however, are inflected for four

(singular, dual, plural, and collective). Duality is marked by -aa

(in the nominative) or -ay ( in the other two cases). For the plural

and the collective forms of Arabic nouns, see Leasson 144.

C. Gender

An Arabic noun is either masculine or feminine; there are no neuter

nouns .

That a noun is of the feminine gender may be ascertained from its form

or from its signification.

The following singular nouns are feminine by form:
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—n

(%]
P
R
(]

. - -]
(1) nouns ending in -a(t); e.g.,5 o i 'coed',

g

‘teacher (F)', a...,;::: 'school'.

(2) Nouns ending in ¢~ (i.e., -aa ) when that termination

e o
is unrelated to the root; thus d;_j.:Jl 'the complaint' and d’){.j_jl

'the memory' are feminine, but ,_;.::Jl © 'the meaning' and u__:.::_]
'the building' are masculine.
(3) Nouns ending in el” (i.e., -aa' ) when that termination

is unrelated to the root; thus ‘|;_:.,; 'desert' is feminine, but® L.

] . . .
evening' is masculine.

The following singular nouns are feminine by signification:

2
(1) All common and proper nouns which denote females; e.g., ‘;

- b
'a mother', ,J..,;s ' a bride', &2 'Hind (feminine proper name)'.

(2) Proper names of counties and towns; e.q., )__'a. 'Egypt', oloa,

'Baghdad’, .,_)..__“,)l; 'Paris'. The following masculine names constitute

2
some of the exceptions to this rule: 3 l: A 1 ‘'Iraq’', ) S;‘Y { 'Jordan',
©
o b "Lebanon', losud! 'sudan', < ,——sa! 'the Maghreb',

)-l_;iJl 'Hejaz'.

(3) The names of many parts of the body, especially those that are

. - - A
paired; e.g., w..”, ‘'a hand', J_';ﬁ ‘a leg’', u;‘ 'an eye', C)*"
T | ] I-ﬂ T thl.

an ear', . a too

Some nouns are feminine, not by form or signification, but merely by

usage; those must be learned as items. The following .are some examples:
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- 'war'
P 'land’
}'fy| 'the earth'
)Lf 'fire'
) 3 'house'
u';; 'the soul'

u..._.:.JI 'the sun'

D. Animateness

Plural nouns fall into two groups: those which refer to human
beings, and those which have non-human referents. The first group
are called "animate nouns", and the second are called "inanimate nouns".

The following are examples:

Animate Inanimate
rd 2]
J.,,:){S 'students (M)' : &-45 'books’
) .
PV <
1ol "teachers (F)! el 'watches'

Inanimate plurals behave grammatically like feminine singular nouns:

.-:.‘—)L_...u.:; ISPV LA Ys_g 'These coeds are pretty.'
o tdien ;;:SJI o LR 'These books are pretty.'

Animate plurals are replaceable by plural pronouns; inanimate ones,

by feminine singular pronouns. Thus<!awlzd! 'the coeds' is replaceable
w 2 » ..5 “ ' .
by (o—>» ; - the books', on the other hand, is replaceable

by (® .
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i ¢ bWl o
el ¢ gadaddt ol
aio  fe LRIl 0
elaa ! S‘c.LJ.n..Jlo_;l
RCFRN STONER] oy
Wil ¢ asldl ol

das T oL )

oYy TN

: Jb. ¢

e Bopl e adlle losfas

oy e sobledls
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i w . W .
°&H0(&ﬂ)gww§%km%wmélﬂgul

b

(nS) eldiu,adleda g5

C (il ) LS

ol s lad 5L Lt () 1S gy Llecsias
pradlinl o B (Jasb) cllecoas

f( deom) crabaad) Jled das

s b ¥V gyl Ly s f Lol () el oY) Lo b i

o Bl o Gpeins (Sppne) oo pifall yom

7. Each of the following sentences contains an underlined word. Use

the plural of that word in a sentence:

€

. 8,5l LS LWL l),.br.”..‘l:.!l)l):ig,.;’...

c wnsSe 3010 B 28 el ey

f3 il i, adl agpad! o GIld BB Y1 Ly oS

NCUNTN | [ SON | PR | (3N NPT SRS e S B3

S LI NPT '&ngﬁe..'&,dr

. ;:,,fl o Lo ;,.3.,.;3U ol

T g andl Goadlo oYl Gausldul; 5 o U

NEE SYPURUURD 1 1S IR VS| F R Uge
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8. Negate the following sentences:
- dlpbomploa Vi 1y
| L VO FCP | RN
PSS LY L] I P [T AR T RS TOTR FeT)
- XIS PP RTINSOV
o gorimdt L iy el e
Ul om apn, i el eyl
e W el 2l LBl p iy e o 0 S
c oLl Gy delaul e
o onddy A1 SMaJL Tosl
.EJ‘L_....JIO:L:..,)_..L..JIJ,»JI),L:
s obiily B by a5l e By e !
O 1L PR I NPT R SN TP IR SN TR

9. Paraphrase each of the following sentences:

c St pt Lol agSadl cle

casgdl LS O B b @ Laggaz, Gl aeSad o1 b
T Y] S N RS W DU T GUREAST
o Al JLollis 2o ol 5,

KD O 2y O R T P

.;n:;L_”tL;q.erl.J
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el e Kl e @S, a0 ol esse

REPROON | FY FCRON S P e -V DT E-CO
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The Grammatical Categories of Nouns (Cont.)

E. Case
Case marks the noun for grammatical function. There are three case

contrasts in Arabic : the nominative, the genitive, and the accusative.
In terms of casé inflection , nouns may by classified as follows:

(i) Those with full range of case inflection in all circumstances:

Nominative , » Genitive Accusative
S LUl 'the book! ) st
o 1 ' *
— LS 'a book : kS LLs
b

(ii) Those which, when functioning as the first element of a
construct phrase, show a full range of case inflection and have a special
set of case markers. This class consists of the following five nouns

(each noun occurs in construct with a following form):

Nomiriative Genitive Accusative
P \ - % Lk
o1 'your father el ! Ju
s,;..l your brother els Jis !l
&Jeas 'your father- Waas Iz
in-law’' -
- 2 -~ -
g3 'your mouth' “Ls g
PR - . RS
JL 40 'wealty’ Jbgo JU o
L4 L d . - =

The third and the fourth of these nouns are uncommon.

(iii) Those showing the full range only when they have the article
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or function as the first element of a construct phrase, but otherwise
show a restricted range of two contrasts. When without the definite

article and not in construct with a following form,such nouns are called

diptotes.
Nominative Genitive Accusative
.i,.)l.;._ll 'the schools' iy)'d-“ 5‘)"““
» ] L} - -
oyl 'schools oyl e oyl e

(iv) Those which have the sound feminine plural suffix. Such

nouns show only two case contrasts:

Nominative Genitive & Accusative
LL__“ 'the girls' e Ll
2 . ’
<L, 'girls’ o L,

(v) Those which have the sound masculine plural suffix. Such

nouns show only two case contrasts:

Nominative Genitive & Accusative
- 297 > . . -
oy 59 2 'Farid's teachers! ;LU’ 2
> Ll

- ,Q ] ] - x _,
& Teachers u,,_.J_._

-

(vi) Those which have the dual suffix. Such nouns show only two

case contrasts:

Nominative Genitive & Accusative
. . T
¥ Wel 'Farid's two teachers' ey Cpdaa
- - > r
,~= -2 3 h 1 O - = P d
) s, 'two teachers u_\..L_._
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{(vii) Those which end in —Rzii (where Ry stands for the second

ra&ical) and have a /w/ or a /y/ as the third radical. Such nouns

show only two case contrasts:

Hominative & Genitive

Accusative
gjljdl 'the invader' Ziﬁ|;|'
- -~
;L 'an invader’ E'E

A

Included in this class are defective active participles; e.gq.,
- e
e "buyer'.

Z

(viii) Those which have an invariable form terminating in -aa

{un-nunated) or -an (nunated).

Nominative, Genitive, & Accusative

! 'the building'

=
= o~

: 'a building'

(ix) Those whichh have an invariable form terminating in -aa

(without the alternative pOssibility of -an ).

‘Nominative, Genitive, & Accusative

d)lu (feminine proper name)
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Given this classification, we have:

Case
Nominative Genitive Accusative

Class

(i) -u/~un* -i/-ig ~-a/-an

(1i) -uu -ii -aa

(iii) -u -a

(iv) -u/~-un -i/~in

(v) -uu/=uuna -ii/=~iina

(vi) -aa/-aani -ay/~ayni

(vii) -Ryii/=Rpin*¥ -Rziya/-Rziyan

(viii) ~aa/-an

(ix) -aa

In Lesson 146 , it was stated that a verb may be either governed
Oor non-governed; similarly, a noun (in the majority o< contexts) may be
either governed or non—éoverned. Non~governed nouns are in the nominative;
governed ones may (depending on the governiné element) be in the accusative
or tne genitive.

A

A noun may be governed by (a) a verb, (b) a particle (such as a
preposition, Ed or one of its sisters, etc.) , or (c) another noun.

In the first example below, the underlined noun is governed by a verb;

in the second example, by a preposition; and in the third axample, by

* The slanting line separates the nunated and the un-nunated forms.

** Ry stands for the second radical.
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a noun . In the last example, the underlined noun is non-governed:

2.2 . . ..
e Olrleibs i ‘I married a girl from Iran.'
] 2 ® ] ;o - 3
. 1 ok Y s bLs I was introduced to the professor
ot "’J& / yesterday.'
oS Jl:....‘Ylg._._.S.’ =: 'The professor's office is large.'
) SN | 'The director is absent.'

Nouns fall outside the governcd/non-ygoverned dichotomy if they fill
adverbial or adjectival slots: those which fill adverbial slots are
in the accusative case, and those which fill adjectival slots agree in
case with the words they modify:

. ()_.‘Ig,_,\,. LJE,. A F}’jl Lo L-‘l 'I am here today as a result of
N what happened yesterday.'

. € . - £ .
RES] - DHp | RS S A oa el 'Your brother Mohammed was in
T — the professor's office.!

- o 1 0% l_,.‘l g_o);‘l I know vour brother Mohammed.'

L I [ . s P " .
NP T PORT IS R PYESH P 'L was 1nt_r?duced to your brother
= J Mohammed yesterday.!
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1. Correct the forms in parentheses if necessary , then vocalize
them:

copmlil e p bl oLl (sla) cwll

o e oo (OLS) &p

c o e (QWIb) el

e Bypae (deay ) Hon

coupuadl (adadl) Jeesies

(OB kL) L doas

-’ a0 35201 Cr_"zﬁ-ﬁ (+5) “'"J;

S bolyegliale (SR sus ol
o Geall 1in 3,031 (s ) pand
At 1E, B i ae (o)

c (0s) elb Sy oLt

e xS Jl (59) Ja, Geesias

L e (e Ys)

o bl n ) gl (Upne) U e

cosd! rleo woadl (piBadly ol LB
D bl CRrL ) IECSERINTIE 7001 ) IR

cS el an b s Blada ! (e BEdl) etz

N T PRCTNN ol (e Wil sglc_.l;

L] (o) B adl ein § e
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s Jl v
RN L0 PP NUSFRR VT O PO

Jub‘lh.a,,..kd,.l,.z...;:..n
dio Laoleld Jleesres
Wlaadl . GSeis

o .;,.37_19*15@
B . ol L
Syall o sl peay e addl pasa |

CRRVPEN [ RRCT DU R Py

Cogr oot ,e el e wasilindl g o8
a;,.._u‘u.m celoblYIELE

olds o pladl paney,

: .
By ad) o eyl add) ey calil
3. Negate the following sentences using v...._,J

.gbli e D2
NS) PRVEIRS O YT IO
BT Lie oo it L
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coBadliabd G il G 5l g}

4. Vocalize the underlined words:

RO NE RS- CARE OW | BN | I PR T JA %
ot oF l,e..b’),ﬂ_l
o g et gl !

tadle o le 3,0 0 s" J

VT L D) INCR T RO VN ) R RT | PP o
FCIN ] PN [ WOPIER S [ U
I PP I i PRSP P

NNTY--N ] JCTR-FLY W) S I

Vil Slew s usl $ p6 s Wl
caSod) 55 Gl
P ladlasodl 5 Lok S

L a8 3L e 56 e s )y G has

\ 3

-

Sl by o say S et B

e cpame.
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e S g P S S

¥ ¢ sl padlcus Ja

s ¥ g pan bt Gy Jo

¥ § shidlein p Ghdtee el i Jo

PRSI S S A OV NRUPIN O DI | I P
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II. The Grammatical Categories

of Adjectives

Adjectives are inflected for definiteness, number, gender, case, and

comparison.

A. Definiteness

An adjective is definite if it has the definite article, and indefinite
if it does not. Examples of definite adjectives are — Lajt "the great',
t;-«dl ' the bad', bt 'the clean'; the corresponding

indefinite forms are pe L ' L r WY .

In regard to nunation , adjectives are identical to nouns:

Nominative Genitive Accusative
:,;;: 'Egyptian (M.S.)' ) {3;2.: E;;:
91{),;: (M.D.) y_;r: 2.
:),__'E!;: (M.P1.) | Sl %
f‘é;;:Jl 'the Egyptian (M.S.)' _:,!.‘L,JI fé!;:Jl
9[:!;:“ (M.D.) 9_,;_3’, 2]}

(M.Pl.) ) - @ o

:,:' " J1 & . 'Egyptian (M.S.):1 3:...,.».“ 'Z‘s)—a- .51-—-*-“ A‘é)'“'
aeied! By (M.D.) ) (e
s 4 P .
Aol fyan (MLPLL) il o
I '‘great (M.Pl1l.)' o I
o J .’°i 1 v ° . T°i
Ee f‘l”' greater than O— f———'”'
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B. Number
Adjectives are inflected for three number contrasts: the sinqular,

the dual, and the plural. The dual is marked by -aa (in the nominative)

or -ay (in the other two cases). For the plural forms of adjectives,

see Lesson 144.

C. Gender

An adjective is either masculine or feminine. That an adjective is
of the feminine gender can, in the majority of cases, be ascertained
from its form. In most cases, a feminine singular adjective consists of

the masculine singular form and the suffix -a(t):

Masculine Feminine
£ 'great’ il be
== =z
s ¥~ 'had' aarl
s 'clean' as bo

Some feminine singular adjectives end in -aa (e.q., e : ;|| 'the

2
youngest', g]le 'the highest', L{;;ﬁ!l 'the other'), and others
end in -aa’ (e.g., ‘I;;_:, 'black' , 'l;;;j; 'barren, desolate',

*Lf 'p1ing').

D. Case
Adjectives are inflected for three case contrasts: the nominative, the
genitive, and the accusative. 1In regard to case inflection, adjectives

fall into the classes which were defined for nouns in section I E.
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Class
(1) oot}
)j_-.ﬁes

(ii) 99

(iii)

(iv) élp“'

(V) sl eS 0
(vi) 33“3’J' Q;g:'
(vii)
(viii)

<

{(ix) ﬁ;

é;

{
Q
)

Nominative

'the big!

lbigl

'endowed with'*

'the red (F)°

‘red (F)'

'the beautiful
(F.P1.)!

‘beautiful (F.P1l.)'

PR ot
'American (M.Pl.)':fha:ie“ ‘;Sgg)-' MAJ'@,'

“"American (M.P1l.)°?

‘American (M.D.)'

'American (M.D.)'

'the hostile'

'hostile'

'the (one) named’

' (someone ) named’

'the highest'
'highest'

Genitive

Accusative

A
o

c;)L“L
-

- - o'

=7

-

L2

Lle

S
DS

§>>LFJP

ra

-t

- w o
Cﬂﬂigr

-

\

vg;
Qo
R

3|
°

\
\
\

E A
£y W
W E:

. \
fob
v —

=02
W]
oy

P

* ,_3 may be used as a noun {(e.g.r L&ly )C"““ Y .JLJI",'_', 'a wealthy

person does not always succeed') or as an adjective (e.g., Jbwlaalll g0 Jo Jl

*the bearded man is a professor').
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As modifiers, adjectives agree with the modified noun in definiteness,

number, gender, and case:

e oS tan 'This is a new book.'
.&J,llaJl ul; e vt T S 'The new book is on the table.'
. féra‘Jlg:_JUaJl ’C"“" 'The Egyptian student passed.'
ool aadl OL,JIJ:JI =~ 'The two Egyptian students passed.'
&
. O;)A.ch__,)uaﬂ == 'The Egyptian students passed.'
. &)&JIEJILJI o 'The Egyptian student (M) passed.'
32 13 | : 'The Egyptian student (F) passed.'
€ . » [ .
o el G yae Sl Ll 'An Egyptian professor visited us
- yesterday.'
[ t £, t . ' .
o el e ol e I met an Egyptian professor yesterday. '

'I was introduced to an Egyptian

€ 1] >
) ey oo Jlal &9 jas
i L_i_ ol professor yesterday.'

E. Comparison

There are two contrasts within this category: the positive and

the comparative (see Lesson 140).
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1. PFill in the blanks with an appropriate adjective, then vocalize the

whole sentence:

e Ol Y e el e g

o omepedly B, SVl e e B e P (]
e bt e

- gl e WL, yade

- e & e Ol 8]

35l s roa W e IS Jom
o — iy e WAl

o — b J,s 8
PSSR AN ] NI DS PV PUCHORT
p Lt i)

cBludlein g

v ok S ot EY

Blne (Sgtumey (geiest | plaz,

C“)%J'.J‘-“-e“"'))
@ ot m———— ‘;v‘:h:“ gl!w‘h'.'m.‘;;

. CA;JJJ|‘,H C)Jd|rjk Vo uﬁ&luJ'

. ijzu;Jthd';ﬁ':;ﬂ,t LJu;CLa~H Y gﬁ

SEPOUFLTLIFY | Ui OU L S p— S L L

ol P gsatly blallle, o
PN I, CE T RN PR VNI W | e
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w

L] o . =
- —_— uLy*.b.éiNS3.404J|3)|J!ua;b

SO 1 ¥ DR ¥ SHPURPUSS 1 P T

e hels bl i Sl e Lyl vus 8
wloles Gl llony o Lyl & osradl e S )0
sl Ll ol
¢ LB g il His N

o Lolaala o

FE JUCUR - I ENPURTN BN

cdagSadl Jla, , LS el _clshl Al

03 Luad

B Gas B Jodl ks,

2. Correct the forms in parentheses, then vocalize them:

C(F) Ol sl (gnl ) st

c(oEal) omusala oY1 Jla, Jize!

(GBS i) S () el Ji
Chadiedes (50 ale aguliol, IER]

c S Gl Spii (53) GBSt

o ( o) c.-.l)ll.L..Jl o P ostilc b

(A1) ebly e Jisdd b iy

ST el ((Bhe0) WBEY L e ol Wity

. okl (=) Ll e d, bowis 3, L1 &y |
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c(asl) ppa OGN el e 3

caliadl 8 (b)) c LIS lecstas

¢ Al S (aan) el Ll agSedt e s
(Jetti) S LR Lt i)

Ul Gty 5 (G ) S INT I

< ( Papaa ) olals pdl L

PSoadles alatll (pedn) Tl ppdl uddyd | el
foriadl gaiylay () tle; B G,

b () 3L Sy s W

3. Change the underlined word from the singular to the dual, and
make any other necessary changes in the sentence:

VTS TRNTIPRIN

s Al s asl p Lise yedl B

RV S0 ¥ PO

% - . .
el Jlb G Lpppandlp i 5

o W LSE, 2a

32, Ot i

¢ Grldl Ll il (Lt Vi
S TR Y
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- Floloedlipall ol
¥ JENTREPIS WITT L VEONTINF

'J*J“:J'bwg')'t)w' | IRT'Y

4. Change the underlined word from the singular to the plural, and
make the necessary changes in the sentence.
b sy ALl 5 G
[ . [
3 . . ‘
i Sy ] oW
. qw €
. WS dull. g b, U

.‘U,...Zl:ic. .JLTQ'L?.

. .. L
o U yeveus ¢r.* J}u'wM UJ

L] [ ] ,c
e o dl S YL ELat]

e o Glau i gedl,i Bisdladll Slea..
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CHAPTER IX

Particles *

Particles may be divided into two groups : (1) governing particles,
and (2) non-governing particles. The first group consists of (a) particles
which govern nouns, and (b) particles which govern verbs.

I. Particles Governing Nouns

Nouns are in the genitive case after certain particles, and in the
accusative case after other particles. The genitive particles are mostly
prepositions. Listed below are some of the most common prepositions.

\.,5’ 'in {time and place); within,

inside’
. . ‘
. }:5‘ T4 NI § 'The professor is in his office.'
S (prefix) 'like, similar to'’
[ 2
s B ol 'Your teacher is like your father.'
J  (prefix) 'for;to; due to;for
the purpose of'.
. ,‘E-.'-ty LS -1 'He bought a book for his daughter.'
S 'with (possession); at, by (place
and time)'
p; - ®. < . -7 . .
calSad) o Jas. »P- ).U)-“ S JJ_)«:-J 'The minister does not have a

detailed report about the problem.'

* The purpose of this lesson is to list , rather than to discuss,
the most common particles of Modern Standard Arabic. Most of the
particles listed here were discussed in earlier lessons.

For a given particle, only the most common meanings are listed,
and (in the majority of cases) only one example is given.
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« & ogadl 6l ad ) ESL G LS

2

. 5 .

‘/
Except for g= ,

%
it
-1\
A

.

b

Al
&
ot

G .-
u&."

caoll il a b B Qb o8

-

ol

TV E YIS ¥. o1

-

o

o ol alian 55 el Sas

-9

it

- oLLS SN s

-
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'with'

'Mohammed has a watch.'®

'from ; of'

'I am from Saudi Arabia.’

'since, as of (time)’

'I have known him for two years.'

e , the above

'to; till, until®

'I went to school late.'

(prefix) 'by means of; at, on
(time and place)'

'I went by car to California.'

'till, as far as'

'He was a student until the end
of last year.'

'on, on top of'

'The book is on the teacher's table.'

'concerning , about'

'The minister talked about the
fuel problem.*

'with; at, near, by'

'The teacher has two books.'



IX

Prepositions may be followed by pronominal suffixes

o D an. 'He has a book.'
. L;.:. a.cL..Jlo_—..uJ 'T took the watch from her.'
P v -
. L ;g:. NS 'He spoke to us.'

ot-]‘oooooco

The following are the most common accusative particles; they introduce
nominal clauses' and govern the subject.

f')l 'that (when used as a nominalizer);
certainly (when not used as a
nominalizer ). '
I e Vot Syl b l.Jls 'He said that the minister will return
tomorrow.'
%
C)' 'that (nominalizer)'
. ule W ¢ JJ' f) J; 'I know that your father has returned .'
st
Y] ' as if!
C) ‘5_‘:‘,’5_,,_1! JL;YI .)S_, 'He hates government work as if other
¥ dﬁy' .Jl..cY' types of work are better.'
t!)‘y, 'because'
U‘l’ U‘“J ),_\.JI G y. lss ! ' I resignd because the director forced
2 o Y me to do so.'
U_:.J 'perhaps, may be; hopefully'
. i y E_,,Jl ﬁ', ;/I 'Hopefully the situation will improve.'
Z.SJ 'but®
RPHIPoS | ‘_g|_.-,,‘| G.jl ¢ ),.x.Jl:b);l 'I know the director, but your brother

does not.'
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'would that, I wish that'
- - - o7
G s Cymd1 3]

'I wish the war would end soon.'

= <
As nominalizers, g;l and

Vg

Eﬂ precede sentences which consist
of a subject and a predicate; the choice between the two is determined
. T} : . .
by the environment: Vs occurs in certain contexts (in the most
common of those contexts, 51
w
(%

follows a form whose root is u’) @)
occurs elsewhere:

-
’

e SN G I

\

cophs aSadt ®

(%

[ 3

. 1 ]
el

-t

'He said that your brother is sick.'

I know that the problem is a serous
one.'

In certain contexts, the noun which follows the particle
in the accusative case; in the most common of those contexts,

L s
is in construct with a following form:

the noun

o ol L 'Mr. President! !
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1. From the list which introduces this exercise, select the most
approprite particle for the blank in each of the following sentences:

s.:l.i-au.lsc:gc‘;:»c,.».'c:ll J;sccocg,.‘lco:tytgi
u.ﬂcg

- ) r—‘n"‘,ib.o.o.‘dl:&-l'*.l‘-’ﬁg

. (J&i-"y|o-ooo.‘f)'dsjl oJ A J')‘

”r) 'u‘-“

Q&MOQQQQVL‘SJ";&Q&L’}”

. c)')’\JSLt:oooo‘

.d),,,,,;.....”o;LlaJl.....s,;,l,iL..

chalest i e dobdl il oL ESa2 i

@l lomdsd) oo a0 de e,

- el o),.L.uL.......t,:i......d.E,.Jl;.__:,.
vaaSedl e B Y e sl ol e s ]
.a:...,')‘.a..... J,,..L:J'}S.‘i:.

ROV N R SR TET TR 7| R Lo | RIS 19
SO DN | 17 U O U1 -, ST POl Py I

VY% | R 1 VT N | I S

ctaSodlanln oot s g *ledl s,
ceslal,ly .. G

U] S JUCRN PN | R CI|

cdasldlasll oL ploa ¥l U2
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e sl s woa jola sl DU £ lias

N WUV 1 G T [VRUURURP Y JU] PSR- o &
e TN | | P L V1 = SO -4
.,.a......,;,L'i..Jl.....r.a.J).l.aJ.,rJLnJl.....w,J
e dipdlt ey el Lol LY L g

o ldl ..., q'..,l....c.._hz.i

c ol i el s,
T LINCT WP

o b e e 0o e damnladl L., canall

c ol il L e e o]

oLﬁJ!.J,mL"ooo-o a)."-oocu Jg-&.«o’-b
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Vocalize the words of the following sentences:

e et AT LV SR SR
el e gl el T

e O LI UR Lo P PR
-W'W'oﬂwlﬁwf'

R RTINS N SN | B NP
c8,201310) P e 55 e JLaJ) 5

e gl A Al I e WS s sl
ci !t gelsth)icals

c o Qe we g,

o ashpdl e Lo o lass) P eSS el

NEEVINTN ) [P (PSS [ RS S EPON | PNY S

SEUR LINCER PR LS I DO WU PR vy JEPON | P
e oeds U G padlica s

| | NPTV PO LIV NP
SWIOE Sl dhs Gl s usddl WVlase Gyis
e bud P A, Lo web e b usddl e LYy led; L
colpd b fpe €1 s ! Jen S Lo
el $ 505 Gpiny 3usddle Yyl

. \lfj|ﬁ‘!3“L“‘<LN3)')l); el so

o b s a5 ol Y pogdl ik,
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IX
sl e Gl 5hadt U Jgid! Lhsd)
¢ o Gl e It
ol Flen B sl VLY 5l i
e shdl Pl poy wis Wl s
. JJJ:“-‘”):"‘; ¥ LS bl r“‘):“-"'
o sz BRIV Jd L, W 0 ok
ST R ECHEPN ] FOW
s sl GLadl e L JONUT e
o Al il e ppli W51 b5 L) G
C e dosy L W
3 S Y SO EWTROF. OV I
o omedpd | icel proe w1 s L
L UL | Y FPPRC SO R PP E ) RO PO
il 5t e o s VLY Sledlin b L, cond!

.r_ﬁ.u;:lfus..\s.-.
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3.

IX

Answer the following questions, using complete sentences:
P o &S e pe
(PR S
f s bgascon Jo
LN IS
Pagpnd i els;la) Gle Jans
felon Yl b, o ug..,.
fa adl Jdoa! g G ad!l ad) rov Jo
? asle Yl ual el s Jo
03,0 lad1 BagSind) s g ! 5l St Lol i 31
? oo Sazs el e S
T el el e CLJB U
$ s B gl Lad b adl o o ¥ ded Ladl ol ) Citliss Jo
¢ byl 5 Gy &Y Le B U
¢ L.,J'.JLE;L.JI,S
T gl gy ) S s 3 lad! 1 e
ISR WERSIRIPO.S | PRI N WIS TR )
SIS TR T P) ] IR B PN NPT PR T
T ola, g psal!l aadadt Yo 5 Ja
Capo bod | G adl e Lojed a0 00 jmae o9 J2
¢ I e s b e UanS
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Tormdl dpfi oo prines ¥ LU TG s U
T omadlee G5 Lad 1 UB Jo
Pl Gl $ Gl o T sizas s

4. From the list which introduces this exercise, choose the item
whose meaning resembles that of the underlined particle?

ceds om0 6O 3 e Gl i lo 6 5 e eS¢ a0 o e
oli ¢ Ju
v aopm) Gall el
« ol sy pladledd

» ol e LS b Ly, s

| s oan g Ol s oylaz,

caladl gz, L?J)i g L«J,S,ZJ.».E.JIoL.Y,ch‘.;.L;l
<oyl L__,sz»..*.n.;,l.,y,n_s_ STON | PO

.« e (g Ll @ un,

cgposadt 1in e 5,8 LS el 5 ual

el Jyoy s aandil

A LY L 3] -  ESOPR

5. Correct the forms enclosed in parentheses if necessary:

ci a1t s Y St (1 )8 ! o]

C Yl aes Gerb o5 Lag as e By liss WILJII( ) b
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DL e (5] ol e B

o e e fol s ) (B)) wrndt o

e Uplalos Glo 2T Syl (5)) CIIRING ny
PYAYY B e Bl Ly e (81) 8 by Ui
G G S Y P st (B)) e

felpin dar Lde oS gl 8l (31) cie J

T it aadl el V1 ool piin opnd! (51) GYI Db Jo
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II. Particles Governing Verbs

Present-tense forms are in the subjunctive mood after certain
particles, and in the jussive mood after other particles.

The following are the most common subjunctive particles :

(Y4 :,‘l =) gil 'not to'
.r,_._]l;_q,fl ;ﬁ L;.L_J_l, 'He asked me not to go today.'
:ﬁ 'to (nominalizer)'
. rﬂ‘;chl L;‘| U:""T“J“l’ 'He asked me to go today.'
U:z; 'until; in order to'
o Jead! G'f:""" ug*; u""‘l“" 'I will stay until the work is finished.’

that, in order to !

@
-
o

'We will meet in order to discuss the
matter.'

:;J/ 'so that, in order to!
U] PSP e 'We will meet in order to discuss the
d us-! ' matter. '

-4 Y

o 'will not'

- €
TS A ] B ' I will not meet him.'

-y
) }

. - k] °
The nominalizer ._';} (or O } differs from U

in the following respects:

-
@

- [
(1) £ ;,' (oxr u' ) is followed by a noun (or a noun substitute),
while &1 is followed by a verb.

— —i
(2) The contexts where 51 (or :')1' ) occurs usually express
a fact or a declaration, while those where J } occurs usually express

a wish, a desire, or an obligation.
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IX

The following are the most common jussive particles: *

|} .

o — °—

o las e ad

oLy

. ° .
oldﬁk-.—-ﬁ-\:y

expressing a request or a command

'Iet him go tomorrow.'

expressing the negative imperative

'Do not go twmorrow.'

'did not'

'He did not recognize me.'

* The list includes only the jussive particles which were taught

for production in this book.
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IX
1. Vocalize thg words of the following seﬁtences:
] T ETONT R D-JPCY P BT | IO
e LI [V AT K SR WP APIE Y
coadbala g (] J) 0loy e o
CrelE Jeallye sl
CaebadlaSe U Ja dlae L alm s o 3 uindl JB
sl bde b S Sl L) UG des JlGE) ol
ool G adl L Lpae e ST T g o el b
Pl bloa jhadegm I sl oan e
e 98l ugiall s thay badt JI LRI b
craddliale S o pladl Tan Jypdl e oDl k) 31 asSadt culs
| e I i Ll JLEYI ;,;,.AJIJS_.,,{.J
coudn g AN Gl G edl Jolis o e Y
ey o i
S QRIS (W T I PP
cipoladl f Ll U Soall 1S Y

2. From the list which introduces this exercise, select the most appro-
priate particle for the blank in each of the following sentences:

rlelc)Jlui-’l §"

e e il U5 oS pibgd e b
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URTINCTS 0 L o T [ QN Y
clloantlasldl dssob e e
o o GLBogadl e il sl aocdb
ool LIl iy s el SN s
vhan Ll aslldt ds disd) Jlow i b S5 sl pay e casS!
oo gy i) g e o]
‘ &UIW‘YI & il ———
o p ol et s b uadlaie byl JL G bos Jin,
N PURS PR | b VNN | U5 1 SN | [N

SUR LT P U SR RNTY

3. Answer the following questions, using complete sentences:

T ol et paaladlalls gaulut Tag Y i Ja
? g.aulﬁ.ufga ol Glesl 1o

T ploa Y s, J 1L

P asd! oo L3 VY Skl el b 1ol

? alSid) wae s gg bay s e b Jo

To b ¥t Gpas SVl Jain Joa

P YU JUC Y PO ) P P 0L B PP

T alisd! I elshuol e i o il

T o ly Syt g,
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IX
L . &
flhaean,wd!t Jlea o JI
£ 3 i1 el 3 1as G ,as Y1
6y vadl el e o e lyRs

4. Use each of the following particles in a complete sentence:

= Z
g °

;j « Yo J EJ ¢ :;4 s °i ¢ > ol

-ty

(V&

5. Paraphrase each of the following sentences in as many ways as
you can:

VRO OV OPCORCI (R | B PO v O G VY] PO YT
RO O NC WL PR IRt

‘°ﬁ-’-“3%‘->-“ O Jopdl e e 2] e Y

S I L e 5 ) Ly i e JLT b

SO WL PN | R TP N | DO BOPOR

R el e i e

G lo man bl as L) U adad! T o)

C Gl S g e bl by Y

o o) Bl lle ooy ué-»'&-a-'-?J' RIS FARTOW

calldl g YVlalda, wdl el astall aup Y
coEdlinle Goll Ll il o DI p )G,
b Y gl e s U e Lalaitedia )

el btV oyt o pyd Vg1 udine puSien
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IX

6. If necessary, correct the forms which are enclosed in parentheses,

then vocalize all the words:
o Al 1 (O)) e
cplin Y1 jamn oY1 (2Y) cs
S JST b ey el
o (St L el gl b
RYRSV | - VORI P O O PO OO B ST SO PO )
o aaly o 31 IR ) SEWYIG e,
v Lo ttaa! cds 1w Lasd () JLTedb
S VIRV CTUPESURS- (sﬁﬂ) O PO%
VPR LITTEY) IO R VNP

o e

C(Bhdlel § gl ) aegSad

R S PPy S RPN YA FRSCR U]
R O] I NI IS R PO Y S
-h—‘:;-"-&—'-—-eia-‘";“ (&1

(s o P 3B) ety ]

7. Negate the following sentences:

o Lpl Qe ey
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IX

el e p ot p b Y1 deg B gyl le S 9
v oV aiaby ) e Sl i Gy
cacSJl Jlo st uloy e ol

e gl g Lali) of Ll ae Jgpd) et £ Y
caialle b lsl o &)l Jb

Calyb i Lp loa Y1 gy o g

RETCU] PO R W | IO Py

cpee Y1 13 Wy s gy i | By Sy

S o Ter Yl g

e e crimald pipl! ) i

. 3 5 5 5 LY i

8. To each of the following particles, add as many members of its
family as you can. The teacher will ask you to use one member
of each family in a complete sentence:

w w J °f
Ob ¢ g Yo Ot
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ITI. Non-governing Particles

The most common non-governing particles are listed below.

=\

-}
o Sl Wl S5
CSETTW G W
151

I3

SN 2 (] P KPR Inr S

- o

1§

\p©

(prefix) interrogative particle

'Do you know his father?'

'Since (cause), because!

'I will not go on with my studies
because I do not have enough
money. "

'if (conditional)’

' The meeting will not be held if
the director is absent.'

'therefore, in that case'

'You say that you are from Cairo;
then you are an Egyptian! '

'or (in questions)'

'Are you a student or a teacher? '

'or (in sentences other than questions)'

'Eat an apple or an orange.'

'that is, i.e.!

IX

'I receive a letter every week, i.e.,

four letters a month.'
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S P T PP O
Syl

= lodl J1Ce 51552

. L,...z)S.,.E...sl;

vocative *

'"Priends !'

'but, rather, on the contrary'

'He is not an enemy but a friend.'

'Yes (in answer to a negative question)'

'Did you not go ?'

'Yes (i.e., I did)."

'then (sequence)} '

' I spoke to him, then to her.'

‘when'

'TI will talk to him when he returns
from his trip.'

(prefix) future particle

' I will go to the mosque.'

future particle

'I will go to the mosque.'

(prefix) 'so, and so, thus,therefore;

then (sequence)'’

'I punished him, and so he disiiked
me."'

A
—

is followed by the definite article; g' is not..
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Y] 'already ; may, might'*
. C""-‘J' u'“.:‘""“‘ °5 'He has (already) gone to the mosque.'
. c.l,_Jl u’,‘_’:"“”“‘-‘ i 'He may go to the mosque.'

2

EAY

' at all, ever'* #

”" ‘ . 1 3
o 25 usle JI & ?S“ l‘J There was no one at all in the house.'

ey LB CR ST Y
¢ Lice o

I never went to Egypt.'

' Didn't you ever go? '

y’ 'No (negative answer to a question which
is not negated); not'
e o Jb — 'Did you go ?°'
L} L
. y — No.

' I do not know him.'

Y 'but’
U’.")'” tae °U ., ol | L;‘] 'I am a professor, but this is a

L doctor."'
o Sotpar

°

'if (hypothetical)’

. . - o 'If he had asked for my help, .I would
. sl S sl b ) have helped him.'
° 2 'yves (affirmative answer to a question

which is not negated) ;no (negative
answer to a negated question).'

* A means 'already' when followed by a past-tense verb form; it

means 'may, might' when followed by a present-tense verb form.

-
*x b Usually occurs in negative expressions designating past time;

its most common position is the end of the sentence.
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Cewro Jo 'Did you go.?'
o pas — 'Yes (i.e., I did).®
° . €
e Ji 'Didn't you go ?
e -~ ' A
¢ PR — 'No (i.e., I did not).'
@, -
J-» interrogative particle
Ed o -
T w0 Ja 'Do you know him? '
3 'and ; while, as (introducing a
circumstantial clause)'
Sblsle & - ' Moh . i a ) v
o b 9 e Mohammed and Aii are absent.
" 2 4 o
eyl aaol, ooy il ls 'T met him while he was returning

from school.!

Conjunctions are the particles which join clauses (the above list
includes some conjunctions}; they are divided into coordinating conjunctions
(which join two independent clauses), and subordinating conjunciions
(which join a dependent clause to an independent ore).

The following are coordinating conjunceions:
-t
i f : s [
IS or (in questions)

-\

‘or (in sentences other than
questions)'

\p©

&

'but, rather, on the contrary'

fl,
r "then, and then (scquence) '’
3 'so, and so, thus, therefore;

then (sequence)'

€\
N
-~
o
wy Y
o
e
g
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X

o .- -2y
Boylan B pid L gy il Gk
i L

Los

[ -} 2 w s -0
© -
Js

Evpy ¢« IS,
WS putous

'The project was carried out in spite
of the minister's opposition.!

'without' (followed by the genitive):
'He left the camp without permission

from the officer."’

'after (conjunction)’

I will return to Egypt after
graduating from the University.'

'while'

'While I was in the Middle East,

I got acquainted with many Arabs.‘

'‘on condition that !
subjunctive) '

(followed by the

I will attend the meeting provided
that I am allowed to say what
I wish.'
'when'
' When you return , we will discuss
the matter.’
'expressing a request (followed by

the jussive)'!

'Let's go together.'
'also, besides, too,as well'

' I read the first book, and I read
the second one too.'
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Py
LS
i adl s ) tte KE g5
o
CJdwst SL NS S a,
i pdl e L s gl i
v Y Ll a0y LS
3 G
VS ¢ 5yebs aia bt al o)
€ e T oL Y1 5by!
(3
G| . . JeiSS o]

L]
L
*
L]
.
\

\
\
]

©

o~~~ ¢

> > o
.d.l.ag'&.lw :,-D;:J-:

Wi ()

\,,“:)E..z-.’.‘..y! g! CMFJ:‘J'!:,:’;‘ w)Jng

*

*

*
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'whenever, every time that'

'"He visits me whenever he
comes to this city.'

'as, just as; also,in addition'

'I returned as I promised you
to do.'

'Some Arab correspondents
attended the meeting;
in addition, some foreign

correspondents attended it.'

'moreover, besides, also'
(followed by the accusative)

'The political situation is

serious; more over, the
economic situation is bad.'

'not only ... but...also'

'Not only is the Arabic
language beautiful,
but it is also easy.'

' (and) therfore'

'He did not study, and therefore
he did not pass the test.'



IX

-

H
colea ¥ p Lais Y duslen Yy

-—r\
)\
\

RTRNR] S S EIET R I

'had it not been for'
'Had it not been for his help,

we would have failed the test.'
'although, in spite of the fact that'

(followed by the accusative)

' He hates her although she loves him.'

'however, nevertheless'

'He did not study; nevertheless,
he passed the test.'

'even if!

‘I will not attend the meeting even
if I am asked to do so.'
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1. Combine each of the following pairs into one sentence using

-
o & Lt ot ~ o . -

&
ooo"\lq’}l ooo"J—‘.{(ooo-" e o o l:'
() (&

UER O I TS VANVRNTORT I or3 VPR O RS JU TR 1PERVEA )

RV T
(eeedoe. Bl Jma deldlgle . 555 aall sl
o8 LT Juiy gl e+ Liil oo Byl sy )10 oo G
(oees... b . Gl
(eeedoee Bl)  owladeSa sl S0, J;‘slﬁ_‘{.no,@,-"l
(eed e ) Bldadl glas dubs Glas o Braecu ol e o
(evedoee Ul Ll deus L aeaV dyadle B, ghalledl
Lt o Ghadt e b sl Ldsll e Ge byl ) LBl o il
(v0ed oo by
b dear Gelas Y1 0 Lamdl L sl e Gradl olass YT acay
| (...3...I:."‘|) asball

(o0o0) an) -»La;su,,..-l RIS | P TORN | PCUNTESN | )

(ooee ol dns)onsi Slgsine - alll Pl Jay

IX

: JL

-»

(o0 oV day ) omslaslon Gle,lb o usylasthile 05 — ).

dusidl e L¥ydl e eohaul Jlafhol o by, 9 paidl zl] anscl —

(..-.cf' S )
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IX

(voee o aa) Jladl ppliflels |, it
(voe 1B ) i alyoceslS s el gl s, gy
(v0n OV i) odl e Jid B olsed e p b — g
O et ) Lz .&S'-ff‘yr"’;-"?"J""*U)ﬂ)J)’-";"“-'-‘S T+ — Vo

) (cov Oldb ) gl oY1 sl
(ere oVds) spies . LY e YB) adlGpms — 1y
(+on 0lds) o ade ppidloaldi s ST L0 Lt gyl — 4y
(env OVdS) Lyl . L:"'afﬁ'osb.tfuﬂsz — VA
(evr olds ) e S ~M'Q}$J'ﬂ-'—- K

(oo o Jsd) P BN R T R TH O | I PR

z

2. Replace ‘l by L in each of the following sentences:

&
e b ol da Jes Wil SN o g
cgwille, ok o ae, el licba Y
e S (VIR IRV, S (A DA
ny il s g uadt 51 BT T day edl o
La:-)U"")i LTI LS VAT I TR IR FY N P
g oadlaaSadl et e 1 Gladl 30 Lan Y1 Sl Yl e ez
coba ¥l G gl e ) el g wdlycas
ol Y s S okl

L4 ‘ .
- “4.;',;&;&'.& o' J.‘_!"’J%LJ' QJU..a)
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SRPNI NS RIS URR TIPS DU A RPORE W]
o Llswj.é‘& J..i.._';&'Qi ..L.n..u,[:,..“ aelas

e tusladd b Bl psany 1w padt SLLI

3. Rewrite the following sentences reversing the meaning of the
underlined expressions. An example follows:

vaslil) ol pala bl e Al calutll

o (5 Loy ‘_’.S)S C‘Y QL»J.Y‘ u’u".».b..-.v...

c el GV IS aadlce,s
]

e by basd!l STCal pas

o agsadl Ll Gis,

e L ey Gl LRI G,

. 3;«',,.....“ JSLa :Lp. &J’ o Js l“c.ﬂ.‘,).l"d._s..

csmlSle Jloslal cdo,

4, From the list which introduces this exercise, select the most
appropriate particle for the blank in each of the following sentences:

P < <
-0 L - ot

‘ &-’)ml;c)-lc ch-:a,'c ‘J;c JL; :).Jga;

N
-\

‘¢S

b4 -
-~

;...Lﬁ‘.ks

cotVlc Gl Jlewe ks o
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5 w ‘?'J---
aa ’ > L:.AJ' . L,g)&kalu‘ 5 aad
.ld;?l_;,d|d.a.ulu).&q_____ g

calgb3ylal e Jdand o

Gl Lt o
Lt L, '&.I.?..____ZJ._.).?. sl
SN clleda Son tlyul sl
o om . w . 'J’!\H:)'C:'M
. . v e

by 31 p800 Jlan 51

<Oy a0 i Us |.J..>.|d)s|

. C——-—h.:_J JQ)JJJ———

Ry o] N1 I DR P dlb e Cs,0
e , - '
. L:%él‘-d-‘:-JWJSJ
X T I ST Jo 5

Sle & L o — o
¢ Ole Ve gmpedl o

Jo ce it ¢ Mg US o Lows

bl g el il ¥

.."
BN fm i) e gyt et i1y

"Jpr..n..'n. UJ'u.mJ‘l LN
. w P

- w8

e W YU 1 AN B
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'(J"J)M‘C' L(f.gJ:".g q’LJ'L'.‘—l:.»L,.J' u.(,.:u.: OJL JLN' )
I VPO P P | BV T3 S0 T | it 1N 9] -

vimaladl 3l pay Glecdies ja S

e Sla) e dgmy 31 S e Y el
el G G e

o allowe W okl go

5. Vocalize the words of the following sentences:

v i 3t LT S WY U ORI ey o 5,
bl $ Weﬂjc.,yjhl\)a&w)*rj
TR ORGH ) SRS TR 0 RO
v Cus bl Jleaba! WK SY B Jle

RS A IR TORI P N NPV THRTET RN Ve

S VO P PO ISR UIPISUIPE S JO8. £ WOY TN | RO T SYENON
vipaaladl el o oo baay e 03 JL ogmne
B s, L e i et B G
- S I

o ol dl B pais day, 00, S

o ol e Al Gl tlisulaSedl ol O g

e obodlanlbcall oL &1 el Jb
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o deadl B B SL Y e e WS

(I
L.J»

[
c SpdleS 15
6. Paraphrase each of the following sentences:

1S Gl VL g ] oeploa ¥l o SV an
s roe 535St G (S ol el N1 5 eV Gl paia |

» oSl WVl ins e poy  Jy ol pbia Sl o
LR WAL I 1P I

¢ poibn Jlatly, ORI 2y Jo

- Fradl ool g5 L a0

o Llanl s gy ,adt Polse o

o Lib ady e o i) o izt g s

o ol 3 B Ay 0 gy b iy o B a1 30 ad 1 B
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The following are subordinating conjunctions:

<
)

|.)‘|

W

'since (cause), because'

'if (conditional)

'to (nominalizer)'

'if (conditional)'’

'If he goes, I will go with him.'’

'that (nominalizer)'

'until; in order to °
'in order to!
'in order to'
'in order to!

'while, as (introducing a
cercumstantial clause)'

The following are some common compound particles (those
identified by an asterisk are governing; the rest are non-governing):

151 31
B3] ﬁtl.;,_.yn,.”_l.bq
$ J(."’;‘
;... C“
ot Bl BV e 5,65, w !
. .d.;..& U)J

‘unless'

'I will not attend the meeting
unless I am asked to do so.'

‘as for, but'

'India is a poor country, but

America is a rich one.'

'in spite of (followed by the
genitive)'



IX

fewno Jo 'Did you go.?'
PP — 'Yes (i.e., I did).'
§ L.m..x:‘.fi - 'Didn't you go ?
. F;S —_— | 'No (i.e., I did not).'
:L; interrogative particle
T ‘;rns :L; 'Do you know him? '
3 'and ; while, as (introducing a
circumstantial clause)’
ol :,J&, W 'Mohammed and Aii are absent.'
o by addl U"E‘" 1, 52y ol 'T met him while he was returning

from school.’

Conjunctions are the particles which join clauses (the above list
includes some conjunctions); they are divided into coordinating conjunctions
(which join two independent clauses), and subordinating coujunciions
(which join a dependent clause to an independent one).

The following are coordinating conjunctions:
Oi N
f' *or (in questions)'

—r\

'‘or (in sentences other than
questions)'

\p©

¢
LAY

'but, rather, on the contrary'

€\
'™

'then, and then (scquence)*’

1

'so, and so, thus, therefore;
then (sequence)'’

K\
2

e 'but '

o\
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Y] 'already ; may, might'*
. C:.L?,JI UJL;;Q.J %5 'He has (already) gone to the mosque.'
. Cf'?Jl gﬂ!}f'“;H :6 'He may go to the mosque.'
L
- 'at all, ever'**
. .u>1 = J! ) °< fJ ' There was no one at all in the house.'
{Z o -5 ' I never went to Egypt.'
o yae JLE5 G 5T
e Lo “‘:rﬁ ' Didn't you ever go? '
g 'No (negative answer to a question which
is not negated); not'
? - 9 e — 'Did you go ?°'
y ' No.'
. ‘ifj y ' I do not know him.'
E;U 'but'
:’J_,?.)J| IRTY :,SJ ¢ ol 9 |_;¢| 'I am a professor, but this is a
- [ doctor."
e
J 'if (hypothetical)'
. . - P 'If he had asked for my help, .I would
ccusld (gasle. Cdb o) have helped him.'
° 5 'ves (affirmative answer to a question

which is not negated) ;no (negative
answer to a negated question).'

* A5 means 'already' when followed by a past-tense verb form; it
means 'may, might' when followed by a present-tense verb form.

-
** b Usually occurs in negative expressions designating past time;

its most common position is the end of the sentence.
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2
Gt
‘l’J.oH' L;.f‘

h
°7) 52 Lo
- 2 - |’,’. w "GL..
sl epmg T el aes
2 .8
el oSl
Syl
2 & ~ 0.
o gl Jlom Sl gl
-

. u,.z)S.of;..,ls

vocative *

'"Friends !’

'but, rather, on the contrary'

'He is not an enemy but a friend.'

'Yes (in answer to a negative question)'

'Did you not go ?°

'Yes (i.e., I did).'

‘then (sequence) '

' I spoke to him, then to her.'

'when'

'T will talk to him when he returns
from his trip.'

(prefix) future particle

' I will go to the mosque.'

future particle

'I will go to the mosque.'’

(prefix) 'so, and so, thus,therefore;

then (sequence)'’

'T punished him, and so he disiiked
me.'

e

* L;:ﬁ is followed by the definite article; LU is not..
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ITI. Non-governing Particles

The most common non-governing particles are listed below.

—t\

151

£

TN I N M P ICPQY] e S ol

(prefix) interrogative particle

'Do you know his father?'

'Since (cause), because'

"I will not go on with my studies
because I do not have enough
money. '

'if (conditional)'

' The meeting will not be held if
the director is absent.'

'therefore, in that case'

'You say that you are from c airo;
then you are an Egyptian! '

‘or (in questions)'

'Are you a student or a teacher? '

'or (in sentences other than questions) '

'Eat an apple or an orange. '

'that is, i.e.!

IX

'TI receive a letter every week, i.e.,

four letters a month.'
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el daad p ol p Lo Y1 4’)-34:;’.-““')5'3
v oy aiaby ) e Sl i Gy
caSJl JIo Y oloy e ol

o gl ldl g Latl o pladl Fis Jopdl pecegl! Z1 Y
caslle st gl &) el JB

bbb dploa ¥l Gan

Al Y e e SLauY Gl

cpyee Y1 100 8y i)y i | iy G

55 o ar Y i) o

e gty rimall sl ) ke Sy

o o3 B3l psay

8. To each of the following particles, add as many members of its
family as you can. The teacher will ask you to use one member
of each family in a complete sentence:

)

w w g e
Sl gm e Yo Ot
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6. If necessary, correct the forms which are enclosed in parentheses,

then vocalize all the words:

(et L sy gty b

(ool il s e lacaledbzat ) 3oty ledB
e amly o 1 BTy LY G,

v Lo il eds S s Last (2 JLTedt
Naan beegail (el]) coan

o (g VG s ) o e

(Bhldl § Sl puS) BgSadle s

digin o e Syl con il ((El) s 1 B
c ol Y 5 lsas b bl s (5]) ek

. Uy nn el l.};m (3h

c( e 5P R) gt (]

7. Negate the following sentences:

¢ Ul Sl diey
o il Il Jinn, O 5.
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X
- .. . &
fleae,ud! Jleoex JI
§ 3y vadl el ; Vsl G,z Y1
by oadlecn,a g luslo,as

4. Use each of the following particles in a complete sentence:

-
- €

;]c Yc:lc E_,j‘ :;SJ[‘ °./c u—c»a&'o

31

P LY

(V&

5. Paraphrase each of the following sentences in as many ways as
you can:

AR DU ENVPCOE IR (RS LI PR | & v LRSIV [TV BET)
RIS L UM BT W1 I IORL) et

‘-3;1-"3%'->~" O Jopdl (o oe g ) e Y

Sl P b e o 1 Ly ae e JLT b

. u.bL..“rLaJl & e Ju.k_ij.JloJ,L.a,ng

S YEN S L DU PR W PO

N PP VR | SO IV SWEN T VI
&—L\.«AJ'MU’)& ‘T_,;,L.JI_L,;,._,Y

s e B e ey i i L i

calldl g Y tali d adt Wl pasbiall e os Y

co Sl ia e ol Ll i) e DI ]S,
UL YO R P WO ¢ RS [T NG PN O

0 4 btV gyt G o 1yl | b S
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coI G el St e
bWl aldl S ook e Jlon

P o Iloosall e Kl sl b

Vool L MBI gy s e all S

i Ll sl Js aliad) oo i e B ao) ey e i)

R T b - U | R RTICURN

P IN PO [ ) PUCT —

o p o1t s d g stV ai byl JL Lo Jisty

e W e e e B e

g - - € .
.0Y| U:"' L.-),|L'). U’,_ad.o N )

3. Answer the following questions, using complete sentences:

T ol el paaaladlells ganl, a5 Jo
£ gér.eL..uM_:Jl'Se,sQL;,J Slesle 15w

T ploa ¥l S, J 1oL

P assad! oo L3 VT SV el Cub 15

? Al ene s U laicdb Jo

To o ¥l tp Gpns § SVl i U
Pabicun s oL adtcsl b Sl

¢ abisd! JI et asl e i J 1L

T aenly GEsl 35,
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1. Vocalize the words of the following sentences:
cp ol anall U o5l L oo it 55
c el Gl b G 8 s e Dl Gl
coddbanle S (U L] J] loy e o
CEel . Jlealye il
CaeledlalSi ) Jo oty aligm 00X &) Luind) UG
crBlelds jhey o Sl l L) U des JlGEdl b
YL ON) Rt} | DAPURRPA) I ECTS R APE 1
e P PN JEYVORNC | JUT | POV 10
o agisl b ugsall @psthay byt J) LRI 5L
comillia e G o pladt Tie Jged!t e o) zl) 31 agSadl il
| oon | I VST | D3] ;,b.a_ng;_,rJ
coudnm s U1 usgal G piedl Jolic o e Y
e il 0 s ks
et el (SRS JlEna
cipoleadl Lt U5 Sadt 1S s Y

2. From the list which introduces this exercise, select the most appro-
priate particle for the blank in each of the following sentences:

PR PR EPE AOP)

i itV sl | U peSe pibaadV e s
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The following are the most common jussive particles: *

J expressing a request or a command
- O .
. l..\s:.'.m.a,J 'Let him go tomorrow.'
Y expressing the negative imperative
e i Y 'Do not go twmorrow.'
;j 'did not'
°
‘gfér*frJ 'He did not recognize me.'

* The list includes only the jussive particles which were taught
for production in this book.
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II. Particles Governing Verbs

Present~tense forms are in the subjunctive mood after certain
particles, and in the jussive mood after other particles.

The following are the most common subjunctive particles:

[

€
O = |
o

J

~—

@

.).‘Ylé.o.,,; :;c.;.»..w

-

M
.)ogylh:a.a.,.i :;.!t..:.m
&

-

AR I

Ce

The nominalizer
in the following respects:

-

'‘not to'

'He

'to

'He

asked me not to go today.'

(nominalizer)'

asked me to go today.'

'until; in order to!

'I will stay until the work is finished.'

‘We

that, in order to '

will meet in order to discuss the
matter.'

that, in order to!

will meet in order to discuss the
matter.'

'will not!

i

-— . o
(1) ¢ o) (or o
while &1 is followed by a verb.
(2) The contexts where 81

a wish, a desire, or an obligation.

243

(or
a fact or a declaration, while those where

will not meet him.'

-
[]

) differs from :)

-y

v
o

) is followed by a noun (or a noun substitute),

Ce ot

occurs usually express

} occurs usually express



CUS ol yuadl(5)) ol e ]

o g D pol Jymd1 (3]) ! G

o Gplaylam Gle 2T Wt (5)) QARG a, ¢
R O e O R N G L L S LIV LT
GBI 5 Sa Y ST sl () ey

e lpin e Ledo oSo dyllatia (31) cop do

T At aadl el V1 ot iz opmd ! (51) YN J B Jo
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T oyadl Jy i e giies Y LN o‘!uf)..:. J»
t ol G Lz g 1 U6 U

Pl gl b Guladlpold! 51 woas Ja

4. From the list which introduces this exercise, choose the item
whose meaning resembles that of the underlined particle?

P P ) JP R Sle dslo e 50 el ¢ s ¢ me s
oldy ¢ Ja
. aipd Sall el
o« ol psy (ladled

o Jopdl e LS L bewy, s

crompe Ol sl Gy laz

WY DY TR SRS I Y RN DAFII SOV | PO DRIRT POSET Y
cuyl S aidle LIYE wdle

e (g Ll < usy

cgposdl 1im (05,8 LS oSl ual

3 W dyoy S ana el

o Sl L Jlokdlbces s

5. Correct the forms enclosed in parentheses if necessary:

i ad 1Bl as Y agSadt (G1)3 !t ekl

C s Gob oo Lay e gyl LI DY)
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3. Answer the following questions, using complete sentences:
T Sois &S (e pe
¢ s 5
P s bygascon Jo
P Ehadl ais o)
Pl elzjla) e et s
feloa Yl fun, u:"""
T adl Jdoal $ Gradl Guad) rac o
Y 'é.’.J.‘..‘YLL»‘IJ,,:l,“!qu J»
R AT YN [ ) AR T JOW PSP 3 I
P ol Sz el e (S e
el Al e CLUB oo
$ s W dad Lad el s o Y1 aud el o) (aliss Joa
T Ljpidd Sy &Y L BT U
¢ beall asldl S
BT LIS PURNEICHE ST U D7) I
{SUN LR UNpoL. sk PR INI P WINTRCH )
I N IR I P ) PR SO0 PN | N PR N
P ola, gpsall pnedaddt e 55 Ja
Chm bedl g adl e Lojd jeaS o jiine jnae osSe Jo

¢ I e a5 L shan UanZ]
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X
roasUl om 1 5Ll G il Ll o
o predl Sl eIl

& a2 vgad 1ol a VESLd) 5 s ally oy
e Bl Pl poy i Wlisiul S

. Frb g

. JJ):'-‘Jl)‘!:‘“; ¥ LS bl r“-):d

o etz 3B Jad oy W £ p0 Sk

JECTRE YN JOW

s sl Bladt o L Ot e

o Al al e plin L) 65 L) S

o Gdobun Joo, L 32‘5@

. 'S-:rg'a ':)J" q'?-"-z JapadV S0 o" “3)“'

o peaded | lizel rﬂ“"oﬂ:m

o B asdl ALY plaszl Gl oy, 06 o STe it et

el gl JHRas 0T ws Y LY ledlicbe Lidluis, e !

. r—(,:u g,:...ls ‘“,.'..5.:' .
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2.

Vocalize the words of the following sentences:

R s e Rt DT LBV Y SR SN RO RTY
bl e pgadl $ Al T

casli Y e e ST e il s o o]
-@*—J'U—U'Q‘)ﬁ-a-)i»%)"

Lt Jls G allosadl bl

8, 3,100 Y el 08 G Jlal 5

o el A et DY e LS e sl

v adl e gelsthleada

« o Qe Bl e ddtggin,

o aslpl e e o lias) P e delal

SRV L PO I O NN T BPSv o

SR LI-C BLTEY) RS T W RNSRE VO | Ee
e oy Wl e el lica

LI R I¥] PUVRIS T SO
SUITGE) as! Gas Lledaeddl WYlas )i
e boed pa el Lo sl e b uaddl e LYyl ed; s
c ol fpe 61 s ! Yl S Lo
S 1PN LR 7 RO PN PO I A e

RS LS L TR DR T T e, (T N

o bed s a0l Y1 psyd | Gides,,
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U N L INVINER] RS W] o 0

e oLl et it Jodl ogmy el megSadle S

c ot sl L. Clhadta s ... .. &5k
.).a......C,li..Jl.....r.».:)...:.L,rJLnJl.....u..”.J
edopdtell S Loy L

S FEUUW | R g;_,l....«:...,..b.i

€
oo'}w'o'ooo J.g-)-hJ'o.an*u‘

-
sooe 2

.&:‘&ng:”q:sln.....w
S - SRR W 4 PNl | R TS Pt | |
o&g)-d‘clijloooooa-hl““)&w“

oLﬁjld,“Joocoo Eg)."noooo Jg-&.«v’—b
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1. From the list which introduces this exercise, select the most
approprite particle for the blank in each of the following sentences:

(@ L ,_,ls-c:c u‘i:-a,.».-'t:lu il ‘.,ch Ot OF e U’

u.ach

- P Y RIS | U] PN ] 5

. g:.iJ‘ﬂ......J-)la.Jl vas uly

e by SSlae Lo Ll 0

e Gdo e ST o wa,

O U 751 1 1 | I g~ Al

TR R DI S IR A

S PR | YOVt PO | RPN S TT IS 7S I e

. J,.UIL;,.B,;‘l:.hL......“. 0 O § S T Lo
chaSadl oL Ldlicl Y L L sulammd el s ]
. a..,l,..:..... J,...L:Jl.ri'i:.

ow”-l.-”aoooc zd;:.J‘QQY’J|O. L) 0‘3.‘...]' JJ‘&J_,,!

TP DN | DN N U1 =, ST P POy |
o Al e o okl b,
caaSadlanbn v ot i nt Ugbae *lll s,
o | O N I R

. QEB}_{-’JM' .ooo.\:‘-ﬁ-’
asldlasldl oLl s loa it U3
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-0

Cond 'would that, I wish that'
L‘:)’ s CoedlEl] 'I wish the war would end soon.'
. . % 5"| . .
As nominalizers, Us and O!' precede sentences which consist

of a subject and a predicate; the choice between the two is determined
by the environment: Q; occurs in certain contexts (in the most

common of those contexts, Q's follows a form whose root is J 23) ;
9] occurs elsewhere:
5w . . . .
e e Ja 5 B 'He said that your brother is sick.'

\

-—?

' I know that the problem is a serous

one.'

- €
- | FS w :

In certain contexts, the noun which follows the particle L s

in the accusative case; in the most common of those contexts, the noun
is in construct with a following form:

L',N..__.:)JI'a,_vlg_,.., L 'Mr. President! !
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Prepositions may be followed by pronominal suffixes

A L= 'He has a book.'
~o . [
o L asbu e oal 'I took the watch from her.'
O le 35 'He spoke to us.'

ot—l'ooooo'o

The following are the most common accusative particles; they introduce
nominal clauses and govern the subject.

f)L 'that (when used as a nominalizer);
certainly (when not used as a
nominalizer ) '
i oS J9frs poied | f,l JB 'He said that the minister will return
tomorrow. '
€
C)' 'that (nominalizer)'
.ol WU :;JI, Z‘I df-‘ 'T know that your father has returned .'
&%
) ' as if!
Z" 3:.;_,.” :JL;YI .)Sg 'He hates government work as if other
) " P "YI JL&Y' types of work are better.'
. d-&’ )—5 .
g‘y’ 'because'
e o ;)‘];_, gad! f.‘)‘y".’. IrSom | ' I resignd because the director forced
i b Y me to do so.'
U.;J 'perhaps, may be; hopefully'
. y E_,,_” G‘, :‘l 'Hopefully the situation will improve.'
3,5;’ '‘but’
co,a Y JLT I, e u[&)ﬁ 'I know the director, but your brother

does not."'
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&

- w -

caslo ;l.:“
¢
vz

- - w - - €
r.0)
L

22 .

C e e as el

‘/ -

Except for g= , S , and

-
3 WE »

o Le ey 2l Jlewn S

e b8 o3, UL E S
% -
(€

cheolladla Lo 25 QUL

-

ok
RETEW 15 TR S U = 4]

ol B 5 plle e
Ls

- OLLS SN e
233

'with'

'Mohammed has a watch.'

'from ; of!

'T am from Saudi Arabia.'

'‘since, as of (time)’

'I have known him for two years.'

'to; till, until!

'T went to school late.'

(prefix) 'by means of; at, on
(time and place)'

'I went by car to California.'

'till, as far as'

'He was a student until the end
of last year.'

'on, on top of'

'The book is on the teacher's table.'

'concerning , about'

'The minister talked about the
fuel problem.'

'with; at, near, by'

'The teacher has two books.'



IX

CHAPTER IX

Particles *

Particles may be divided into two groups : (1) governing particles,
and (2) non-governing particles. The first group consists of (a) particles
which govern nouns, and (b) particles which govern verbs.

I. Particles Governing Nouns

Nouns are in the genitive case after certain particles, and in the
accusative case after other particles. The genitive particles are mostly
prepositions. Listed below are some of the most common prepositions.

Qi, 'in {(time and place); within,

inside'
. . ‘
. }-z'ﬁo T 4 RI-O § 'The professor is in his office.’
S (prefix) 'like, similar to'
[ El
RETIOY P ] O 'Your teacher is like your father.'
4 (prefix) 'for;to; due to;for
the purpose of'.
. ,‘E-z-ey L S s | 'He bought a book for his daughter.'
S 'with (possession); at, by (place
and time)'
. . . - -
calSadl oF Joar B.F L ).-:j)—“ < -JJJ-gJ - "The minister does not have a

detailed report about the problem.'

* The purpose of this lesson is to list , rather than to discuss,
the most common particles of Modern Standard Arabic. Most of the
particles listed here were discussed in earlier lessons.

For a given particle, only the most common meanings are listed,
and (in the majority of cases) only one example is given.
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A R NN § SN | R
.'&S).n..JJd..a"&,Jl:.le_,j_aJlug

4. Change the underlined word from the sinqular to the plural, and

make the necessary changes in the sentence.
o prbe s Wl 5 oS
o esb ol LB g WY Y Jt

. .

. BNSe hull 5 GB,. L
o gl el b S Lymn Jb

. A . L
o WUpses (P piy Jgwl Gy oo o

[ 3 [ ] 2 .’G
SN ATTS TR WA TR A

e ot Glaluloia gedl, Blisdl il Llc ..
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C (o) ppa S Ll iyl (s
AN NN

il S (G b) S WIs eesyas

s DA S () e L] agSadl e 5
(doany S L LT s

« Byl Jlaza, O (G ) LI U]
D) oo i LY,

edoadloe oylasil (prin) liet pped |yl | Jiize!
eoriadl Gsdylay (S tlsy B G L

ot @b (5eh) 3L Sey sl

3. Change the underlined word from the singular to the dual, and
make any other necessary changes in the sentence:

s Al s ual g Lise el B
Ve Jbe O Eppandly Lo 5

o LB LSS, zal

B CYN ] PR [ B

s Srldl ool oLl Hie
. FY AU s
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cpsdle il g GVl g 1oas K0 L, e,
REPUSEEREENYCY) Do JRpeS) T3 JEVIG | I YN Y P02

°u-"u:-’—— P O —C L] JERPY P

o hls gt ophe SV Lyl b 8

wloled Glo lamy o Ul 3 dpaad! o S ) v
o bdl ol
Y Y IO LI L

N DEI P R

N U - PO, WO

LI SN [T SURTS T8 N P XTI

ol G Jardl b, 0 Lt

2. Correct the forms in parentheses, then vocalize them:

(1) Ol psed! (gferl ) st S
c(gEnl) orepla oIl Jize!
(S il ) (pem ) veadl Ji
c kel (59) W e oliol; Hecl
o oS Gl pi (93) *Bawl o

c(gum) SLhdl el gaglhile b

) el Gl Jiadd 5P i yas
(AN ol ((Bles) WY L e oy Wlcasl

R e S I
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1. Fill in the blanks with an appropriate adjective, then vocalize the

whole sentence:
S NP [P IV A TR FerOX
I e o A I e R
e Gl s e le
e gl oAl galoy
i & el 2 i

il o proma Wl g0 IS Jom

¢ — g e WUl

NN V1] S U-JU-C RN

| o Ay Jpadly ) Lot asl pal)
cBhudlede g JLdie, il

o 2N Syt 5N

S-S PRTTL UM ~ WA F LD

byl pay s
SN ST U1 1] PO

v adt G el S Y ita)

o Cstyen JUI 350 Sy Js pad! Lin
o pedatl ol i 5l

it e B ol BLAI S, o

- —————CJL‘IS: Q‘B)—’-J' C)S-ﬁg
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As modifiers, adjectives agree with the modified noun in definiteness,

number, gender, and case:

e oS 1oe

cady LT e uy uad 1 S

« Gradl il Fas
e olradl LI pas
c otralt AL o

VIIT

'This is a new book.'

'The

"The

"The

"The

new book is on the table.'

Egyptian student passed.'
two Egyptian students passed.'

Egyptian students passed.'

.&)¢hJ|%~HLd| o= 'The Egyptian student (M) passed.'
.25 ||a*“id|‘u ~ 'The Egyptian student (F) passed.'

'An Egyptian professor visited us

(- »” 3
e yesterday."

'I met an Egyptian professor yesterday.'

'I was introduced to an Egyptian
professor yesterday.'

E. Comparison

There are two contrasts within this category: the positive and

the comparative (see Lesson 140).
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Class Nominative Genitive Accusative
(i) “esi1  'the big' pesl - SJ
t
)54 'big’ )2‘5 ')-'S
2 . .
(ii) 9o 'endowed with'* < 2 o
3 Lo~ -
(iii) *hesdl . tthe rea (¢)° 1,esdl JS]
*les  'red (F)° "|)..> 7|)._,.
2\
(iv) & sl tthe beautiful S PN ] 9 WP
(F.P1.)"
23
9 WS "beautiful (F.Pl.)' :,)L_..,. :'L-’-
w0 la’ Oi . -G © “ o/‘ - ©° o< 0%
(v) j-.m:v»-’ Szl 'American (M.Pl.)' dmwisdl AP VORI RAPPY
P oi -t . '- - - ’i - W oi
952 o] 'American (M.P1.) AT FEAURY
Zat 5,20 3 nlad) 25, 21 a8t 28, 5
(vi) [YOREN e 'American (M.D.)' - .:-J e f,.‘:.a:llg&).l
€ K IR 1
O I:S,,.’! 'American (M.D.)' °f<_).| AR
- -~ - -
(vii) ¢ olad!l  rthe hostile’ & 2laddl ¢ 2l
g X 'hostile’ L 1P l; < 4
- - AP} & -
(viii) w—~J! 'the (one) named’ et | ‘_,-.«:J[
% s ' %-s g -
o~ ' (someone)named' - -
-0 5 N o,
(ix) W=l tthe highest! WESY L
-4 9 9
LE  ‘'highest' s s
*

person does not always succeed') or as an adjective (e.g., dbLwlamlll 95 Jo J}

,J may be used as a noun (e.qg..

'the bearded man is a professor').
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VIII

B. Number
Adjectives are inflected for three number contrasts: the singular,
the dual, and the plural. The dual is marked by -aa (in the nominative)

or -—ay (in the other two cases). For the plural forms of adjectives,

see Lesson 144.

C. Gender
An adjective is either masculine or feminine. That an adjective is
of the feminine gender can, in the majority of cases, be ascertained

from its form. In most cases, a feminine singular adjective consists of

the masculine singular form and the suffix -a(t):

Masculine Feminine
f. - ¥ 1 -
rg” great daw D5
s 21 'bad’ sl
iyl 'clean' aa, b

Some feminine singular adjectives end in -aa (e.gq., Sr : ;|| 'the

2
youngest', LjJUl 'the highest', d;;ﬁﬂl 'the other'), and others
end in -aa' (e.q., ‘IQ;L;; 'black' , ‘I;;_j; 'barren, desolate’',

*Las 'p1ind’).

D. Case

Adjectives are inflected for three case contrasts: the nominative, the
genitive, and the accusative. 1In regard to case inflection, adjectives

fall into the classes which were defined for nouns in section I E.
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II. The Grammatical Categories

of Adjectives

Adjectives are inflected for definiteness, number, gender, case, and

comparison.

A. Definiteness

An adjective is definite if it has the definite article, and indefinite
if it does not. Examples of definite adjectives are o L aJ! 'the great',
tsod! ' the pag', ihJl 'the clean'; the corresponding

indefinite forms are pe ke A ' TS O

In regard to nunation , adjectives are identical to nouns:

Nominative Genitive Accusative
.z ° ] : ] © : -3
Sy Egyptian (M.S.) i {3!4: L o
¢ lz;ﬂ: (M.D.) © ‘f_.:‘,’, — 2.
< o - w 3
Oz e (M.P1.) : T ]
A
- e : ' w o o e
L.5’)4:” 'the Egyptian (M.S.) _ gé’)—"':-“ S, a’ll

oG5t D) LA
- & (M.Pl.) - w o
Ogepan | O ] |

alcodl & ,q "Egyptian (M.S.) . E YOS | B N L TG | B g
axwcad! Bpan (M.D.) Al wsad! (it
aEsadl . (MPLL) el U’:;__,,..
UL 'great (M.P1l.)' Il I ¥
Se ;_L:-fl 'greater than' :,__/. r’__._';fl
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W, * .
R o I e )

b ' ’/'A— . o "‘
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s J. — 5
o e Sl s o e S Ja

o TS G P S S

¥ ¢ sl paddlcuys Ja

o § e pan (P ikl G Jo

¥ ¢ Bhidleis p it wled! poe Jo

rSSTRE SV, A [0 SRUP D Sy | G P

Y ¢ K, R TP PPICI SIS V-V | PTCU Y
slog € JLT J1.0 oty Jlalodled,) s

el § i) ey e

ol § ol pleo Vsl rleo s, 0k o

s Jb. — 1

€
1

rladlendl g oSul c Jew oS

Ed

')*Sg:*'_u’us-“"

colde ey o gt ‘,,..’.
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OB ia Ll S il e Gl 2]

col g JU !

Vocalize the underlined words:

RO NESHU VARIPON | BN | I 01 T A P
R PCTY | RIPA T RN
el g ad | el il

adle ol 3,0 WJ1 o J»

RPTTICI USRS IC ) RO V0N ) IR PP | PO |
T asldl el Ly gl ol L
. CELA‘&J);"Y é:ib ‘é)JLJaJ|gj)s|

c bl by, st LN s

Vol Slew sunl 5 56 G Wl

caSaddl 4o b Gyl
Ll alSod! Lol S

e
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: Jb. v

—————

. dp ool ap . lobuiosl

JULT i b Gpblu b ol
doo Laolol) Slesres
Lilaad! . GSeis

e N TN
s . ot L
YO | PRS- | POV | PUCIY

CRUEN LT P

Congr ohiill e bl e vasalisadl B o
a;.,,ul‘u.m ce oL YIELE

olsls . pladl pare);

* €
SO | o ladl sy cadel
3. Negate the following sentences using u"éJ

.9’95 ‘;;g\)-\ﬂ
S PRVIRE o0 PPITI IR ]
U Vi e iz LT
Fpele G e L Sl
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VIII
1. Correct the forms in parentheses if necessary , then vocalize

themn:
29

co il . a5 as kﬂ,ical)l;.«ﬂ ( el cae

L e oo (OLES) <

v ol o (oWIb) el b

e Bypoe (day ) Ton

coagoadl (adadly sl

(ol ot ) L doas

o A A8 ,00) (28, () “"‘")3
vpeS dolyegsliale 5 (SVhI) vus ol
P eall 1an 320V (yadl) pan
G113l S O6Ee i ao ()
o (ol el Sy WL BT

e S Jb (59) Ja, Seciias

LR e (o=

e N R I

cpsdl zlo woaJl (ojj_g,.Jl) U] Iy 9

b pgepeddl (2 l) e v Gpnall G 6
LS e aa b e Gleca | (e B bgd 1) wd s

v oYl B peas 5 (e W) Sleuk
sl (ool a) i adl sis e

o Jladl gn e vas Olla (g lan) (g Jass
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a noun . In the last example, the underlined noun is non-governed:

54002 W . C
. u')"! o o bos e S ‘I married a girl from Iran.'
[ [ A P ] :on s - PR
. (Y T s Lz I was introduced to the professor
ot s =, yesterday.'
. S Jt“‘yl.". =- 'The professor's office is large.'
sl adl 'The director is absent.'

Nouns fa.ll outside the governed/non-gyoverned dichotomy if they fill
adverbial or adjectival slots: those which fill adverbial slots are
in the accusative case, and those which fiil adjectival slots agree in
case with the words they modify:

N FLINTS LJ%N;;_; F,..,Jl L LI 'I am here today as a result of
—_— what happened yesterday.'

. ‘ - - ‘ [}
SEC] K-SR | FUSC S A desl 6 'Your brother Mohammed was in
T e— the professor's office.!

. I::,,,_ ‘_¢J|,-,‘| u):j I know your brother Mohammed.'

L] - 1 . L D .~ e 1.
o el alean alal  Jecsvas 'I was 1n._r?duced to your brother
- 7 Mohammed yesterday.!'
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Given this classification, we have:

Case
Nominative Genitive Accusative

Class

(1) -u/-un* -i/-i; -a/-an

(ii) -uu ~ii -aa

(iii) -u -a

(iv) -u/-un -i/-in

(v)  -uu/-uuna -ii/-iina

(vi) -aa/~aani -ay/-ayni

(vii) -Ryii/-Rpin** -Rpiya/~R,iyan

(viii) -aa/-an

(ix) -aa

In Lesson 146 , it was stated that a verb may be either governed
or non-governed; similarly, a noun (in the majority o< contexts) may be
either governed or non-éoverned. Non~governed nouns are in the nominative;
governed ones may (depending on the governiné element) be in the accusative
or tne genitive,

.

A noun may be governed by (a) a verb, (b) a particle (such as a

preposition, or one of its sisters, etc.) , or (¢) another noun.

w
ol
In the first example below, the underlined noun is governed by a verb;

in the second example, by a preposition; and in the third example, by

* The slanting line separates the nunated and the un-nunated forms.

** Ry stands for the second radical.
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